

Kansas Register .

The Kansas Register is an official publication of the state of Kansas,

published by authority of K.S.A. 75-430. The Kansas Register is published weekly and a cumulative index is published annually by the

© Kansas Secretary of State 2022. Reproduction of the publication in its entirety or for commercial purposes is prohibited without prior permission. Official enactments of the Kansas Legislature and proposed and adopted administrative regulations of state agencies may be reproduced in any form without

Current and back issues of the Kansas Register (HTML and PDF Format) can be found at https://www.sos. ks.gov/publications/kansas-register.

Register Office: 1st Floor, Memorial Hall 785-368-8095 kansasregister@ks.gov

> **Published by** Scott Schwab

Secretary of State 1st Floor, Memorial Hall

120 SW 10th Ave.

Topeka, KS 66612-1594 785-296-4564 https://www.sos.ks.gov

Kansas Secretary of State.

permission.

html.

In this issue ...

Page

Notices Kansas Department of Administration - Office of Accounts and Reports Notice of Petroleum Storage Tank Release Trust Fund Unobligated Balances	Rates Pooled Money Investment Board Notice of Investment Rates	
Kansas Department of Administration – Office of Accounts and Reports	Notices	
Kansas Department of Administration – Office of Facilities and Property Management Notices of Requested Architectural Services		
Kansas Department of Administration – Office of Procurement and Contracts Notice to Bidders for State Purchase 888 Kansas State Board of Regents Universities Notice to Bidders. 889 Wichita State University 889 Notice to Bidders. 889 Kansas Department of Agriculture – Division of Conservation 889 Notice to Contractors for Wakarusa Watershed Joint District No. 35 Dam 890 Kansas Department of Health and Environment 890 Notice to Contractors for Vital Statistic Identity Documents 890 Notice Concerning Proposed Air Quality Class I Operating Permit. 890 Notice Concerning Water Pollution Control Permits and Applications 892 Kansas Department of Transportation 890 Notice to Consulting Firms for Construction Inspection for Bridge 895 Replacement Project in Cheyenne County 896 Notice to Consulting Firms for Construction Inspection for Bridge 897 Notice to Consulting Firms for Construction Inspection for Resurfacing 897 Notice to Consulting Firms for Construction Inspection for Resurfacing 899 Notice to Consulting Firms for Construction Inspection for Resurfacing 890 Project in Cherokee County 893 <td< th=""><th>Kansas Department of Administration – Office of Facilities and Property Management</th><th></th></td<>	Kansas Department of Administration – Office of Facilities and Property Management	
Notice to Bidders	Kansas Department of Administration – Office of Procurement and Contracts	
Notice of Intent to Lease Real Property 889 Kansas Department of Agriculture – Division of Conservation 890 Notice to Contractors for Wakarusa Watershed Joint District No. 35 Dam 890 Kansas Department of Health and Environment 890 Notice of Fee Suspension for Vital Statistic Identity Documents 890 Notice Concerning Proposed Air Quality Class I Operating Permit. 890 Notice Concerning Proposed Air Quality Class I Operating Permit Renewals 891 Notice Concerning Water Pollution Control Permits and Applications 892 Notice to Consulting Firms for Construction Inspection for Bridge 895 Replacement Project in Sumner County 895 Notice to Consulting Firms for Construction Inspection for Bridge 896 Replacement Project in Sumner County 897 Notice to Consulting Firms for Construction Inspection for Resurfacing 897 Notice to Consulting Firms for Construction Inspection for Resurfacing 898 Notice to Consulting Firms for Construction Inspection for Resurfacing 899 Notice to Consulting Firms for Construction Inspection for Resurfacing 900 Notice to Consulting Firms for Construction Inspection for Resurfacing 900 Notice to Consulting Firms for Construction Inspection for Resurfacin		
Kansas Department of Agriculture – Division of Conservation Notice to Contractors for Wakarusa Watershed Joint District No. 35 Dam Improvement Project	Wichita State University	
Notice to Contractors for Wakarusa Watershed Joint District No. 35 Dam Improvement Project		
Notice to Contractors for Wakarusa Watershed Joint District No. 35 Dam Improvement Project	Kansas Department of Agriculture – Division of Conservation	
Improvement Project 890 Kansas Department of Health and Environment 890 Notice of Fee Suspension for Vital Statistic Identity Documents 890 Notice Concerning Proposed Air Quality Class I Operating Permit 890 Notice Concerning Water Pollution Control Permits and Applications 892 Kansas Department of Transportation 892 Notice to Consulting Firms for Construction Inspection for Bridge 895 Replacement Project in Cheyenne County 896 Notice to Consulting Firms for Construction Inspection for Bridge 896 Replacement Project in Sumner County 896 Notice to Consulting Firms for Construction Inspection for Resurfacing 897 Notice to Consulting Firms for Construction Inspection for Resurfacing 898 Project in Cherokee County 897 Notice to Consulting Firms for Construction Inspection for Resurfacing 899 Notice to Consulting Firms for Construction Inspection for Resurfacing 900 Notice to Consulting Firms for Construction Inspection for Resurfacing 900 Notice to Consulting Firms for Construction Inspection for Resurfacing 901 Notice to Consulting Firms for Construction Inspection for Resurfacing 901 Notice to Consulting Firms for Con	Notice to Contractors for Wakarusa Watershed Joint District No. 35 Dam	
Notice of Fee Suspension for Vital Statistic Identity Documents 890 Notice Concerning Proposed Air Quality Class I Operating Permit. 890 Notices Concerning Water Pollution Control Permits and Applications 891 Notice Concerning Water Pollution Control Permits and Applications 892 Kansas Department of Transportation 892 Notice to Consulting Firms for Construction Inspection for Bridge 895 Replacement Project in Cheyenne County 896 Notice to Consulting Firms for Construction Inspection for Bridge 896 Notice to Consulting Firms for Construction Inspection for Pavement 897 Notice to Consulting Firms for Construction Inspection for Resurfacing 897 Notice to Consulting Firms for Construction Inspection for Resurfacing 897 Notice to Consulting Firms for Construction Inspection for Resurfacing 899 Notice to Consulting Firms for Construction Inspection for Resurfacing 900 Notice to Consulting Firms for Construction Inspection for Resurfacing 900 Notice to Consulting Firms for Construction Inspection for Resurfacing 900 Notice to Consulting Firms for Construction Inspection for Resurfacing 900 Notice to Consulting Firms for Construction Inspection for Resurfacing 901 Notice		
Notice Concerning Proposed Air Quality Class I Operating Permit 890 Notices Concerning Proposed Air Quality Class I Operating Permit Renewals891, 892 Notice Concerning Water Pollution Control Permits and Applications Notice Concerning Firms for Construction Inspection for Bridge 892 Kansas Department of Transportation 892 Notice to Consulting Firms for Construction Inspection for Bridge 895 Replacement Project in Cheyenne County 896 Notice to Consulting Firms for Construction Inspection for Pavement 897 Reconstruction Project in McPherson County 897 Notice to Consulting Firms for Construction Inspection for Resurfacing 897 Notice to Consulting Firms for Construction Inspection for Resurfacing 897 Notice to Consulting Firms for Construction Inspection for Resurfacing 898 Notice to Consulting Firms for Construction Inspection for Resurfacing 900 Notice to Consulting Firms for Construction Inspection for Resurfacing 901 Notice to Consulting Firms for Construction Inspection for Resurfacing 901 Notice to Consulting Firms for Construction Inspection for Resurfacing 901 Notice to Consulting Firms for Construction Inspection for Resurfacing 902 Notice to Consulting Firms for Construction Inspection for Resurfacing </td <td>Kansas Department of Health and Environment</td> <td></td>	Kansas Department of Health and Environment	
Notices Concerning Proposed Air Quality Class I Operating Permit Renewals891, 892 Notice Concerning Water Pollution Control Permits and Applications 892 Kansas Department of Transportation Notice to Consulting Firms for Construction Inspection for Bridge Replacement Project in Cheyenne County 895 Notice to Consulting Firms for Construction Inspection for Bridge Replacement Project in Sumner County 896 Notice to Consulting Firms for Construction Inspection for Pavement Reconstruction Project in McPherson County 897 Notice to Consulting Firms for Construction Inspection for Resurfacing Project in Cherokee County 898 Notice to Consulting Firms for Construction Inspection for Resurfacing Project in Labette County 899 Notice to Consulting Firms for Construction Inspection for Resurfacing Project in Lyon County 900 Notice to Consulting Firms for Construction Inspection for Resurfacing Project in Morris County 901 Notice to Consulting Firms for Construction Inspection for Resurfacing Project in Osage County 902 Notice to Consulting Firms for Construction Inspection for Resurfacing Project in	Notice of Fee Suspension for Vital Statistic Identity Documents	
Notice Concerning Water Pollution Control Permits and Applications 892 Kansas Department of Transportation Notice to Consulting Firms for Construction Inspection for Bridge Replacement Project in Cheyenne County 895 Notice to Consulting Firms for Construction Inspection for Bridge 896 Replacement Project in Sumner County 896 Notice to Consulting Firms for Construction Inspection for Pavement 897 Notice to Consulting Firms for Construction Inspection for Resurfacing 897 Notice to Consulting Firms for Construction Inspection for Resurfacing 898 Notice to Consulting Firms for Construction Inspection for Resurfacing 898 Notice to Consulting Firms for Construction Inspection for Resurfacing 899 Notice to Consulting Firms for Construction Inspection for Resurfacing 900 Notice to Consulting Firms for Construction Inspection for Resurfacing 901 Notice to Consulting Firms for Construction Inspection for Resurfacing 901 Notice to Consulting Firms for Construction Inspection for Resurfacing 902 Notice to Consulting Firms for Construction Inspection for Resurfacing 902 Notice to Consulting Firms for Construction Inspection for Resurfacing 902 Notice to Consulting Firms for Construction Inspection for Resurfacing		
Kansas Department of Transportation Notice to Consulting Firms for Construction Inspection for Bridge Replacement Project in Cheyenne County 895 Notice to Consulting Firms for Construction Inspection for Bridge 896 Replacement Project in Summer County 896 Notice to Consulting Firms for Construction Inspection for Pavement 897 Reconstruction Project in McPherson County 897 Notice to Consulting Firms for Construction Inspection for Resurfacing 897 Project in Cherokee County 898 Notice to Consulting Firms for Construction Inspection for Resurfacing 898 Project in Labette County 899 Notice to Consulting Firms for Construction Inspection for Resurfacing 900 Notice to Consulting Firms for Construction Inspection for Resurfacing 900 Notice to Consulting Firms for Construction Inspection for Resurfacing 901 Notice to Consulting Firms for Construction Inspection for Resurfacing 901 Notice to Consulting Firms for Construction Inspection for Resurfacing 902 Notice to Consulting Firms for Construction Inspection for Resurfacing 902 Notice to Consulting Firms for Construction Inspection for Resurfacing 902 Notice to Consulting Firms for Construction Inspection for Resurfacing<		
Notice to Consulting Firms for Construction Inspection for Bridge Replacement Project in Cheyenne County895Notice to Consulting Firms for Construction Inspection for Bridge Replacement Project in Sumner County896Notice to Consulting Firms for Construction Inspection for Pavement Reconstruction Project in McPherson County897Notice to Consulting Firms for Construction Inspection for Resurfacing Project in Cherokee County897Notice to Consulting Firms for Construction Inspection for Resurfacing Project in Labette County898Notice to Consulting Firms for Construction Inspection for Resurfacing Project in Labette County899Notice to Consulting Firms for Construction Inspection for Resurfacing 	Notice Concerning Water Pollution Control Permits and Applications	
Replacement Project in Cheyenne County895Notice to Consulting Firms for Construction Inspection for Bridge896Notice to Consulting Firms for Construction Inspection for Pavement896Notice to Consulting Firms for Construction Inspection for Pavement897Notice to Consulting Firms for Construction Inspection for Resurfacing897Project in Cherokee County898Notice to Consulting Firms for Construction Inspection for Resurfacing898Notice to Consulting Firms for Construction Inspection for Resurfacing899Notice to Consulting Firms for Construction Inspection for Resurfacing900Notice to Consulting Firms for Construction Inspection for Resurfacing900Notice to Consulting Firms for Construction Inspection for Resurfacing901Notice to Consulting Firms for Construction Inspection for Resurfacing901Notice to Consulting Firms for Construction Inspection for Resurfacing902Notice to Consulting Firms for Construction Inspection for Resurfacing904Notice to Consulting Firms for Construction Inspection for Resurfacing905Notice to Consulting Firms for K-33 Roadway and Bridge Reconstruction905Notice to Consulting Firms for K-33 Roadway and Bridge Rehabilitation/906Notice to Consulting Firms for K-33 Roadway and Bridge Rehabilitation/908Request for Qualif		
Notice to Consulting Firms for Construction Inspection for Bridge Replacement Project in Sumner County896Notice to Consulting Firms for Construction Inspection for Pavement Reconstruction Project in McPherson County897Notice to Consulting Firms for Construction Inspection for Resurfacing Project in Cherokee County898Notice to Consulting Firms for Construction Inspection for Resurfacing Project in Labette County899Notice to Consulting Firms for Construction Inspection for Resurfacing Project in Labette County899Notice to Consulting Firms for Construction Inspection for Resurfacing Project in Lyon County900Notice to Consulting Firms for Construction Inspection for Resurfacing Project in Morris County901Notice to Consulting Firms for Construction Inspection for Resurfacing Project in Osage County901Notice to Consulting Firms for Construction Inspection for Resurfacing Project in Osage County902Notice to Consulting Firms for Construction Inspection for Resurfacing Project in Pawnee County904Notice to Consulting Firms for Construction Inspection for Resurfacing Project in Pawnee and Wabaunsee Counties905Notice to Consulting Firms for K-33 Roadway and Bridge Reconstruction Project in Franklin County906Notice to Consulting Firms for K-33 Roadway and Bridge Rehabilitation/ Reconstruction Improvement Project in Franklin and Douglas Counties908Request for Qualifications for US-54/US-400 Sedgwick and Butler908		
Replacement Project in Sumner County896Notice to Consulting Firms for Construction Inspection for Pavement897Notice to Consulting Firms for Construction Inspection for Resurfacing897Project in Cherokee County898Notice to Consulting Firms for Construction Inspection for Resurfacing898Project in Labette County899Notice to Consulting Firms for Construction Inspection for Resurfacing900Project in Lyon County900Notice to Consulting Firms for Construction Inspection for Resurfacing901Project in Morris County901Notice to Consulting Firms for Construction Inspection for Resurfacing901Project in Osage County902Notice to Consulting Firms for Construction Inspection for Resurfacing902Project in Pawnee County904Notice to Consulting Firms for Construction Inspection for Resurfacing904Notice to Consulting Firms for Construction Inspection for Resurfacing905Notice to Consulting Firms for Construction Inspection for Resurfacing905Notice to Consulting Firms for Construction Inspection for Resurfacing905Notice to Consulting Firms for K-33 Roadway and Bridge Reconstruction906Notice to Consulting Firms for K-33 Roadway and Bridge Rehabilitation/908Request for Qualifications for US-54/US-400 Sedgwick and Butler908		
Notice to Consulting Firms for Construction Inspection for Pavement Reconstruction Project in McPherson County897Notice to Consulting Firms for Construction Inspection for Resurfacing Project in Cherokee County898Notice to Consulting Firms for Construction Inspection for Resurfacing Project in Labette County899Notice to Consulting Firms for Construction Inspection for Resurfacing Project in Lyon County899Notice to Consulting Firms for Construction Inspection for Resurfacing Project in Lyon County900Notice to Consulting Firms for Construction Inspection for Resurfacing Project in Morris County901Notice to Consulting Firms for Construction Inspection for Resurfacing Project in Osage County901Notice to Consulting Firms for Construction Inspection for Resurfacing Project in Osage County902Notice to Consulting Firms for Construction Inspection for Resurfacing Project in Pawnee County904Notice to Consulting Firms for Construction Inspection for Resurfacing Project in Shawnee and Wabaunsee Counties905Notice to Consulting Firms for K-33 Roadway and Bridge Reconstruction Project in Franklin County906Notice to Consulting Firms for K-33 Roadway and Bridge Rehabilitation/ Reconstruction Improvement Project in Franklin and Douglas Counties908Request for Qualifications for US-54/US-400 Sedgwick and Butler908		
Reconstruction Project in McPherson County897Notice to Consulting Firms for Construction Inspection for Resurfacing898Project in Cherokee County898Notice to Consulting Firms for Construction Inspection for Resurfacing899Project in Labette County899Notice to Consulting Firms for Construction Inspection for Resurfacing900Notice to Consulting Firms for Construction Inspection for Resurfacing900Notice to Consulting Firms for Construction Inspection for Resurfacing901Notice to Consulting Firms for Construction Inspection for Resurfacing901Notice to Consulting Firms for Construction Inspection for Resurfacing902Notice to Consulting Firms for Construction Inspection for Resurfacing902Notice to Consulting Firms for Construction Inspection for Resurfacing904Notice to Consulting Firms for Construction Inspection for Resurfacing905Notice to Consulting Firms for Construction Inspection for Resurfacing905Notice to Consulting Firms for Construction Inspection for Resurfacing905Notice to Consulting Firms for K-33 Roadway and Bridge Reconstruction906Notice to Consulting Firms for K-33 Roadway and Bridge Rehabilitation/906Reconstruction Improvement Project in Franklin and Douglas Counties908Request for Qualifications for US-54/US-400 Sedgwick and Butler908		
Notice to Consulting Firms for Construction Inspection for Resurfacing Project in Cherokee County		
Project in Cherokee County.898Notice to Consulting Firms for Construction Inspection for Resurfacing899Notice to Consulting Firms for Construction Inspection for Resurfacing900Notice to Consulting Firms for Construction Inspection for Resurfacing900Notice to Consulting Firms for Construction Inspection for Resurfacing901Notice to Consulting Firms for Construction Inspection for Resurfacing901Notice to Consulting Firms for Construction Inspection for Resurfacing902Notice to Consulting Firms for Construction Inspection for Resurfacing902Notice to Consulting Firms for Construction Inspection for Resurfacing904Notice to Consulting Firms for Construction Inspection for Resurfacing904Notice to Consulting Firms for Construction Inspection for Resurfacing905Notice to Consulting Firms for Construction Inspection for Resurfacing905Notice to Consulting Firms for Construction Inspection for Resurfacing905Notice to Consulting Firms for K-33 Roadway and Bridge Reconstruction906Notice to Consulting Firms for K-33 Roadway and Bridge Rehabilitation/906Notice to Consulting Firms for K-33 Roadway and Bridge Rehabilitation/908Request for Qualifications for US-54/US-400 Sedgwick and Butler908		
Notice to Consulting Firms for Construction Inspection for Resurfacing Project in Labette County		
Project in Labette County		
Notice to Consulting Firms for Construction Inspection for Resurfacing Project in Lyon County900Notice to Consulting Firms for Construction Inspection for Resurfacing Project in Morris County901Notice to Consulting Firms for Construction Inspection for Resurfacing Project in Osage County902Notice to Consulting Firms for Construction Inspection for Resurfacing Project in Pawnee County902Notice to Consulting Firms for Construction Inspection for Resurfacing Project in Pawnee County904Notice to Consulting Firms for Construction Inspection for Resurfacing Projects in Shawnee and Wabaunsee Counties905Notice to Consulting Firms for K-33 Roadway and Bridge Reconstruction Project in Franklin County906Notice to Consulting Firms for K-33 Roadway and Bridge Rehabilitation/ Reconstruction Improvement Project in Franklin and Douglas Counties908Request for Qualifications for US-54/US-400 Sedgwick and Butler908		
Project in Lyon County900Notice to Consulting Firms for Construction Inspection for Resurfacing901Project in Morris County901Notice to Consulting Firms for Construction Inspection for Resurfacing902Project in Osage County902Notice to Consulting Firms for Construction Inspection for Resurfacing902Project in Pawnee County904Notice to Consulting Firms for Construction Inspection for Resurfacing904Project in Pawnee County905Notice to Consulting Firms for Construction Inspection for Resurfacing905Projects in Shawnee and Wabaunsee Counties905Notice to Consulting Firms for K-33 Roadway and Bridge Reconstruction906Notice to Consulting Firms for K-33 Roadway and Bridge Rehabilitation/908Request for Qualifications for US-54/US-400 Sedgwick and Butler908		
Project in Morris County	Project in Lyon County	
Notice to Consulting Firms for Construction Inspection for Resurfacing Project in Osage County	Notice to Consulting Firms for Construction Inspection for Resurfacing	
Project in Osage County902Notice to Consulting Firms for Construction Inspection for Resurfacing904Project in Pawnee County904Notice to Consulting Firms for Construction Inspection for Resurfacing904Projects in Shawnee and Wabaunsee Counties905Notice to Consulting Firms for K-33 Roadway and Bridge Reconstruction906Notice to Consulting Firms for K-33 Roadway and Bridge Rehabilitation/906Notice to Consulting Firms for K-33 Roadway and Bridge Rehabilitation/908Request for Qualifications for US-54/US-400 Sedgwick and Butler908		
Notice to Consulting Firms for Construction Inspection for Resurfacing Project in Pawnee County904Notice to Consulting Firms for Construction Inspection for Resurfacing Projects in Shawnee and Wabaunsee Counties.905Notice to Consulting Firms for K-33 Roadway and Bridge Reconstruction Project in Franklin County.906Notice to Consulting Firms for K-33 Roadway and Bridge Rehabilitation/ Reconstruction Improvement Project in Franklin and Douglas Counties.908Request for Qualifications for US-54/US-400 Sedgwick and Butler908		
Project in Pawnee County 904 Notice to Consulting Firms for Construction Inspection for Resurfacing 904 Projects in Shawnee and Wabaunsee Counties 905 Notice to Consulting Firms for K-33 Roadway and Bridge Reconstruction 905 Project in Franklin County 906 Notice to Consulting Firms for K-33 Roadway and Bridge Rehabilitation/ 906 Reconstruction Improvement Project in Franklin and Douglas Counties 908 Request for Qualifications for US-54/US-400 Sedgwick and Butler 908		
Notice to Consulting Firms for Construction Inspection for Resurfacing Projects in Shawnee and Wabaunsee Counties		
Projects in Shawnee and Wabaunsee Counties		
 Notice to Consulting Firms for K-33 Roadway and Bridge Reconstruction Project in Franklin County		
Project in Franklin County		
Notice to Consulting Firms for K-33 Roadway and Bridge Rehabilitation/ Reconstruction Improvement Project in Franklin and Douglas Counties		
Reconstruction Improvement Project in Franklin and Douglas Counties		
Request for Qualifications for US-54/US-400 Sedgwick and Butler		
	County Progressive Design-Build Project910	

Legislative Branch

Legislative Administrative Services		
Legislative Bills and Resolutions Intro	oduced April 28	

Cover Artwork: Kansas Capitol, Topeka Photo by Todd Caywood

Vol. 41, No. 19, May 12, 2022

Bondo

bolius
Kansas Development Finance Authority
Notice of Hearing on Proposed Agricultural Development Revenue Bonds
City of Basehor, Kansas
Summary Notice of Bond Sale
New State Laws
Senate Bill 366, concerning offender registration; relating to the Kansas offender registration
act; providing a mechanism to seek relief from registration requirements for drug offenders;
expungement for such offenses; requiring registration for certain violations of breach of
privacy, internet trading in child pornography and aggravated internet trading in child
pornography
Regulations
Office of the State Bank Commissioner
Permanent Administrative Regulation
Kansas Lottery
Temporary Administrative Regulations
Index to administrative regulations

State of Kansas

Pooled Money Investment Board

Notice of Investment Rates

The following rates are published in accordance with K.S.A. 75-4210. These rates and their uses are defined in K.S.A. 12-1675(b)(c)(d) and K.S.A. 12-1675a(g).

Effective 5-9-22 through 5-15-22		
Term	Rate	
1-89 days	0.62%	
3 months	0.96%	
6 months	1.45%	
12 months	2.16%	
18 months	2.54%	
2 years	2.72%	

Doc. No. 050111

State of Kansas

Department of Administration Office of Accounts and Reports

Public Notice

Under requirements of K.S.A. 65-34,117(c), as amended, records of the Office of Accounts and Reports show the unobligated balances are \$7,968,647.64 in the Underground Petroleum Storage Tank Release Trust Fund and \$2,461,508.36 in the Aboveground Petroleum Storage Tank Release Trust Fund at April 30, 2022.

> Jocelyn Gunter, Director Office of Accounts and Reports

Scott Miller

Director of Investments

State of Kansas

Department of Administration Office of Facilities and Property Management

Notice of Requested Architectural Services

Notice is hereby given of the commencement of the selection process for architectural services for the programming phase of the remodel of Morse Central Hall at Emporia State University. Emporia State University (ESU) is seeking architectural services for the programming phase of a planned move of its nursing program into a building to be remodeled. ESU plans to relocate the Department of Nursing from a leased off-campus facility (Cora Miller Hall) into a portion of an existing building on-campus (Morse Central). Aside from the fiscal optimization, this relocation will reconnect nursing students' and faculty's experiences to the main campus, an opportunity not leveraged due to their current off-campus location. This move allows campus consolidation of space and programming, creates state-of-the-art learning spaces for our students, and will enable a more focused and deliberate investment in interdisciplinary program technologies, such as healthcare cybersecurity, forensic science, and pre-med programs. The priority for this space is to build capacity and enhance our Department of Nursing program(s). The use of the remaining space will be determined as the space optimization review of campus continues. A successful programming phase may lead to the firm being retained for design and construction phase services. The construction budget is \$5,695,000.

For more information contact Bill McKernan at wmckerna@emporia.edu, phone 620-341-5331.

To be considered, one (1) PDF file of the following should be provided: State of Kansas Professional Quali-(continued)

Doc. No. 050112

fications DCC Forms 051-054, inclusive, and information regarding similar projects. These forms may be found at https://admin.ks.gov/offices/facilities-property-management/design-construction--compliance/forms-and-documents. State of Kansas Professional Qualifications DCC Form 050 for each firm and consultant should be provided at the end of each proposal. Please include your firm name, agency abbreviation, and an abbreviated project name in the title of the PDF document. Proposals should be less than 5 Mb and follow the current State Building Advisory Commission guidelines which can be found in Part B – Chapter 2 of the Building Design and Construction Manual at https://admin.ks.gov/offices/facilities-property-management/design-construction--compliance/building-design-and-construction-manual-bdcm.

Paper copies and flash drives containing copies of the proposals are not required.

Proposals should be sent to professional.qualifications@ ks.gov. Proposals received after the date and time noted below will not be forwarded to the State Building Advisory Commission for review. If you have questions, call 785-296-0749. The PDF proposal submissions shall be delivered to the attention of Randy Riveland by 2:00 p.m. on or before May 27, 2022.

The State of Kansas, as a matter of public policy, encourages anyone doing business with the State of Kansas to take steps to discourage human trafficking. If prospective bidders/vendors/contractors have any policies or participate in any initiatives that discourage human trafficking, then the prospective bidder/vendor/contractor is encouraged to submit same as part of their bid response.

Frank Burnam, Director Office of Facilities and Property Management Doc. No. 050118

State of Kansas

Department of Administration Office of Facilities and Property Management

Notice of Requested Architectural Services

Notice is hereby given of the commencement of the selection process for architectural services for the Seaton Hall West Architectural Engineering Renovation at Kansas State University. The project includes an upgrade of HVAC systems in the entire 1950s wing of Seaton Hall West. The current system consists of a combination of steam heat/radiators, window air conditioning units, through-wall fan coil units, split system furnace/AC units and rooftop units. Refresh the exterior of Seaton West with new, energy-efficient glazing systems. Convert Seaton 2009 and 2011A into a 72-seat state of the art lecture classroom, office, and mechanical room. Refresh finishes throughout department to include new lighting, carpet, paint, ceiling, doors, and hardware. Install wet fire sprinkler system through the ARE department.

An architectural/engineering program is available at http://admin.ks.gov/offices/ofpm/dcc/arch-eng-programs. For more information contact Rosanna Carvalho at rcarvalho@ksu.edu, phone 785-532-1732.

To be considered, one (1) PDF file of the following should be provided: State of Kansas Professional Quali-

fications DCC Forms 051-054, inclusive, and information regarding similar projects. These forms may be found at https://admin.ks.gov/offices/facilities-property-management/design-construction--compliance/forms-and-documents. State of Kansas Professional Qualifications DCC Form 050 for each firm and consultant should be provided at the end of each proposal. Please include your firm name, agency abbreviation, and an abbreviated project name in the title of the PDF document. Proposals should be less than 5 Mb and follow the current State Building Advisory Commission guidelines which can be found in Part B-Chapter 2 of the Building Design and Construction Manual at https://admin.ks.gov/offices/facilities-property-management/design-construction--compliance/building-design-and-construction-manual-bdcm. Paper copies and flash drives containing copies of the proposals are not required.

Proposals should be sent to professional.qualifications@ ks.gov. Proposals received after the date and time noted below will not be forwarded to the State Building Advisory Commission for review. If you have questions, call 785-296-0749. The PDF proposal submissions shall be delivered to the attention of Randy Riveland by 2:00 p.m. on or before May 27, 2022.

The State of Kansas, as a matter of public policy, encourages anyone doing business with the State of Kansas to take steps to discourage human trafficking. If prospective bidders/vendors/contractors have any policies or participate in any initiatives that discourage human trafficking, then the prospective bidder/vendor/contractor is encouraged to submit same as part of their bid response.

Frank Burnam, Director Office of Facilities and Property Management Doc. No. 050119

State of Kansas

Department of Administration Office of Procurement and Contracts

Notice to Bidders

Sealed bids for items listed will be received by the Office of Procurement and Contracts until 2:00 p.m. on the date indicated. For more information, call 785-296-2376.

All bids are to be submitted via email only to procurement@ks.gov. For more information, please visit https://supplier.sok.ks.gov/psc/sokfsprdsup/SUPPLIER/ ERP/c/SCP_PUBLIC_MENU_FL.SCP_PUB_BID_CMP_ FL.GBL.

05/24/2022	EVT0008596	Virtual Seminar and Certification
05/26/2022	EVT0008598	Book Purchase
05/30/2022	EVT0008591	Shipping and Packing Supplies
06/01/2022	EVT0008594	Elevator Upgrades/
		Modernizations – KHP Salina
06/02/2022	EVT0008599	Security Camera System and
		Installation
06/06/2022	EVT0008592	STERO U-31A/A2 Pot, Pan, and
		Utensil Washer
06/08/2022	EVT0008573	Telemedicine Psychiatrist

The above referenced bid documents can be down-loaded at the following website:

https://supplier.sok.ks.gov/psc/sokfsprdsup/SUPPLIER/ ERP/c/SCP_PUBLIC_MENU_FL.SCP_PUB_BID_CMP_ FL.GBL

Additional files may be located at the following website (please monitor this website on a regular basis for any changes/addenda):

https://admin.ks.gov/offices/procurement-contracts/ bidding--contracts/additional-bid-opportunities

05/26/2022	A-014321	ESU; King Hall – Make Up Air
05/26/2022	A-014326	Improvements New RTU KDOT; Area Shop and Office and Construction Office

Additional Bid Opportunities: Statewide – Department of Administration:

https://admin.ks.gov/media/documents/Master_ Consulting_Services_RFP_4292_621E808879D65.pdf

04/30/2023 EVT0000MCS DOA; Master Consulting Services – Multi-Award Opportunity

Information regarding prequalification, projects, and bid documents can be obtained at 785-296-8899 or http://admin.ks.gov/offices/ofpm/dcc.

Richard Beattie, Director Office of Procurement and Contracts

Doc. No. 050136

State of Kansas

Board of Regents Universities

Notice to Bidders

The universities of the Kansas Board of Regents encourage interested vendors to visit the various universities' purchasing offices' websites for a listing of all transactions, including construction projects, for which the universities' purchasing offices, or one of the consortia commonly utilized by the universities, are seeking information, competitive bids, or proposals. The referenced construction projects may include project delivery construction procurement act projects pursuant to K.S.A. 76-7,125 et seq.

Emporia State University – Bid postings: https://www. emporia.edu/about-emporia-state-university/businessoffice/purchasing. Additional contact information: phone: 620-341-5137, email: purchaseorders@emporia.edu. Mailing address: Emporia State University Purchasing, Campus Box 4021, 1 Kellogg Circle, Emporia, KS 66801.

Fort Hays State University – Electronic bid postings: http://www.fhsu.edu/purchasing/bids. Additional contact information: phone: 785- 628-4251, fax: 785-628-4046, email: purchasing@fhsu.edu. Mailing address: Fort Hays State University Purchasing Office, 601 Park St., Sheridan Hall 318, Hays, KS 67601.

Kansas State University – Bid postings: https://dfs. ksucloud.net/rfq. All bids must be submitted via Kansas State University's Vendor Bid Submission Secure File Upload portal, https://www.k-state.edu/finsvcs/ purchasing/bidsubmission.html. Additional contact information: phone: 785-532-6214, fax: 785-532-5577, email: kspurch@k-state.edu. Mailing address: Division of Financial Services/Purchasing, 2323 Anderson Ave., Kansas State University, Manhattan, KS 66506.

Pittsburg State University – Bid postings: https://www. pittstate.edu/office/purchasing. Additional contact information: phone: 620-235-4169, email: sburke@pittstate.edu. Mailing address: Pittsburg State University, Purchasing Office, 1701 S. Broadway, Pittsburg, KS 66762.

University of Kansas – Electronic bid postings: http:// www.procurement.ku.edu. Due to Covid-19, the University of Kansas will not be accepting paper bids until further notice. Additional contact information: phone: 785-864-5800, email: purchasing@ku.edu.

University of Kansas Medical Center – Electronic bid postings: http://www.kumc.edu/finance/purchasing/bidopportunities.html. Additional contact information: phone: 913-588-1117, email: hunkemoore@kumc.edu. Mailing address: University of Kansas Medical Center, Purchasing Department, Mail Stop 2034, 3901 Rainbow Blvd., Kansas City, KS 66160.

Wichita State University – Bid postings: http://www. wichita.edu/purchasing. Additional contact information: phone: 316-978-3080, fax: 316-978-3738, email: purchasing. office@wichita.edu. Mailing address: Wichita State University, Office of Purchasing, 1845 Fairmount Ave., Campus Box 38, Wichita, KS 67260-0038.

> Kathy Herrman Chair of Regents Purchasing Group Purchasing Director Fort Hays State University

Doc. No. 049784

State of Kansas

Wichita State University

Notice of Intent to Lease Real Property

Public notice is hereby given that Wichita State University (WSU), directly or through its affiliate corporation Wichita State Innovation Alliance, Inc., intends to lease, subject to all required state approvals, up to four acres of real property located on the Wichita State University's campus designated as the "Innovation Campus," for the private development and operation of a partnership building or buildings. The university is interested in leasing such ground to any individual, organization, or entity whose presence on campus would advance the university's applied learning vision or its mission as an educational, cultural, and economic driver for Kansas and the greater public good. The university intends to lease such space for a mutually agreeable period of time up to sixty years, but extended terms and renewal options would be considered. Interested tenants must be willing to be a good fit with the university's educational mission and identify anticipated benefits to the university, its students, and the WSU community (i.e. applied learning, joint research, faculty start-up, WSU curriculum or program support, etc.), and must agree to the essential ground lease terms and restrictive covenants. Interested tenants will be evaluated on: proposal terms, demonstrated benefit to WSU, design (continued) concepts, financial stability, and proposed use. Interested tenants will be required to construct adjacent and adequate surface parking that will not be included in the leased ground. Rental rate shall be based on fair market value and negotiable based on term of lease, purpose/use of building improvement, and benefit to the university. The university will consider serious offers and inquiries with detailed proposal terms from any financially qualified individual, group, organization. If interested, please contact Senior Vice President for Industry and Defense Programs, Dr. John Tomblin at john.tomblin@wichita.edu or Property Manager Crystal Stegeman at crystal.stegeman@ wichita.edu. This publication is being published pursuant to K.S.A. 75-430a(d), to the extent applicable.

> Crystal Stegeman University Property Manager Office of the Vice President for Administration and Finance

Doc. No. 050070

State of Kansas

Department of Agriculture Division of Conservation

Notice to Contractors

Separate sealed bids for the construction of Dam Improvements for GSDD No. 117 will be received until 10:00 a.m. (CDT) Friday June 17, 2022, by the Wakarusa Watershed Joint District No. 35, PO Box 139, Overbrook, KS 66524-0139. At the said location, date, and time all sealed bids received will be publicly opened and read aloud. Any bid received after the said date and time will be returned un-opened.

All bids shall be submitted in sealed envelopes addressed to Contracting Officer, Wakarusa Watershed Joint District No. 35, PO Box 139, Overbrook, KS 66524-0139, and plainly marked on the outside as a *Bid for Dam Improvements for GSDD 117*, along with the bidder's name, address, and license number, if applicable.

Hard copies of the contract documents (full size plans and specification) may be obtained or examined at the office of Sunflower Design, LLC, 3601 SW 29th St., Suite 125, Topeka, KS 66614 (telephone 785-249-1885) upon a non-refundable payment of \$50 for each set. Digital copies are available at no cost.

The project consists of approximately 3,500 cubic yards of fill to raise the top of the dam by 2.25 feet, removal and replacement of the intake structure (including the trash rack), removal and replacement of the drawdown pipe including the gate valve, installation of in-situ liner pipe (0.5") inside the primary spillway pipe (24" CMP), placement of 2,000 cubic yards of riprap, installation of 2350 feet of bio log, installation of 8500 square yards of erosion control blanket, installation of pipe support at the primary spillway outfall, regrade the stilling basin, regrade the auxiliary spillway, and miscellaneous other items.

Bidders must satisfy themselves of the accuracy of the estimated quantities in the bid schedule by examination of the project site and a reviewing the project drawings and specifications, including addenda. After bids have been submitted, the bidder shall not assert that there was a misunderstanding concerning the quantities of work or the nature of the work to be done.

The owner reserves the right to accept or reject any and all bids and to waive any technicalities or irregularities therein. No bidder may withdraw their bid for a period of sixty (60) days after the actual date of the opening thereof. Other bid and contract requirements and stipulations are included in the information for bidders within the said contract documents.

Each bid shall be accompanied by either a cashier's check, a certified check drawn on an acceptable bank, or an acceptable bid bond made payable without conditions to the Wakarusa Watershed Joint District No. 35, Overbrook, Kansas, in an amount not less than five percent (5%) of the total amount of the bid. The bidder should review the instructions to bidders in the contract documents for other requirements and stipulations.

The bidder to whom a contract for the work is awarded will be required to furnish insurance certificates along with a performance bond and a payment bond, each in the amount of one hundred percent (100%) of the awarded contract amount, with a corporate surety approved by Wakarusa Watershed Joint District No. 35, Overbrook, Kansas.

> Andrew Lyon Executive Director

Doc. No. 050121

State of Kansas

Department of Health and Environment

Public Notice

On April 29, 2022, the following counties in Kansas experienced severe weather that destroyed or damaged homes and property: Butler, Dickinson, Greenwood, Jackson, Jefferson, Marion, Morris, Pottawatomie, Sedgwick, Wabaunsee, and Washington. This resulted in many individuals needing to replace their identity documents. The individuals will be required to obtain a certified copy of their respective birth certificate and possibly a marriage license to replace their official documents.

Therefore, I, Janet Stanek, Secretary of the Kansas Department of Health and Environment, do suspend the provisions of the regulatory statutes and rules and regulations prescribing the requirement for fee assessment to obtain certified copies of birth and marriage certificates for victims of this disaster.

Dated May 2, 2022.

Janet Stanek Secretary

Doc. No. 050116

State of Kansas

Department of Health and Environment

Notice Concerning Proposed Kansas Air Quality Class I Operating Permit

Notice is hereby given that the Kansas Department of Health and Environment (KDHE) is soliciting comments regarding a proposed air quality operating permit. Koch and Company, Inc. has applied for a Class I operating

State of Kansas

permit in accordance with the provisions of K.A.R. 28-19-510 et al. The purpose of a Class I permit is to identify the sources and types of regulated air pollutants emitted from the facility; the emission limitations, standards, and requirements applicable to each source; and the monitoring, record keeping, and reporting requirements applicable to each source as of the effective date of permit issuance.

Koch and Company, Inc., 1809 North St., Seneca, KS 66538, owns and operates a cabinet manufacturing facility located at 111 N. 1st St., Seneca, KS 66538.

A copy of the proposed permit, permit application, all supporting documentation, and all information relied upon during the permit application review process are available for public review, during normal business hours, at the KDHE, Bureau of Air (BOA), 1000 SW Jackson, Suite 310, Topeka, KS 66612-1366 and at the Northeast District Office, 800 W. 24th St., Lawrence, KS 66046. To obtain or review the proposed permit and supporting documentation, contact Rumela Bhadra, 785-291-3271, at the central office of KDHE or Wendi Kessler, 785-330-8611, at the Northeast District Office. The standard departmental cost will be assessed for any copies requested. The proposed permit, accompanied with supporting information, is available, free of charge, at the KDHE BOA Public Notice website at https://www.kdhe.ks.gov/413/Public-Notices.

Please direct written comments or questions regarding the proposed permit to Rumela Bhadra, KDHE, BOA, 1000 SW Jackson, Suite 310, Topeka, KS 66612-1366. In order to be considered in formulating a final permit decision, written comments must be received no later than 12:00 p.m. Monday, June 13, 2022

A person may request a public hearing be held on the proposed permit. The request for a public hearing shall be in writing and set forth the basis for the request. The written request must be submitted to Rumela Bhadra, KDHE, BOA, 1000 SW Jackson, Suite 310, Topeka, KS 66612-1366, no later than 12:00 p.m. Monday, June 13, 2022, in order for the Secretary of Health and Environment to consider the request.

The U.S. Environmental Protection Agency (EPA) has a 45-day review period, which will start concurrently with the public comment period, within which to object to the proposed permit. If the EPA has not objected in writing to the issuance of the permit within the 45-day review period, any person may petition the administrator of the EPA to review the permit. The 60-day public petition period will directly follow the EPA's 45-day review period. Interested parties may contact KDHE to determine if the EPA's 45-day review period has been waived.

Any such petition shall be based only on objections to the permit that were raised with reasonable specificity during the public comment period provided for in this notice, unless the petitioner demonstrates that it was impracticable to raise such objections within such period, or unless the grounds for such objection arose after such period. Contact Keith Johnson, U.S. EPA, Region 7, Air Permitting and Compliance Branch, 11201 Renner Blvd., Lenexa, KS 66219, 913-551-7960, to determine when the 45-day EPA review period ends and the 60-day petition period commences.

Notice Concerning Proposed Kansas Air **Quality Class I Operating Permit Renewal** Notice is hereby given that the Kansas Department of

Department of Health and Environment

Health and Environment (KDHE) is soliciting comments regarding a proposed air quality operating permit. Frito-Lay, Inc. has applied for a Class I operating permit renewal in accordance with the provisions of K.A.R. 28-19-510 et al. The purpose of a Class I permit is to identify the sources and types of regulated air pollutants emitted from the facility; the emission limitations, standards, and requirements applicable to each source; and the monitoring, record keeping, and reporting requirements applicable to each source as of the effective date of permit issuance.

Frito-Lay Inc., 4236 SW Kirklawn Ave., Topeka, KS 66609, owns and operates a snack production facility located at 4236 SW Kirklawn Ave., Topeka, KS 66609.

A copy of the proposed permit, permit application, all supporting documentation, and all information relied upon during the permit application review process are available for public review during normal business hours of 8:00 a.m. to 5:00 p.m. at the KDHE, Bureau of Air (BOA), 1000 SW Jackson, Suite 310, Topeka, KS 66612-1366 and at the Northeast District Office, 800 W. 24th St., Lawrence, KS 66046. To obtain or review the proposed permit and supporting documentation, contact Eric Parker, 785-296-4174, at the central office of the KDHE or Wendi Kessler, 785-842-4600, at the Northeast District Office. The standard departmental cost will be assessed for any copies requested. The proposed permit, accompanied with supporting information, is available, free of charge, at the KDHE BOA Public Notice website at https://www.kdhe.ks.gov/413/Public-Notices.

Please direct written comments or questions regarding the proposed permit to Eric Parker, KDHE, BOA, 1000 SW Jackson, Suite 310, Topeka, KS 66612-1366. In order to be considered in formulating a final permit decision, written comments must be received no later than 12:00 p.m. Monday, June 13, 2022.

A person may request a public hearing be held on the proposed permit. The request for a public hearing shall be in writing and set forth the basis for the request. The written request must be submitted to Eric Parker, KDHE BOA, 1000 SW Jackson, Suite 310, Topeka, KS 66612-1366, no later than 12:00 p.m. Monday, June 13, 2022, in order for the Secretary of Health and Environment to consider the request.

The U.S. Environmental Protection Agency (EPA) has a 45-day review period, which will start concurrently with the public comment period, within which to object to the proposed permit. If the EPA has not objected in writing to the issuance of the permit within the 45-day review period, any person may petition the administrator of the EPA to review the permit. The 60-day public petition period will directly follow the EPA's 45-day review period. Interested parties may contact KDHE to determine if the EPA's 45-day review period has been waived.

Any such petition shall be based only on objections to the permit that were raised with reasonable specificity (continueď)

891

Janet Stanek

Secretary

Janet Stanek

Secretary

during the public comment period provided for in this notice, unless the petitioner demonstrates that it was impracticable to raise such objections within such period, or unless the grounds for such objection arose after such period. Contact Keith Johnson, U.S. EPA, Region 7, Air Permitting and Compliance Branch, 11201 Renner Blvd., Lenexa, KS 66219, 913-551-7960, to determine when the 45-day EPA review period ends and the 60-day petition period commences.

Doc. No. 050113

State of Kansas

Department of Health and Environment

Notice Concerning Proposed Kansas Air Quality Class I Operating Permit Renewal

Notice is hereby given that the Kansas Department of Health and Environment (KDHE) is soliciting comments regarding a proposed air quality operating permit. Oak Grove Power Producers, LLC has applied for a Class I operating permit renewal in accordance with the provisions of K.A.R. 28-19-510 et al. The purpose of a Class I permit is to identify the sources and types of regulated air pollutants emitted from the facility; the emission limitations, standards, and requirements applicable to each source; and the monitoring, record keeping, and reporting requirements applicable to each source as of the effective date of permit issuance.

Oak Grove Power Producers, LLC, 1000 Windward Concourse, Suite 150, Alpharetta, GA 30005, owns and operates electric power generation located at 1150 E. 700th Ave., Arcadia, KS 66711.

A copy of the proposed permit, permit application, all supporting documentation, and all information relied upon during the permit application review process are available for public review during normal business hours of 8:00 a.m. to 5:00 p.m. at the KDHE, Bureau of Air (BOA), 1000 SW Jackson, Suite 310, Topeka, KS 66612-1366 and at the Southeast District Office, 308 W. 14th St., Chanute, KS 66720. To obtain or review the proposed permit and supporting documentation, contact Christy Thurman, 785-296-3589, at the central office of the KDHE or Doug Cole, 620-431-2390, at the Southeast District Office. The standard departmental cost will be assessed for any copies requested. The proposed permit, accompanied with supporting information, is available, free of charge, at the KDHE BOA Public Notice website at https://www.kdhe.ks.gov/413/Public-Notices.

Please direct written comments or questions regarding the proposed permit to Christy Thurman, KDHE, BOA, 1000 SW Jackson, Suite 310, Topeka, KS 66612-1366. In order to be considered in formulating a final permit decision, written comments must be received no later than 12:00 p.m. Monday, June 13, 2022.

A person may request a public hearing be held on the proposed permit. The request for a public hearing shall be in writing and set forth the basis for the request. The written request must be submitted to Christy Thurman, KDHE BOA, 1000 SW Jackson, Suite 310, Topeka, KS 66612-1366, no later than 12:00 p.m. Monday, June 13, 2022, in order for the Secretary of Health and Environment to consider the request.

The U.S. Environmental Protection Agency (EPA) has a 45-day review period, which will start concurrently with the public comment period, within which to object to the proposed permit. If the EPA has not objected in writing to the issuance of the permit within the 45-day review period, any person may petition the administrator of the EPA to review the permit. The 60-day public petition period will directly follow the EPA's 45-day review period. Interested parties may contact KDHE to determine if the EPA's 45-day review period has been waived.

Any such petition shall be based only on objections to the permit that were raised with reasonable specificity during the public comment period provided for in this notice, unless the petitioner demonstrates that it was impracticable to raise such objections within such period, or unless the grounds for such objection arose after such period. Contact Keith Johnson, U.S. EPA, Region 7, Air Permitting and Compliance Branch, 11201 Renner Blvd., Lenexa, KS 66219, 913-551-7960, to determine when the 45-day EPA review period ends and the 60-day petition period commences.

> Janet Stanek Secretary

Doc. No. 050114

State of Kansas

Department of Health and Environment

Notice Concerning Kansas/Federal Water Pollution Control Permits and Applications

In accordance with Kansas Administrative Regulations 28-16-57a through 63, 28-18-1 through 17, 28-18a-1 through 31 and 33, 28-16-150 through 154, 28-46-7, and the authority vested with the state by the administrator of the U.S. Environmental Protection Agency, various draft water pollution control documents (permits, notices to revoke and reissue, notices to terminate) have been prepared and/or permit applications have been received for discharges to waters of the United States and the state of Kansas for the class of discharges described below.

The proposed actions concerning the draft documents are based on staff review, applying the appropriate standards, regulations, and effluent limitations of the state of Kansas and the Environmental Protection Agency. The final action will result in a Federal National Pollutant Discharge Elimination System Authorization and/or a Kansas Water Pollution Control permit being issued, subject to certain conditions, revocation, and reissuance of the designated permit or termination of the designated permit.

Public Notice No. KS-AG-22-116 Application(s) for New or Expansion of Existing Swine Facilities

Name and Address of Applicant Seaboard Foods, LLC

2801 Hurliman Rd.

Guymon, OK 73942

Owner of Property Where Facility Will Be Located

Seaboard Foods, LLC 2801 Hurliman Rd. Guymon, OK 73942

Legal Description

Smoky Hill River Basin

Receiving Water

E/2 of Section 12, NE/4 of Section 13 T16S, R40W and W/2 of Section 07, N/2 & SW/4 of Section 18, SE/4 of Section 19, NE/4 & S/2 of Section 20, SW/4 of Section 21, N/2 of Section 29 T16S, R39W Greeley County

Kansas Permit No. A-SHGL-H001 Federal Permit No. KS0100315

This is notification KDHE has received a complete permit application for modifications to the operation of a swine waste management facility capable of housing 198,000 head (79,200 animal units) of swine weighing more than 55 pounds each. The complete application can be viewed at the office of the Greeley County Clerk, the KDHE Southwest District Office in Dodge City, Kansas or the KDHE Main Office in Topeka, KS. A permit to operate the proposed modified swine waste management system will not be issued without additional public notice.

Public Notice No. KS-AG-21-117/122

Pending Permits for Confined Feeding Facilities

Name and Address of Applicant	Legal Description	Receiving Water
Seaboard Foods, LLC - Ladder Creek East Site Road D and Road 20 Tribune, KS 67879	E/2 of Section 12, NE/4 of Section 13 T16S, R40W and W/2 of Section 07, N/2 & SW/4 of Section 18, SE/4 of Section 19, NE/4 & S/2 of Section 20, SW/4 of Section 21, N/2 of Section 29 T16S, R39W Greeley County	Smoky Hill River Basin
Kansas Permit No. A-SH Federal Permit No. KS0		

The proposed action is to modify and reissue the existing State/NP-DES permit for a facility for a proposed maximum capacity of 198,000 head (79,200 animal units) of swine weighing more than 55 pounds. This represents a decrease in the permitted animal units from the previous permit. This permit is also being modified to reflect proposed changes to the existing waste management system. The proposed modifications are to modify eight (8) existing earthen wastewater retention structures to be utilized as covered anaerobic methane digesters to capture biogas for beneficial use, construct six (6) new earthen wastewater retention structures and use six (6) existing earthen wastewater retention structures. This facility has an approved Nutrient Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
Mazanec Cattle Company, LLC Cole Mazanec 1655 CR 15 Colby, KS 67701	NW/4 of Section 16 & NE/4 of Section 17 T085, R34W Thomas County	Upper Republican River Basin

Kansas Permit No. A-URTH-C004 Federal Permit No. KS0092461

The proposed action is to modify and reissue the existing NPDES permit for a facility with a maximum capacity of 4,850 head (4,850 animal units) of cattle weighing more than 700 pounds and 2,000 head (1,000 animal units) of cattle weighing less than 700 pounds for a total of 5,850 animal units. There is no change in the permitted number of animal units from the previous permit. This permit is also being modified to add approximately 6.2 acres of open lot pens that will drain to WSP 3 and increase the wastewater storage of WSP 3. This facility has an approved Nutrient Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
Fairleigh Feed Yard 7400 S. Falcon Rd. Scott City, KS 67871	All of Section 25 T19S, R34W and All of Section 30 T19S, R33W Scott County	Upper Arkansas River Basin
Kansas Permit No. A-U	ASC-C001	

Federal Permit No. KS0038059

The proposed action is to modify and reissue the existing State/NPDES permit for a facility for a proposed maximum capacity of 100,000 head (100,000 animal units) of cattle weighing greater than 700 pounds. This represents an increase in the permitted animal units from the previous permit. This permit is also being modified to increase the size of Area E and add an additional retention structure inter-connected to RS E Cell 1 (RS E Cell 2). The modified RS E Cell 1 and RS E Cell 2 will together contain runoff from expanding Area E. This facility has an approved Nutrient Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
Prairie Wind Heifer Development, LLC TJ McClure PO Box 98 Johnson, KS 67855	E/2 of Section 01 T28S, R41W and W/2 of Section 06 T28S, R40W Stanton County	Cimarron River Basin

Kansas Permit No. A-CIST-C008 Federal Permit No. KS0097390

The proposed action is to modify and reissue the existing NPDES permit for a facility for a proposed maximum capacity of 14,000 head (14,000 animal units) of cattle weighing greater than 700 pounds, and 5 head (10 animal units) of horses, for a total of 14,010 animal units. This represents an increase in the permitted animal units from the previous permit. This permit is also being modified to add additional pens, sediment basin, and retention control structure to the south side of the facility.

Name and Address of Applicant	Legal Description	Receiving Water
Mull Land and	S/2 & NW/4 of	Lower Arkansas
Cattle Feedlot, Inc.	Section 19	River Basin
23495 49th Ave.	T25S, R17W	
Haviland, KS 67059	Edwards County	

Kansas Permit No. A-ARED-C004

Federal Permit No. KS0097403

The proposed action is to reissue an existing NPDES permit for an existing facility for 3,000 head (3,000 animal units) of cattle weighing more than 700 pounds. There will be no change in the operation or permitted number of animal units from the previous permit. This facility has an approved Nutrient Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
Hilltop Hog & Grain 2526 E Rd. Baileyville, KS 66404	SE/4 of Section 34 & SW/4 of Section 35 T01S, R11E Nemaha County	Missouri River Basin

Kansas Permit No. A-MONM-S013

The proposed action is to reissue an existing state permit for an existing facility for 1,400 head (560 animal units) of swine more than 55 pounds, 1,160 head (116 animal units) of swine 55 pounds or less, and 150 head (150 animal units) of cattle more than 700 pounds, for a total of 826 animal units. There will be no change in the operation or permitted number of animal units from the previous permit. This facility has an approved Waste Management Plan on file with KDHE.

Public Notice No. KS-AG-R-22-008

Per Kansas Statutes Annotated 65-171d, the following registration has been received for a proposed facility:

Name and Address of Registrant	Legal Description	County
Austin Stallbaumer 1549 F Rd. Centralia, KS 66415	NE/4 of SE/4 of Section 23 T03S, R11E	Nemaha

Public Notice No. KS-Q-22-044/046

The requirements of the draft permit public noticed below are pursuant to the Kansas Surface Water Quality Standards, K.A.R. 28-16-28(b-g), and Federal Surface Water Criteria.

Name and Address of Applicant	Receiving Stream	Type of Discharge
APAC Kansas PO Box 23910	Kansas River via Kill Creek via	Process Wastewater
Overland Park, KS 66283	Unnamed Tributary	

Kansas Permit No. I-KS20-PO01 Federal Permit No. KS0098957

Legal Description: SW1/4, S13, T14S, R22E, Johnson County, Kansas

Facility Name: Gardner Quarry

The proposed action is to reissue an existing State/NPDES permit for an existing facility. This facility is a limestone quarrying and crushing operation, with no rock washing. A majority of the site has been reclaimed and the quarry is inactive most of the time. However, rock will be quarried on demand. Outfalls 001A and 002A consist of stormwater runoff from the exposed quarry area, after the stormwater has been treated by an onsite pond. The proposed permit contains generic language to protect the waters of the state.

Name and Address of Applicant	Receiving Stream	Type of Discharge
Harshman Construction, LLC 1632 F P Rd. Cedar Point, KS 66843	Verdigris River via Fall River via Otter Creek via Tadpole Creek via Unnamed Tributary	Process Wastewater
	00 000	

Kansas Permit No. I-VE08-PO02 Federal Permit No. KS0098892

Legal Description: NW¼, SW¼, S3, T27S, R10E, Greenwood County, Kansas

Facility Name: Braden Quarry

The proposed action is to reissue an existing State/NPDES permit for an existing facility. This facility is a limestone quarrying and crushing operation with no washing. Outfall 001A consists of stormwater runoff and pit water that may leave the site after a heavy rain. The proposed permit contains generic language to protect the waters of the state.

Name and Address of Applicant	Receiving Stream	Type of Discharge
Mid-States Materials, LLC PO Box 236 Topeka, KS 66601	Verdigris River via Caney Creek via Shrader Branch Creek	Process Wastewater
Kansas Permit No. I-VI	E19-PO01	

Federal Permit No. KS0101168

Legal Description: NW1/4, S10, T31S, R8E, Elk County, Kansas

Facility Name: Grand Summit Quarry

The proposed action is to reissue an existing State/NPDES permit for an existing facility. This facility is a limestone quarrying and crushing operation with some rock washing. A portable asphalt plant is on-site but does not have a discharge, except for stormwater runoff. Outfall 001A consists of treated wash-water, stormwater, and some stockpile runoff, which is treated by Settling Pond (SP01). Outfall 002A consists of stormwater runoff from the asphalt plant, which is treated by Settling Pond (SP02).

Persons wishing to comment on or object to the draft documents and/or permit applications must submit their comments in writing to the Kansas Department of Health and Environment (KDHE) if they wish to have the comments or objections considered in the decision-making process. All written comments regarding the draft documents, application or registration notices received on or before June 11, 2022 will be considered in the formulation of the final determination regarding this public notice. Please refer to the appropriate Kansas document number (KS-AG-22-116/122, KS-AG-R-22-008, KS-Q-22-044/046) and name of the applicant/permittee when preparing comments.

All comments received will be responded to at the time the Secretary of Health and Environment issues a determination regarding final agency action on each draft document/application. If response to any draft document/application indicates significant public interest, a public hearing may be held in conformance with K.A.R. 28-16-61 (28-46-21 for UIC). A request for public hearing must be submitted in writing and shall state the nature of the issues proposed to be raised during the hearing.

Comments or objections for agricultural related draft documents, permit applications, registrations or actions should be submitted to the attention of Paige Drury, Livestock Waste Management Section at the KDHE, Bureau of Environmental Field Services (BEFS), 1000 SW Jackson, Suite 430, Topeka, KS 66612. Comments or objections for all other proposed permits or actions should be sent to Michael Beezhold at the KDHE, Bureau of Water, 1000 SW Jackson St., Suite 420, Topeka, KS 66612.

All draft documents/applications and the supporting information including any comments received are on file and may be inspected at the offices of the KDHE. For agricultural related draft documents or applications an appointment can be scheduled, or copies requested by contacting Mirina Landry at 1000 SW Jackson St., Suite 430, Topeka, KS 66612, telephone 785-296-0076 or email at kdhe.feedlots@ks.gov. For all other proposed permits or actions an appointment can be scheduled, or copies requested by contacting Christopher Zwiener, Bureau of Water, 1000 SW Jackson St., Suite 420, Topeka, KS 66612, telephone 785-296-3056 or email at Christopher.Zwiener@ ks.gov. These documents are available upon request at the copying cost assessed by KDHE. Application information and components of plans and specifications for all new and expanding swine facilities are available at http:// www.kdhe.ks.gov/livestock. Division of Environment offices are open from 8:00 a.m. to 5:00 p.m., Monday through Friday, excluding holidays.

> Janet Stanek Secretary

Doc. No. 050120

State of Kansas Department of Transportation

Notice to Consulting Firms

The Kansas Department of Transportation (KDOT) is seeking a qualified consulting firm or team of firms to perform professional services for the project(s) described in Table 1 below. Interested consultants must email a proposal to KDOT.DesignContracts@ks.gov by 12:00 p.m. (CDT) June 1, 2022, to be considered for selection.

Consultant Prequalification

Interested consulting firms must be prequalified by KDOT or otherwise demonstrate qualification in category 241 Construction Inspection and Testing.

If a firm is not currently prequalified by KDOT, a proposal may still be submitted. Firms not prequalified must also provide documentation that demonstrates the firm is qualified for each specified category listed in this notice for the project. Firms must use the KDOT prequalification form to provide this documentation. KDOT 1050 Prequalification Category Definitions (Blue Book) can be found at http://www.ksdot.org/descons.asp. Consultants may create a team to meet the prequalification requirements. All firms doing business with KDOT must be registered and in good standing under the laws of the State of Kansas at the time of contracting and must comply with applicable state and federal laws, rules, and regulations.

Table 1: Resource and Inspection Needs

Project Number	Resource and Inspection Needs
KA-3933-01	Project manager and inspectors as necessary to inspect: Grading, HMA roadway, bridge, seeding, erosion control, traffic control, CMS or AASH- TOWare data entry, all project records, all project paperwork, and final paperwork, etc.

Table 2: Project Summary

Project Number	Route and Scope	Project Location
KA-3933-01	K027–012 Bridge Replacement	Bridge #005 on K-27 located 1.29 miles north of the Chey- enne/Sherman County line

Anticipated Consultant Scope

KDOT anticipates the following to be included in the consultant's scope: Construction Inspection/Testing.

KA-3933-01 will be managed out of the KDOT office in Atwood, Kansas.

Anticipated Schedule and Key Dates

- 1. Proposals are due by or before 12:00 p.m. (CDT) June 1, 2022
- 2. Anticipated Start Date: October 1, 2022
- 3. Estimated Working Days: 175 days

Instructions for Proposal

- 1. No cost or pricing information shall be submitted with the proposal. Proposals including cost or pricing information will be considered non-responsive and withdrawn from further consideration.
- 2. The consultant's proposal must not exceed 4 pages total (including any cover letter, index, etc.). All pages shall be standard letter size (8.5" x 11"). Any page larger than standard letter size will be count as two or more pages depending on size.

- 3. A single PDF (2MB maximum size) of the proposal including all attachments must be emailed to KDOT.DesignContracts@ks.gov by the proposal due date and time.
- 4. The subject line of the email and the PDF file name must read:
 - a. "KA-3933-01 ConstInsp Br Rplcmt CN Co_ FIRM NAME"
- 5. The proposal must be accompanied by Special Attachments No. 8 ("Tax Clearance Certificate") and No. 10 ("Policy Regarding Sexual Harassment"). If you need a Tax Clearance Certificate, you can request one at https://www.ksrevenue.gov/taxclearance. html. Allow 2-3 business days for processing.
- 6. The outline in Table 3 below describes the expected proposal organization and content sections.
- 7. Table 4 lists the evaluation criteria and associated weights which will be used to make a selection.

Table 3: Proposal Content

Section	Description of Intent
Cover Letter	(No more than 1 page)
Project Approach	Describe how your firm will meet the fluctuating inspection needs of the project.
Approach to Quality Control	Describe methods or procedures your firm will use to provide all services with professional quality and technical accuracy.
Qualifications and Experience	For key personnel to be assigned to the project provide names, qualifications, education, training, and expertise. Identify their area(s) of responsibility and percent of their time dedicated to the project. List work for which you do not have in-house capability and name the firm you propose to subcontract with.
Past Performance	Describe team's past performance with respect to ability to meet project schedules; quality of work; and ability to control costs on similar transportation projects, especially those performed for KDOT. Include three references and contact information.
Familiarity with KDOT and Project Area	Describe team's familiarity with KDOT's inspection processes and standards. Describe familiarity with the project area and any identified special site conditions.

Table 4: Evaluation Factors

Evaluation Factor	Weight
The quality and completeness of the response	10%
Availability to respond to the work	20%
Qualifications and experience of project manager and other key project team members proposed for services	20%
Past performance history for similar projects/services for KDOT	20%
Understanding of the project area	10%
Understanding of KDOT contract administration and closeout procedures	20%

Contract Terms and Conditions

A standard KDOT agreement for engineering and technical services will be used for professional services projects. The following special attachments will need to be provided by the selected consultant and all subconsultants with the signed work order following negotiations and will become attachments to the contract.

- Special Attachment No. 8 ("Tax Clearance Certificate")
- Special Attachment No. 10 ("Policy Regarding Sexual Harassment")

Questions

All questions regarding this request for proposals shall be emailed to KDOT.DesignContracts@ks.gov.

Questions can be submitted until May 20, 2022; answers will be provided to all prequalified consultants on May 25, 2022.

> Marcia Turner, P.E., Contracts Manager Division of Engineering

Doc. No. 050129

State of Kansas

Department of Transportation

Notice to Consulting Firms

The Kansas Department of Transportation (KDOT) is seeking a qualified consulting firm or team of firms to perform professional services for the project(s) described in Table 1 below. Interested consultants must email a proposal to KDOT.DesignContracts@ks.gov by 12:00 p.m. (CDT) June 1, 2022, to be considered for selection.

Consultant Prequalification

Interested consulting firms must be prequalified by KDOT or otherwise demonstrate qualification in category 241 Construction Inspection and Testing.

If a firm is not currently prequalified by KDOT, a proposal may still be submitted. Firms not prequalified must also provide documentation that demonstrates the firm is qualified for each specified category listed in this notice for the project. Firms must use the KDOT prequalification form to provide this documentation. KDOT 1050 Prequalification Category Definitions (Blue Book) can be found at http://www.ksdot.org/descons. asp. Consultants may create a team to meet the prequalification requirements. All firms doing business with KDOT must be registered and in good standing under the laws of the State of Kansas at the time of contracting and must comply with applicable state and federal laws, rules, and regulations.

Table 1: Resource and Inspection Needs

Project Number	Resource and Inspection Needs
KA-3887-01	Project manager and inspectors as necessary to in- spect: Grading, Concrete, bridge, seeding, erosion control, traffic control, CMS or AASHTOWare data entry, all project records, all project paperwork, and final paperwork, etc.

Table 2: Project Summary

Project Number	Route and Scope	Project Location
KA-3887-01	K055–096 Bridge Replacement	Bridge #116 on K-55 located 7.63 miles east of US-81 in Sumner County

Anticipated Consultant Scope

KDOT anticipates the following to be included in the consultant's scope: Construction Inspection/Testing.

KA-3887-01 will be managed out of the KDOT office in Winfield, Kansas.

- 1. Proposals are due by or before 12:00 p.m. (CDT) June 1, 2022
- 2. Anticipated Start Date: July 1, 2022
- 3. Estimated Working Days: 210 days

Instructions for Proposal

- 1. No cost or pricing information shall be submitted with the proposal. Proposals including cost or pricing information will be considered non-responsive and withdrawn from further consideration.
- 2. The consultant's proposal must not exceed 4 pages total (including any cover letter, index, etc.). All pages shall be standard letter size (8.5" x 11"). Any page larger than standard letter size will be count as two or more pages depending on size.
- 3. A single PDF (2MB maximum size) of the proposal including all attachments must be emailed to KDOT.DesignContracts@ks.gov by the proposal due date and time.
- 4. The subject line of the email and the PDF file name must read:
 - a. "KA-3887-01 ConstInsp for Br Rplcmt CN Co_ FIRM NAME"
- 5. The proposal must be accompanied by Special Attachments No. 8 ("Tax Clearance Certificate") and No. 10 ("Policy Regarding Sexual Harassment"). If you need a Tax Clearance Certificate, you can request one at https://www.ksrevenue.gov/taxclearance. html. Allow 2-3 business days for processing.
- 6. The outline in Table 3 below describes the expected proposal organization and content sections.
- 7. Table 4 lists the evaluation criteria and associated weights which will be used to make a selection.

Table 3: Proposal Content

Section	Description of Intent
Cover Letter	(No more than 1 page)
Project Approach	Describe how your firm will meet the fluctuating inspection needs of the project.
Approach to Quality Control	Describe methods or procedures your firm will use to provide all services with professional quality and technical accuracy.
Qualifications and Experience	For key personnel to be assigned to the project provide names, qualifications, education, training, and expertise. Identify their area(s) of responsibility and percent of their time dedicated to the project. List work for which you do not have in-house capability and name the firm you propose to subcontract with.
Past Performance	Describe team's past performance with respect to ability to meet project schedules; quality of work; and ability to control costs on similar transportation projects, especially those performed for KDOT. Include three references and contact information.
Familiarity with KDOT and Project Area	Describe team's familiarity with KDOT's inspection processes and standards. Describe familiarity with the project area and any identified special site conditions.

Table 4: Evaluation Factors

Evaluation Factor	Weight
The quality and completeness of the response	10%

Availability to respond to the work	20%
Qualifications and experience of project manager and other key project team members proposed for services	20%
Past performance history for similar projects/services for KDOT	20%
Understanding of the project area	10%
Understanding of KDOT contract administration and closeout procedures	20%

Contract Terms and Conditions

A standard KDOT agreement for engineering and technical services will be used for professional services projects. The following special attachments will need to be provided by the selected consultant and all subconsultants with the signed work order following negotiations and will become attachments to the contract.

- Special Attachment No. 8 ("Tax Clearance Certificate")
- Special Attachment No. 10 ("Policy Regarding Sexual Harassment")

Questions

All questions regarding this request for proposals shall be emailed to KDOT.DesignContracts@ks.gov.

Questions can be submitted until May 20, 2022; answers will be provided to all prequalified consultants on May 25, 2022.

> Marcia Turner, P.E., Contracts Manager Division of Engineering

Doc. No. 050131

State of Kansas

Department of Transportation

Notice to Consulting Firms

The Kansas Department of Transportation (KDOT) is seeking a qualified consulting firm or team of firms to perform professional services for the project(s) described in Table 1 below. Interested consultants must email a proposal to KDOT.DesignContracts@ks.gov by 12:00 p.m. (CDT) June 1, 2022, to be considered for selection.

Consultant Prequalification

Interested consulting firms must be prequalified by KDOT or otherwise demonstrate qualification in category 241 Construction Inspection and Testing.

If a firm is not currently prequalified by KDOT, a proposal may still be submitted. Firms not prequalified must also provide documentation that demonstrates the firm is qualified for each specified category listed in this notice for the project. Firms must use the KDOT prequalification form to provide this documentation. KDOT 1050 Prequalification Category Definitions (Blue Book) can be found at http://www.ksdot.org/descons. asp. Consultants may create a team to meet the prequalification requirements. All firms doing business with KDOT must be registered and in good standing under the laws of the State of Kansas at the time of contracting and must comply with applicable state and federal laws, rules, and regulations.

Table 1: Resource and Inspection Needs

Project Number	Resource and Inspection Needs	
KA-6063-01	Project manager and inspectors as necessary to inspect: Grading, pavement patching, seeding, PCCP plant, erosion control, PCCP roadway, HMA commercial grade, pavement marking, guardrail, traffic control, CMS or AASHTOWare data entry, all project records, all project paperwork, and final paperwork, etc.	

Table 2: Project Summary

Project Number	Route and Scope	Project Location
KA-6063-01	I135–059 Pavement Replace- ment (mainline)	I-135 in McPherson County from the Harvey/McPherson County line north to 6.3 miles north of the Harvey/McPher- son County line

Anticipated Consultant Scope

KDOT anticipates the following to be included in the consultant's scope: Construction Inspection/Testing.

KA-6063-01 will be managed out of the KDOT office in Marion, Kansas.

Anticipated Schedule and Key Dates

- 1. Proposals are due by or before 12:00 p.m. (CDT) June 1, 2022
- 2. Anticipated Start Date: July 1, 2022
- 3. Anticipated Calendar Completion Date: October 27, 2023

Instructions for Proposal

- 1. No cost or pricing information shall be submitted with the proposal. Proposals including cost or pricing information will be considered non-responsive and withdrawn from further consideration.
- 2. The consultant's proposal must not exceed 4 pages total (including any cover letter, index, etc.). All pages shall be standard letter size $(8.5" \times 11")$. Any page larger than standard letter size will be count as two or more pages depending on size.
- 3. A single PDF (2MB maximum size) of the proposal including all attachments must be emailed to KDOT.DesignContracts@ks.gov by the proposal due date and time.
- 4. The subject line of the email and the PDF file name must read:
 - a. "KA-6063-01 ConstInsp Pvmt Recon McP Co_ FIRM NAME"
- 5. The proposal must be accompanied by Special Attachments No. 8 ("Tax Clearance Certificate") and No. 10 ("Policy Regarding Sexual Harassment"). If you need a Tax Clearance Certificate, you can request one at https://www.ksrevenue.gov/taxclearance. html. Allow 2-3 business days for processing.
- 6. The outline in Table 3 below describes the expected proposal organization and content sections.
- 7. Table 4 lists the evaluation criteria and associated weights which will be used to make a selection.

Table 3: Proposal Content

Section	Description of Intent	
Cover Letter	(No more than 1 page)	
Project Approach	Describe how your firm will meet the fluctuating inspection needs of the project.	

Section	Description of Intent	
Approach to Quality Control	Describe methods or procedures your firm will use to provide all services with professional quality and technical accuracy.	
Qualifications and Experience	For key personnel to be assigned to the project provide names, qualifications, education, training, and expertise. Identify their area(s) of responsibility and percent of their time dedicated to the project. List work for which you do not have in-house capability and name the firm you propose to subcontract with.	
Past Performance	Describe team's past performance with respect to ability to meet project schedules; quality of work; and ability to control costs on similar transportation projects, especially those performed for KDOT. Include three references and contact information.	
Familiarity with KDOT and Project Area	Describe team's familiarity with KDOT's inspection processes and standards. Describe familiarity with the project area and any identified special site conditions.	

Table 4: Evaluation Factors

Evaluation Factor	Weight
The quality and completeness of the response	10%
Availability to respond to the work	20%
Qualifications and experience of project manager and other key project team members proposed for services	20%
Past performance history for similar projects/services for KDOT	20%
Understanding of the project area	10%
Understanding of KDOT contract administration and closeout procedures	20%

Contract Terms and Conditions

A standard KDOT agreement for engineering and technical services will be used for professional services projects. The following special attachments will need to be provided by the selected consultant and all subconsultants with the signed work order following negotiations and will become attachments to the contract.

- Special Attachment No. 8 ("Tax Clearance Certificate")
- Special Attachment No. 10 ("Policy Regarding Sexual Harassment")

Questions

All questions regarding this request for proposals shall be emailed to KDOT.DesignContracts@ks.gov.

Questions can be submitted until May 20, 2022; answers will be provided to all prequalified consultants on May 25, 2022.

> Marcia Turner, P.E., Contracts Manager Division of Engineering

Doc. No. 050132

State of Kansas

Department of Transportation

Notice to Consulting Firms

The Kansas Department of Transportation (KDOT) is seeking a qualified consulting firm or team of firms to perform professional services for the project(s) described in Table 1 below. Interested consultants must email a proposal to KDOT.DesignContracts@ks.gov by 12:00 p.m. (CDT) June 1, 2022, to be considered for selection.

Consultant Prequalification

Interested consulting firms must be prequalified by KDOT or otherwise demonstrate qualification in category 241 Construction Inspection and Testing.

If a firm is not currently prequalified by KDOT, a proposal may still be submitted. Firms not prequalified must also provide documentation that demonstrates the firm is qualified for each specified category listed in this notice for the project. Firms must use the KDOT prequalification form to provide this documentation. KDOT 1050 Prequalification Category Definitions (Blue Book) can be found at http://www.ksdot.org/descons. asp. Consultants may create a team to meet the prequalification requirements. All firms doing business with KDOT must be registered and in good standing under the laws of the State of Kansas at the time of contracting and must comply with applicable state and federal laws, rules, and regulations.

Project Number	Resource and Inspection Needs	
KA-6371-01	Project manager and inspectors as necessary to inspect: HMA plant, HMA roadway, traffic control, CMS or AASHTOWare data entry, all project re- cords, all project paperwork, and final paperwork, etc.	

Table 2: Project Summary

Project Number	Route and Scope	Project Location
KA-6371-01	Multiple–011 1.5-inch cold mill, 1.5- inch overlay	KA-6409-01: US-69 in Cherokee County from the south city limits of Baxter Springs (Military Ave) to the north city limits of Baxter Springs. KA-6410-01: US-166 in Cherokee County from the west city limits of Baxter Springs (12th St) to the east city limits of Baxter Springs.

Anticipated Consultant Scope

KDOT anticipates the following to be included in the consultant's scope: Construction Inspection/Testing.

KA-6371-01 will be managed out of the KDOT office in Pittsburg, Kansas.

Anticipated Schedule and Key Dates

- 1. Proposals are due by or before 12:00 p.m. (CDT) June 1, 2022
- 2. Anticipated Start Date: August 1, 2022
- 3. Estimated Working Days: 35 days

Instructions for Proposal

- 1. No cost or pricing information shall be submitted with the proposal. Proposals including cost or pricing information will be considered non-responsive and withdrawn from further consideration.
- 2. The consultant's proposal must not exceed 4 pages total (including any cover letter, index, etc.). All pages shall be standard letter size $(8.5" \times 11")$. Any page larger than standard letter size will be count as two or more pages depending on size.
- 3. A single PDF (2MB maximum size) of the proposal including all attachments must be emailed to

KDOT.DesignContracts@ks.gov by the proposal due date and time.

- 4. The subject line of the email and the PDF file name must read:
 - a. "KA-6371-01–ConstInsp Resurf Cherokee Co_ FIRM NAME"
- 5. The proposal must be accompanied by Special Attachments No. 8 ("Tax Clearance Certificate") and No. 10 ("Policy Regarding Sexual Harassment"). If you need a Tax Clearance Certificate, you can request one at https://www.ksrevenue.gov/taxclearance. html. Allow 2-3 business days for processing.
- 6. The outline in Table 3 below describes the expected proposal organization and content sections.
- 7. Table 4 lists the evaluation criteria and associated weights which will be used to make a selection.

Table 3: Proposal C	ontent
---------------------	--------

Section	Description of Intent
Cover Letter	(No more than 1 page)
Project Approach	Describe how your firm will meet the fluctuating inspection needs of the project.
Approach to Quality Control	Describe methods or procedures your firm will use to provide all services with professional quality and technical accuracy.
Qualifications and Experience	For key personnel to be assigned to the project provide names, qualifications, education, training, and expertise. Identify their area(s) of responsibility and percent of their time dedicated to the project. List work for which you do not have in-house capability and name the firm you propose to subcontract with.
Past Performance	Describe team's past performance with respect to ability to meet project schedules; quality of work; and ability to control costs on similar transportation projects, especially those performed for KDOT. Include three references and contact information.
Familiarity with KDOT and Project Area	Describe team's familiarity with KDOT's inspection processes and standards. Describe familiarity with the project area and any identified special site conditions.

Table 4: Evaluation Factors

Evaluation Factor	Weight
The quality and completeness of the response	10%
Availability to respond to the work	20%
Qualifications and experience of project manager and other key project team members proposed for services	20%
Past performance history for similar projects/services for KDOT	20%
Understanding of the project area	10%
Understanding of KDOT contract administration and closeout procedures	20%

Contract Terms and Conditions

A standard KDOT agreement for engineering and technical services will be used for professional services projects. The following special attachments will need to be provided by the selected consultant and all subconsultants with the signed work order following negotiations and will become attachments to the contract.

- Special Attachment No. 8 ("Tax Clearance Certificate")
- Special Attachment No. 10 ("Policy Regarding Sexual Harassment")

Questions

All questions regarding this request for proposals shall be emailed to KDOT.DesignContracts@ks.gov.

Questions can be submitted until May 18, 2022; answers will be provided to all prequalified consultants on May 25, 2022.

> Marcia Turner, P.E., Contracts Manager Division of Engineering and Design

Doc. No. 050135

State of Kansas

Department of Transportation

Notice to Consulting Firms

The Kansas Department of Transportation (KDOT) is seeking a qualified consulting firm or team of firms to perform professional services for the project(s) described in Table 1 below. Interested consultants must email a proposal to KDOT.DesignContracts@ks.gov by 12:00 p.m. (CDT) June 1, 2022, to be considered for selection.

Consultant Prequalification

Interested consulting firms must be prequalified by KDOT or otherwise demonstrate qualification in category 241 Construction Inspection and Testing.

If a firm is not currently prequalified by KDOT, a proposal may still be submitted. Firms not prequalified must also provide documentation that demonstrates the firm is qualified for each specified category listed in this notice for the project. Firms must use the KDOT prequalification form to provide this documentation. KDOT 1050 Prequalification Category Definitions (Blue Book) can be found at http://www.ksdot.org/descons.asp. Consultants may create a team to meet the prequalification requirements. All firms doing business with KDOT must be registered and in good standing under the laws of the State of Kansas at the time of contracting and must comply with applicable state and federal laws, rules, and regulations.

Table 1: Resource and Inspection Needs

Project Number	Resource and Inspection Needs
KA-6319-01	Project manager and inspectors as necessary to inspect: HMA plant, HMA roadway, traffic control, CMS or AASHTOWare data entry, all project records, all project paperwork, and final paperwork, etc.

Table 2: Project Summary		
Project Number	Route and Scope	Project Location
KA-6319-01	U059–050 1-inch cold mill, 1-inch overlay, rumble strips on shoulders	US-59 in Labette County beginning at the Kansas/ Oklahoma state line to the north city limits of Oswego

Anticipated Consultant Scope

KDOT anticipates the following to be included in the consultant's scope: Construction Inspection/Testing.

KA-6319-01 will be managed out of the KDOT office in Pittsburg, Kansas.

Anticipated Schedule and Key Dates

1. Proposals are due by or before 12:00 p.m. (CDT) June 1, 2022

- 2. Anticipated Start Date: August 5, 2022
- 3. Estimated Working Days: 40 days

Instructions for Proposal

- 1. No cost or pricing information shall be submitted with the proposal. Proposals including cost or pricing information will be considered non-responsive and withdrawn from further consideration.
- 2. The consultant's proposal must not exceed 4 pages total (including any cover letter, index, etc.). All pages shall be standard letter size (8.5" x 11"). Any page larger than standard letter size will be count as two or more pages depending on size.
- 3. A single PDF (2MB maximum size) of the proposal including all attachments must be emailed to KDOT.DesignContracts@ks.gov by the proposal due date and time.
- 4. The subject line of the email and the PDF file name must read:
 - a. "KA-6319-01–ConstInsp Resurf Labette Co_ FIRM NAME"
- 5. The proposal must be accompanied by Special Attachments No. 8 ("Tax Clearance Certificate") and No. 10 ("Policy Regarding Sexual Harassment"). If you need a Tax Clearance Certificate, you can request one at https://www.ksrevenue.gov/taxclearance. html. Allow 2-3 business days for processing.
- 6. The outline in Table 3 below describes the expected proposal organization and content sections.
- 7. Table 4 lists the evaluation criteria and associated weights which will be used to make a selection.

Table 3: Proposal Content

Section	Description of Intent
Cover Letter	(No more than 1 page)
Project Approach	Describe how your firm will meet the fluctuating inspection needs of the project.
Approach to Quality Control	Describe methods or procedures your firm will use to provide all services with professional quality and technical accuracy.
Qualifications and Experience	For key personnel to be assigned to the project provide names, qualifications, education, training, and expertise. Identify their area(s) of responsibility and percent of their time dedicated to the project. List work for which you do not have in-house capability and name the firm you propose to subcontract with.
Past Performance	Describe team's past performance with respect to ability to meet project schedules; quality of work; and ability to control costs on similar transportation projects, especially those performed for KDOT. Include three references and contact information.
Familiarity with KDOT and Project Area	Describe team's familiarity with KDOT's inspection processes and standards. Describe familiarity with the project area and any identified special site conditions.

Table 4: Evaluation Factors

Evaluation Factor	Weight
The quality and completeness of the response	10%
Availability to respond to the work	
Qualifications and experience of project manager and other key project team members proposed for services	20%

Past performance history for similar projects/services for KDOT	
Understanding of the project area	
Understanding of KDOT contract administration and closeout procedures	

Contract Terms and Conditions

A standard KDOT agreement for engineering and technical services will be used for professional services projects. The following special attachments will need to be provided by the selected consultant and all subconsultants with the signed work order following negotiations and will become attachments to the contract.

- Special Attachment No. 8 ("Tax Clearance Certificate")
- Special Attachment No. 10 ("Policy Regarding Sexual Harassment")

Questions

All questions regarding this request for proposals shall be emailed to KDOT.DesignContracts@ks.gov.

Questions can be submitted until May 18, 2022; answers will be provided to all prequalified consultants on May 25, 2022.

> Marcia Turner, P.E., Contracts Manager Division of Engineering and Design

Doc. No. 050134

State of Kansas

Department of Transportation

Notice to Consulting Firms

The Kansas Department of Transportation (KDOT) is seeking a qualified consulting firm or team of firms to perform professional services for the project(s) described in Table 1 below. Interested consultants must email a proposal to KDOT.DesignContracts@ks.gov by 12:00 p.m. (CST) June 1, 2022, to be considered for selection.

Consultant Prequalification

Interested consulting firms must be prequalified by KDOT or otherwise demonstrate qualification in Category 241 Construction Inspection and Testing.

If a firm is not currently prequalified by KDOT, a proposal may still be submitted. Firms not prequalified must also provide documentation that demonstrates the firm is qualified for each specified category listed in this notice for the project. Firms must use the KDOT prequalification form to provide this documentation. KDOT 1050 Prequalification Category Definitions (Blue Book) can be found at http://www.ksdot.org/descons.asp. Consultants may create a team to meet the prequalification requirements. All firms doing business with KDOT must be registered and in good standing under the laws of the State of Kansas at the time of contracting and must comply with applicable state and federal laws, rules, and regulations.

Table 1: Background and Scope of Project

Project Number	Background and Scope of Project
KA-6398-01	Project manager and inspectors as necessary to inspect: HMA plant, HMA roadway, pavement marking, traffic control, CMS or AASHTOWare data entry, all project records, all project paper- work, and final paperwork, etc.

Table 2: Project Summary

Project Number	Route and Scope	Project Location
KA-6398-01	U050–056 3-inch overlay and	US-50 in Lyon County be- ginning at the Chase/Lyon
	rumble strips on cen- terline and shoulders	County line to junction Road E 5/US-50

Anticipated Consultant Scope

KDOT anticipates the following to be included in the consultant's scope: Construction Inspection/Testing.

This effort will be managed out of the KDOT office in Emporia, Kansas.

Anticipated Schedule and Key Dates

- 1. Proposals are due by or before 12:00 p.m. (CST) June 1, 2022
- 2. Anticipated Start Date: July 15, 2022
- 3. Estimated Working Days: 50 days

Instructions for Proposal

- 1. No cost or pricing information shall be submitted with the proposal. Proposals including cost or pricing information will be considered non-responsive and withdrawn from further consideration.
- 2. The consultant's proposal must not exceed 4 pages total (including any cover letter, index, etc.)
- 3. A PDF (2MB maximum size) of the proposal must be emailed to KDOT.DesignContracts@ks.gov by the proposal due date and time.
- 4. The subject line of the email and the PDF file name must read:
 - a. "KA-6398–ConstInsp Pvmt Resurf in Lyon Co_ FIRM NAME"
- 5. The proposal must be accompanied by Special Attachments No. 8 ("Tax Clearance Certificate") and No. 10 ("Policy Regarding Sexual Harassment"). If you need a Tax Clearance Certificate, you can request one at https://www.ksrevenue.gov/taxclearance. html. Allow 2-3 business days for processing.
- 6. The outline in Table 3 below describes the expected proposal organization and content sections.
- 7. Table 4 lists the evaluation criteria and associated weights which will be used to make a selection.

Table 3: Proposal	Content
-------------------	---------

Section	Description of Intent
Cover Letter	(no more than 1 page)
Project Approach	Describe how your firm will meet the fluctuating inspection needs of the project.
Approach to Quality Control	Describe methods or procedures your firm will use to provide all services with professional quality and technical accuracy.
Qualifications and Experience	For key personnel to be assigned to the project provide names, qualifications, education, training, and expertise. Identify their area(s) of responsibility and percent of their time dedicated to the project. List work for which you do not have in-house capability and name the firm you propose to subcontract with.
Past Performance	Describe team's past performance with respect to ability to meet project schedules; quality of work; and ability to control costs on similar transportation projects, especially those performed for KDOT. Include three references and contact information.

Familiarity with KDOT and Project Area	Describe team's familiarity with KDOT's inspection processes and standards. Describe familiarity with the project area and any identified special site conditions.
--	---

Table 4: Evaluation Factors

Evaluation Factor	Weight
The quality and completeness of the response	10%
Availability to respond to the work	20%
Qualifications and experience of project manager and other key project team members proposed for services	
Past performance history for similar projects/services for KDOT	
Understanding of the project area	
Understanding of KDOT contract administration and closeout procedures	

Contract Terms and Conditions

A standard KDOT agreement for engineering and technical services will be used for professional services projects. The following special attachments will need to be provided by the selected consultant and all subconsultants with the signed work order following negotiations and will become attachments to the contract.

- Special Attachment No. 8 ("Tax Clearance Certificate")
- Special Attachment No. 10 ("Policy Regarding Sexual Harassment")

Questions

All questions regarding this request for proposals shall be emailed to KDOT.DesignContracts@ks.gov.

Questions can be submitted until May 18, 2022; answers will be provided to all prequalified consultants on May 25, 2022.

> Marcia Turner, P.E., Contracts Manager Division of Engineering and Design

Doc. No. 050128

State of Kansas

Department of Transportation

Notice to Consulting Firms

The Kansas Department of Transportation (KDOT) is seeking a qualified consulting firm or team of firms to perform professional services for the project(s) described in Table 1 below. Interested consultants must email a proposal to KDOT.DesignContracts@ks.gov by 12:00 p.m. (CST) June 1, 2022, to be considered for selection.

Consultant Prequalification

Interested consulting firms must be prequalified by KDOT or otherwise demonstrate qualification in Category 241 Construction Inspection and Testing.

If a firm is not currently prequalified by KDOT, a proposal may still be submitted. Firms not prequalified must also provide documentation that demonstrates the firm is qualified for each specified category listed in this notice for the project. Firms must use the KDOT prequalification form to provide this documentation. KDOT 1050 Prequalification Category Definitions (Blue Book) can be found at http://www.ksdot.org/descons. asp. Consultants may create a team to meet the prequalification requirements. All firms doing business with (continued) KDOT must be registered and in good standing under the laws of the State of Kansas at the time of contracting and must comply with applicable state and federal laws, rules, and regulations.

Table 1: Background and Scope of Project

Project Number	Background and Scope of Project
KA-6221-01	Project manager and inspectors as necessary to inspect: HMA plant, HMA roadway, pavement marking, traffic control, CMS or AASHTOWare data entry, all project records, all project paper- work, and final paperwork, etc.

Table 2: Project Summary

Project Number	Route and Scope	Project Location
KA-6221-01	Multiple Routes–064 1.5-inch overlay, rum- ble strips and edge wedge on shoulders	K-177 in Morris County beginning at the north city limits of Council Grove to junction K-177/L Avenue. US-56 in Morris County be- ginning at the east city limits of Council Grove to the Morris/Lyon County line.

Anticipated Consultant Scope

KDOT anticipates the following to be included in the consultant's scope: Construction Inspection/Testing.

This effort will be managed out of the KDOT office in Marion, Kansas.

Anticipated Schedule and Key Dates

- 1. Proposals are due by or before 12:00 p.m. (CST) June 1, 2022
- 2. Anticipated Start Date: August 15, 2022
- 3. Estimated Working Days: 30 days

Instructions for Proposal

© Kansas Secretary of State 2022

- 1. No cost or pricing information shall be submitted with the proposal. Proposals including cost or pricing information will be considered non-responsive and withdrawn from further consideration.
- 2. The consultant's proposal must not exceed 4 pages total (including any cover letter, index, etc.)
- 3. A PDF (2MB maximum size) of the proposal must be emailed to KDOT.DesignContracts@ks.gov by the proposal due date and time.
- 4. The subject line of the email and the PDF file name must read:
 - a. "KA-6221–ConstInsp Pvmt Resurf in Morris Co_ FIRM NAME"
- 5. The proposal must be accompanied by Special Attachments No. 8 ("Tax Clearance Certificate") and No. 10 ("Policy Regarding Sexual Harassment"). If you need a Tax Clearance Certificate, you can request one at https://www.ksrevenue.gov/taxclearance. html. Allow 2-3 business days for processing.
- 6. The outline in Table 3 below describes the expected proposal organization and content sections.
- 7. Table 4 lists the evaluation criteria and associated weights which will be used to make a selection.

Table 3: Proposal Co	ntent
----------------------	-------

Section	Description of Intent	
Cover Letter	(no more than 1 page)	
Project Approach	Describe how your firm will meet the fluctuating inspection needs of the project.	

Vol. 41, No. 19, May 12, 2022

Approach to Quality Control	Describe methods or procedures your firm will use to provide all services with professional quality and technical accuracy.
Qualifications and Experience	For key personnel to be assigned to the project provide names, qualifications, education, training, and expertise. Identify their area(s) of responsibility and percent of their time dedicated to the project. List work for which you do not have in-house capability and name the firm you propose to subcontract with.
Past Performance	Describe team's past performance with respect to ability to meet project schedules; quality of work; and ability to control costs on similar transportation projects, especially those performed for KDOT. Include three references and contact information.
Familiarity with KDOT and Project Area	Describe team's familiarity with KDOT's inspection processes and standards. Describe familiarity with the project area and any identified special site conditions.

Table 4: Evaluation Factors

Evaluation Factor	Weight
The quality and completeness of the response	10%
Availability to respond to the work	20%
Qualifications and experience of project manager and other key project team members proposed for services	20%
Past performance history for similar projects/services for KDOT	
Understanding of the project area	10%
Understanding of KDOT contract administration and closeout procedures	20%

Contract Terms and Conditions

A standard KDOT agreement for engineering and technical services will be used for professional services projects. The following special attachments will need to be provided by the selected consultant and all subconsultants with the signed work order following negotiations and will become attachments to the contract.

- Special Attachment No. 8 ("Tax Clearance Certificate")
- Special Attachment No. 10 ("Policy Regarding Sexual Harassment")

Questions

All questions regarding this request for proposals shall be emailed to KDOT.DesignContracts@ks.gov.

Questions can be submitted until May 18, 2022; answers will be provided to all prequalified consultants on May 25, 2022.

> Marcia Turner, P.E., Contracts Manager Division of Engineering and Design

Doc. No. 050126

State of Kansas

Department of Transportation

Notice to Consulting Firms

The Kansas Department of Transportation (KDOT) is seeking a qualified consulting firm or team of firms to perform professional services for the project(s) described in Table 1 below. Interested consultants must email a proposal to KDOT.DesignContracts@ks.gov by 12:00 p.m. (CST) June 1, 2022, to be considered for selection.

Consultant Prequalification

Interested consulting firms must be prequalified by KDOT or otherwise demonstrate qualification in Category 241 Construction Inspection and Testing.

If a firm is not currently prequalified by KDOT, a proposal may still be submitted. Firms not prequalified must also provide documentation that demonstrates the firm is qualified for each specified category listed in this notice for the project. Firms must use the KDOT prequalification form to provide this documentation. KDOT 1050 Prequalification Category Definitions (Blue Book) can be found at http://www.ksdot.org/descons. asp. Consultants may create a team to meet the prequalification requirements. All firms doing business with KDOT must be registered and in good standing under the laws of the State of Kansas at the time of contracting and must comply with applicable state and federal laws, rules, and regulations.

Table 1: Background and Scope of Project

Project Number	Background and Scope of Project	
KA-6395-01	Project manager and inspectors as necessary to inspect: HMA plant, HMA roadway, pavement marking, traffic control, CMS or AASHTOWare data entry, all project records, all project paper- work, and final paperwork, etc.	

Table 2: Project Summary

Project Number	Route and Scope	Project Location
KA-6395-01	U075–070 2-inch cold mill, 2-inch overlay	US-75 in Osage County beginning at junction K-68/US-75 to junction K-268/K-31/US-75

Anticipated Consultant Scope

KDOT anticipates the following to be included in the consultant's scope: Construction Inspection/Testing.

This effort will be managed out of the KDOT office in Emporia, Kansas.

Anticipated Schedule and Key Dates

- 1. Proposals are due by or before 12:00 p.m. (CST) June 1, 2022
- 2. Anticipated Start Date: July 5, 2022
- 3. Estimated Working Days: 35 days

Instructions for Proposal

- 1. No cost or pricing information shall be submitted with the proposal. Proposals including cost or pricing information will be considered non-responsive and withdrawn from further consideration.
- 2. The consultant's proposal must not exceed 4 pages total (including any cover letter, index, etc.)
- 3. A PDF (2MB maximum size) of the proposal must be emailed to KDOT.DesignContracts@ks.gov by the proposal due date and time.
- 4. The subject line of the email and the PDF file name must read:
 - a. "KA-6395–ConstInsp Pvmt Resurf in Osage_ FIRM NAME"
- 5. The proposal must be accompanied by Special Attachments No. 8 ("Tax Clearance Certificate") and No. 10 ("Policy Regarding Sexual Harassment"). If you need a Tax Clearance Certificate, you can request one at https://www.ksrevenue.gov/taxclearance. html. Allow 2-3 business days for processing.

- 6. The outline in Table 3 below describes the expected proposal organization and content sections.
- 7. Table 4 lists the evaluation criteria and associated weights which will be used to make a selection.

Table 3: Proposal Content		
Section	Section Description of Intent	
Cover Letter	(no more than 1 page)	
Project Approach	Describe how your firm will meet the fluctuating inspection needs of the project.	
Approach to Quality Control	Describe methods or procedures your firm will use to provide all services with professional quality and technical accuracy.	
Qualifications and Experience	For key personnel to be assigned to the project provide names, qualifications, education, training, and expertise. Identify their area(s) of responsibility and percent of their time dedicated to the project. List work for which you do not have in-house capability and name the firm you propose to subcontract with.	
Past Performance	Describe team's past performance with respect to ability to meet project schedules; quality of work; and ability to control costs on similar transportation projects, especially those performed for KDOT. Include three references and contact information.	
Familiarity with KDOT and Project Area	Describe team's familiarity with KDOT's inspection processes and standards. Describe familiarity with the project area and any identified special site conditions.	

Table 4: Evaluation Factors

Evaluation Factor	Weight
The quality and completeness of the response	10%
Availability to respond to the work	
Qualifications and experience of project manager and other key project team members proposed for services	20%
Past performance history for similar projects/services for KDOT	
Understanding of the project area	
Understanding of KDOT contract administration and closeout procedures	

Contract Terms and Conditions

A standard KDOT agreement for engineering and technical services will be used for professional services projects. The following special attachments will need to be provided by the selected consultant and all subconsultants with the signed work order following negotiations and will become attachments to the contract.

- Special Attachment No. 8 ("Tax Clearance Certificate")
- Special Attachment No. 10 ("Policy Regarding Sexual Harassment")

Questions

All questions regarding this request for proposals shall be emailed to KDOT.DesignContracts@ks.gov.

Questions can be submitted until May 18, 2022; answers will be provided to all prequalified consultants on May 25, 2022.

> Marcia Turner, P.E., Contracts Manager Division of Engineering and Design

Doc. No. 050127

State of Kansas

Department of Transportation

Notice to Consulting Firms

The Kansas Department of Transportation (KDOT) is seeking a qualified consulting firm or team of firms to perform professional services for the project(s) described in Table 1 below. Interested consultants must email a letter of interest to KDOT.DesignContracts@ks.gov by 12:00 p.m. (CDT) June 1, 2022, to be considered for selection.

Consultant Prequalification

Interested consulting firms must be prequalified by KDOT or otherwise demonstrate qualification in Category 241 Construction Inspection and Testing.

If a firm is not currently prequalified by KDOT, a proposal may still be submitted. Firms not prequalified must also provide documentation that demonstrates the firm is qualified for each specified category listed in this notice for the project. Firms must use the KDOT prequalification form to provide this documentation. KDOT 1050 Prequalification category definitions (Blue Book) can be found at http://www.ksdot.org/descons. asp. Consultants may create a team to meet the prequalification requirements. All firms doing business with KDOT must be registered and in good standing under the laws of the State of Kansas at the time of contracting and must comply with applicable state and federal laws, rules, and regulations.

Table 1: Background and Scope of Project

Project Number	Background and Scope of Project
KA-6227-01	Project manager and inspectors as necessary to inspect: HMA plant, HMA roadway, traffic control, CMS or AASHTOWare data entry, all project records, all project paperwork, and final paperwork, etc.

Table 2: Project Summary

Project Number	Route and Scope	Location
KA-6227-01	Multiple Routes-073 ¾-inch cold mill, 2-inch overlay and edge wedge on shoulders	Pawnee County: K-156: Hodgeman/Pawnee County line to the west city limits of Larned. K-264: State hospital to junction K-156/K-264.
		US-183: Junction K-156/ US-183 to the Pawnee/ Rush County line.

Anticipated Consultant Scope

KDOT anticipates the following to be included in the consultant's scope: Construction Inspection/Testing.

• Note: This project will be managed out of the KDOT office in Great Bend, Kansas. Project manager will be provided by KDOT. Plant inspection and supplemental staff are needed.

Anticipated Schedule and Key Dates

- 1. Proposals are due by or before 12:00 p.m. (CDT) June 1, 2022
- 2. Anticipated Start Dates and Estimated Working Days:
 - a. KA-6227-01:

- i. Starting August 8, 2022
- ii. Estimated Working Days: 60 days

Instructions for Proposal

- 1. No cost or pricing information shall be submitted with the proposal. Proposals including cost or pricing information will be considered non-responsive and withdrawn from further consideration.
- 2. The consultant's proposal must not exceed 4 pages total (including any cover letter, index, etc.)
- 3. A PDF (2MB maximum size) of the proposal must be emailed to KDOT.DesignContracts@ks.gov by the proposal due date and time.
- 4. The subject line of the email and the PDF file name must read:
 - a. "KA-6227-01–ConstInsp Resurf in Pawnee.r3_ FIRM NAME"
- 5. The proposal must be accompanied by Special Attachments No. 8 ("Tax Clearance Certificate") and No. 10 ("Policy Regarding Sexual Harassment"). If you need a Tax Clearance Certificate, you can request one at https://www.ksrevenue.gov/taxclearance. html. Allow 2-3 business days for processing.
- 6. The outline in Table 3 below describes the expected proposal organization and content sections.
- 7. Table 4 lists the evaluation criteria and associated weights which will be used to make a selection.

Section	Description of Intent	
Cover Letter	(no more than 1 page)	
Project Approach	Describe how your firm will meet the fluctuating inspection needs of the project.	
Approach to Quality Control	Describe methods or procedures your firm will use to provide all services with professional quality and technical accuracy.	
Qualifications and Experience	For key personnel to be assigned to the project provide names, qualifications, education, training, and expertise. Identify their area(s) of responsibility and percent of their time dedicated to the project. List work for which you do not have in-house capability and name the firm you propose to subcontract with.	
Past Performance	Describe team's past performance with respect to ability to meet project schedules; quality of work; and ability to control costs on similar transportation projects, especially those performed for KDOT. Include three references and contact information.	
Familiarity with KDOT and Project Area	Describe team's familiarity with KDOT's inspection processes and standards. Describe familiarity with the project area and any identified special site conditions.	

Table 3: Proposal Content

Table 4: Evaluation Factors

Evaluation Factor	Weight
The quality and completeness of the response	10%
Availability to respond to the work	20%
Qualifications and experience of project manager and other key project team members proposed for services	20%
Past performance history for similar projects/services for KDOT	20%
Understanding of the project area	10%

Notices

Kansas Register

Understanding of KDOT contract administration and closeout procedures 2	20%
---	-----

Contract Terms and Conditions

A standard KDOT agreement for engineering and technical services will be used for professional services projects. The following special attachments will need to be provided by the selected consultant and all subconsultants with the signed work order following negotiations and will become attachments to the contract.

- Special Attachment No. 8 ("Tax Clearance Certificate")
- Special Attachment No. 10 ("Policy Regarding Sexual Harassment")

Questions

All questions regarding this request for proposals shall be emailed to KDOT.DesignContracts@ks.gov.

Questions can be submitted until May 18, 2022; answers will be provided to all prequalified consultants on May 25, 2022.

> Marcia Turner, P.E., Contracts Manager Division of Engineering and Design

Doc. No. 050133

State of Kansas

Department of Transportation

Notice to Consulting Firms

The Kansas Department of Transportation (KDOT) is seeking a qualified consulting firm or team of firms to perform professional services for the project(s) described in Table 1 below. Interested consultants must email a proposal to KDOT.DesignContracts@ks.gov by 12:00 p.m. (CDT) June 1, 2022, to be considered for selection.

Consultant Prequalification

Interested consulting firms must be prequalified by KDOT or otherwise demonstrate qualification in category 241 Construction Inspection and Testing.

If a firm is not currently prequalified by KDOT, a proposal may still be submitted. Firms not prequalified must also provide documentation that demonstrates the firm is qualified for each specified category listed in this notice for the project. Firms must use the KDOT prequalification form to provide this documentation. KDOT 1050 Prequalification Category Definitions (Blue Book) can be found at http://www.ksdot.org/descons. asp. Consultants may create a team to meet the prequalification requirements. All firms doing business with KDOT must be registered and in good standing under the laws of the State of Kansas at the time of contracting and must comply with applicable state and federal laws, rules, and regulations.

Table 1: Resource and Inspection Needs

Project Number	Resource and Inspection Needs
KA-6244-01 and KA-6245-01	Project manager and inspectors as necessary to inspect: HMA plant, HMA roadway, traffic control, CMS or AASHTOWare data entry, all project records, all project paperwork, and final paperwork, etc.

Table 2: Project Summary

	,	-
Project Number	Route and Scope	Project Location
KA-6244-01	K004–089 0.5-inch cold mill, 1.5-inch overlay and edge wedge on shoulders	K-4 in Shawnee County beginning at the Wabaunsee/ Shawnee County line to Junction K-4/I-70
KA-6245-01	K030–099 1.5-inch cold mill and overlay	K-30 in Wabaunsee Coun- ty beginning at Junction K-30/I-70 to the city limits of Maple Hill

Anticipated Consultant Scope

KDOT anticipates the following to be included in the consultant's scope: Construction Inspection/Testing.

KA-6244-01 and KA-6245-01 will be managed out of the KDOT office in Topeka, Kansas.

KDOT has or plans to let these projects to the same contractor.

Anticipated Schedule and Key Dates

- 1. Proposals are due by or before 12:00 p.m. (CDT) June 1, 2022
- 2. Anticipated Start Date (for both): July 11, 2022
- 3. Estimated Working Days (for both): 55 days

Instructions for Proposal

- 1. No cost or pricing information shall be submitted with the proposal. Proposals including cost or pricing information will be considered non-responsive and withdrawn from further consideration.
- 2. The consultant's proposal must not exceed 4 pages total (including any cover letter, index, etc.). All pages shall be standard letter size (8.5" x 11"). Any page larger than standard letter size will be count as two or more pages depending on size.
- 3. A single PDF (2MB maximum size) of the proposal including all attachments must be emailed to KDOT.DesignContracts@ks.gov by the proposal due date and time.
- 4. The subject line of the email and the PDF file name must read:
 - a. "KA-6244,45-01 ConstInsp Resurf Multiple Cos_ FIRM NAME"
- 5. The proposal must be accompanied by Special Attachments No. 8 ("Tax Clearance Certificate") and No. 10 ("Policy Regarding Sexual Harassment"). If you need a Tax Clearance Certificate, you can request one at https://www.ksrevenue.gov/taxclearance. html. Allow 2-3 business days for processing.
- 6. The outline in Table 3 below describes the expected proposal organization and content sections.
- 7. Table 4 lists the evaluation criteria and associated weights which will be used to make a selection.

Section	Description of Intent
Cover Letter	(No more than 1 page)
Project Approach	Describe how your firm will meet the fluctuating inspection needs of the project.
Approach to Quality Control	Describe methods or procedures your firm will use to provide all services with professional quality and technical accuracy.

Table 3: Proposal Content

Section	Description of Intent
Qualifications and Experience	For key personnel to be assigned to the project provide names, qualifications, education, training, and expertise. Identify their area(s) of responsibility and percent of their time dedicated to the project. List work for which you do not have in-house capability and name the firm you propose to subcontract with.
Past Performance	Describe team's past performance with respect to ability to meet project schedules; quality of work; and ability to control costs on similar transportation projects, especially those performed for KDOT. Include three references and contact information.
Familiarity with KDOT and Project Area	Describe team's familiarity with KDOT's inspection processes and standards. Describe familiarity with the project area and any identified special site conditions.

Table 4: Evaluation Factors

Evaluation Factor	Weight
The quality and completeness of the response	10%
Availability to respond to the work	20%
Qualifications and experience of project manager and other key project team members proposed for services	20%
Past performance history for similar projects/services for KDOT	20%
Understanding of the project area	10%
Understanding of KDOT contract administration and closeout procedures	

Contract Terms and Conditions

A standard KDOT agreement for engineering and technical services will be used for professional services projects. The following special attachments will need to be provided by the selected consultant and all subconsultants with the signed work order following negotiations and will become attachments to the contract.

- Special Attachment No. 8 ("Tax Clearance Certificate")
- Special Attachment No. 10 ("Policy Regarding Sexual Harassment")

Questions

All questions regarding this request for proposals shall be emailed to KDOT.DesignContracts@ks.gov.

Questions can be submitted until May 20, 2022; answers will be provided to all prequalified consultants on May 25, 2022.

> Marcia Turner, P.E., Contracts Manager Division of Engineering

Doc. No. 050130

State of Kansas

Department of Transportation

Notice to Consulting Firms

The Kansas Department of Transportation (KDOT) is seeking a qualified consulting firm or team of firms to perform professional services for the project(s) described in Table 1 below. Interested consultants must email a proposal to KDOT.DesignContracts@ks.gov by 12:00 p.m. (CDT) May 25, 2022, to be considered for selection.

Consultant Prequalification

Interested consulting firms must be prequalified by KDOT or otherwise demonstrate qualification in all the following categories:

- 171 Environmental Documentation
- 211 Highway Design–Major Facility
- 221 Non-Standard Span Bridge Design
- 231 Traffic Control Analysis and Design
- 301 Land Surveying
- 302 Engineering Surveying
- 311 Geotechnical Engineering Services
- 321 Bridge Structural Analysis
- 336 Right of Way Services
- 401 Landscape Seeding and Erosion Control

If a firm is not currently prequalified by KDOT, a proposal may still be submitted. Firms not prequalified must also provide documentation that demonstrates the firm is qualified for each specified category listed in this notice for the project. Firms must use the KDOT prequalification form to provide this documentation. KDOT 1050 Prequalification Category Definitions (Blue Book) can be found at http://www.ksdot.org/descons.asp. Consultants may create a team to meet the prequalification requirements. All firms doing business with KDOT must be registered and in good standing under the laws of the State of Kansas at the time of contracting and must comply with applicable state and federal laws, rules and regulations.

Table 1: Background and Scope of Project

Project Number	Background and Scope of Project
KA-6472-01	The existing bridge had an emergency repair done under project 33-30 KA-6176-01 and has been determined to need replacement.

Table 2: Project Summary

	,	y	
Project Number	Route and Scope	Length (mi)	Project Termini
KA-6472-01	33-30 Roadway and Bridge Reconstruction	1.17	MP 5.24 to MP 6.41 (tie to south end of 33-30 KA- 3951-01)
Project Number		BR#, Structur ure Size and T	
KA-6472-01	Replace e Main Unit- 1 RBG	xisting BR#003 C- 4 Wide: Sp 73', 1 at 58'	

Anticipated Consultant Scope

KDOT anticipates the following may be included in the consultant's scope in this phase: Preliminary Design Services up to and including Field Check Plans; Pick up Survey Services; Right of Way Services.

Additional phases which may be added later (at the Secretary's discretion) may include Geotechnical Services Proposed Right of Way; Pavement Design Services; Environmental Documentation Preparation (Permitting); Final Design Services; Public Involvement Services; Break in Access Study; Traffic Engineering; Letting and Construction Phase Services; and 3D Electronic Deliverables Preparation.

Current expectations for consultant scope are detailed below. The scope included herein may not be all-inclusive. A scoping meeting will take place after consultant selection is made.

Project Management

- Develop and communicate Project Management Plan and Quality Assurance Plan
- Perform Quality Control Checks according to Quality Assurance Plan
- Provide electronic plan files compliant with KDOT Graphic Standards Manual, including CAD conformance checks and ControlCAD indexed DGN files with ProjectWise attributes
- Provide bi-annual construction cost estimates and at major project milestones

Environmental

- Subsequent phases may include:
 - Data gathering
 - Completing environmental data collecting and analysis
 - Submitting findings
 - Final permitting

Road Design

- Visit the project site location
- Develop plans to Materials and Research
- Develop plans to Utilities
- Building of the existing right of way
- Develop Preliminary Plans to Field Check
- Perform roadway geometric design, drainage design, and roadside safety analysis
- Coordination with the local government and KDOT Office
- Public Meetings

Survey and Right of Way

- Subsequent phases may include:
 - Visit the project site location
 - Establish and determine impacts to right of way and utilities.
 - Provide a full survey including structures in the existing right of way. The deliverables shall incorporate the full project including the roadway and bridge surveys and will be provided in the Kansas Regional Coordinate System.
 - Establish and determine impacts to right of way and utilities.
 - Based upon consultant's field survey data and historical KDOT project information, consultant shall establish and compile into a Right of Way strip map the positions and locations of the existing highway right of way and property lines for the ownership adjacent thereto. Consultant shall perform these activities using coordinate geometry and Bentley Open Site Designer.

Bridge Design

- Preliminary Bridge Design will be handled by KDOT, consultant will need to coordinate with KDOT Bridge Design for plan preparation
 - Subsequent phases may include:
 - Potential services after field check

Traffic Engineering

- Preliminary traffic engineering
- Subsequent phases may include:
 - Develop permanent signing and pavement marking plans

• Develop Traffic Control Plans

Anticipated Schedule and Key Dates

- 1. Proposals are due by or before 12:00 p.m. (CDT) May 25, 2022
- 2. The program fiscal year for this project is FY 2025 (July 2024–June 2025).
- 3. Other important dates:
 - a. PLNMR: October 18, 2022
 - b. FDCHK: April 24, 2023
 - c. PLROW: June 6, 2023
 - d. PLCOM: November 7, 2024

Instructions for Proposal

- 1. No cost or pricing information shall be submitted with the proposal. Proposals including cost or pricing information will be considered non-responsive and withdrawn from further consideration.
- 2. The consultant's proposal must not exceed 4 pages total (including any cover letter, index, etc.). All pages shall be standard letter size (8.5" x 11"). Any page larger than standard letter size will be count as two or more pages depending on size.
- 3. A single PDF (2MB maximum size) of the proposal including all attachments must be emailed to KDOT.DesignContracts@ks.gov by the proposal due date and time.
- 4. The subject line of the email and the PDF file name must read:
 - a. "KA-6472-01–Rd.Br.Recon K-33 in Franklin Co_ FIRM NAME"
- 5. The proposal must be accompanied by Special Attachments No. 8 ("Tax Clearance Certificate") and No. 10 ("Policy Regarding Sexual Harassment"). If you need a Tax Clearance Certificate, you can request one at https://www.ksrevenue.gov/taxclearance. html. Allow 2-3 business days for processing.
- 6. The outline in Table 3 below describes the expected proposal organization and content sections.
- 7. Table 4 lists the evaluation criteria and associated weights which will be used to make a selection.

Table 3: Proposal Content

Section	Description of Intent	
Cover Letter	1 page	
Project Approach	Demonstrate a unique approach to accomplish the design efficiently and to a high standard. Include cost-effective and optimized solutions to address the anticipated improvements in the design. Include unique qualifications or experience related to the project approach.	
Approach to Schedule	Describe the approach to accomplish the scope of services within the schedule requirements. Include anticipated key milestone dates and availability of staff.	
Approach to Quality Control	Describe methods or procedures your firm will use to provide all drawings, reports and other services with professional quality and technical accuracy.	
Qualifications and Experience	For key personnel to be assigned to the project provide names, office location, qualifications, education, training, and expertise. Identify their area(s) of responsibility and percent of their time dedicated to the project. List work for which you do not have in-house capability and name the firm you propose to subcontract with.	

Section	Description of Intent
Past Performance	Describe team's past performance with respect to ability to meet project schedules; quality of work; and ability to control costs on similar transportation projects, especially those performed for KDOT. Include three references and contact information.
Familiarity with KDOT and Project Area	Describe team's familiarity with KDOT's design process and standards. Describe familiarity with the project area and any identified special site conditions.

Table 4: Evaluation Factors

Evaluation Factor	Weight
Qualifications and experience of project manager and other key project team members proposed for services	20%
Project approach	30%
Approach and commitment to meet advertised schedule	20%
Past performance history for similar projects/services for KDOT	20%
Understanding of the project area	5%
Availability to respond to the work	5%

Contract Terms and Conditions

A standard KDOT agreement for engineering and technical services will be used for professional services projects. The following special attachments will need to be provided by the selected consultant and all subconsultants with the signed work order following negotiations and will become attachments to the contract.

- Special Attachment No. 8 ("Tax Clearance Certificate")
- Special Attachment No. 10 ("Policy Regarding Sexual Harassment")

Questions

All questions regarding this request for proposals shall be emailed to KDOT.DesignContracts@ks.gov.

Questions can be submitted until May 13, 2022; answers will be provided to all prequalified consultants on May 18, 2022.

> Marcia Turner, P.E., Contracts Manager Division of Engineering and Design

Doc. No. 050109

State of Kansas

Department of Transportation

Notice to Consulting Firms

The Kansas Department of Transportation (KDOT) is seeking a qualified consulting firm or team of firms to perform professional services for the project(s) described in Table 1 below. Interested consultants must email a proposal to KDOT.DesignContracts@ks.gov by 12:00 p.m. (CDT) May 25, 2022, to be considered for selection.

Consultant Prequalification

Interested consulting firms must be prequalified by KDOT or otherwise demonstrate qualification in all the following categories:

- 161 Corridor/Project Feasibility Studies
- 171 Environmental Documentation
- 201 Location and Design Concept Studies/Corridor Studies
- 211 Highway Design–Major Facility

- 222 Standard Span Bridge Design
- 231 Traffic Control Analysis and Design
- 301 Land Surveying
- 302 Engineering Surveying
- 311 Geotechnical Engineering Services
- 325 Hydraulic and Hydrologic Studies
- 331 Aerial Photogrammetry
- 336 Right of Way Services
- 401 Landscape Seeding and Erosion Control

If a firm is not currently prequalified by KDOT, a proposal may still be submitted. Firms not prequalified must also provide documentation that demonstrates the firm is qualified for each specified category listed in this notice for the project. Firms must use the KDOT prequalification form to provide this documentation. KDOT 1050 Prequalification Category Definitions (Blue Book) can be found at http://www.ksdot.org/descons. asp. Consultants may create a team to meet the prequalification requirements. All firms doing business with KDOT must be registered and in good standing under the laws of the State of Kansas at the time of contracting and must comply with applicable state and federal laws, rules, and regulations.

Table 1:	Background	and S	Scope o	f Proiect
rubic 1.	Duckground	und o	cope o	1110,000

Project Number	Background and Scope of Project
KA-6550-01	Roadway and bridge rehabilitation/reconstruction improvements on K-33 in Franklin and Douglas Counties.

Table 2: Project Summary

Project Number	Route and Scope	Length (mi)	Project Termini
KA-6550-01	33-106 Roadway Rehab/ Reconstruction	3.425	MP 7 to MP 10.4
Project Number	Structure BR#, Structure Scope, Structure Size and Type		
KA-6550-01	Rehabilitation and/or reconstruction of the following structures: 0030-B0065 RFB 2 at 14'; 0023-B0104 RFB 2 at 10'; and two "500 Series" structures: 0023-501 and 0023-503.		

Anticipated Consultant Scope

KDOT anticipates the following will be included in the consultant's scope in this initial phase: Planning Study Services (Including: NEPA EA/EIS); and Discovery Phase Services.

The selected consultant will need to gather and evaluate preliminary information. The NEPA boundary will be established, and Public Involvement will be conducted during the Discovery Phase.

Based funding needs identified and developed during the Discovery Phase, the consultant selected for this request for proposals may or may not be selected to continue providing service up through the Preliminary and/ or Final Design phases. Additional scope which may be added during later phases (at the Secretary's discretion) may include Surveying; Right of Way; Preliminary Design Services; Final Design Services; Pavement Design Services; Public Involvement Services; Geotechnical Engineering; Environmental Documentation Preparation

(Permitting); Letting and Construction Phase Services; and 3D Electronic Deliverables Preparation.

Current expectations for consultant scope are detailed below. The scope included herein may not be all-inclusive. A scoping meeting will take place after consultant selection is made.

Project Management

- Develop and communicate Project Management Plan and Quality Assurance Plan
- Perform quality control checks according to Quality Assurance Plan
- Provide electronic plan files compliant with KDOT Graphic Standards Manual, including CAD conformance checks and ControlCAD indexed DGN files with ProjectWise attributes
- Provide bi-annual construction cost estimates and at major project milestones

Environmental

- High-level data gathering
- Identify potential issues
- Subsequent phases may include:
 - Completing environmental data collecting and analysis
 - Submitting findings
 - Final permitting

Geotechnical

- Subsequent phases may include:
 - Soil investigations
 - Pavement field investigation and design
- Surfacing recommendations

Road Design

- Discovery Phase including NEPA (EA/EIS)
- Visit the project site location
- Subsequent phases may include:
 - Develop plans to Materials and Research
 - Building of the existing right of way
 - Develop Preliminary Plans to Field Check
 - Perform roadway geometric design, drainage design, and roadside safety analysis
 - Final Design

Survey and Right of Way

- LIDAR for preliminary location surveys
- Visit the project site location
- Subsequent phases may include:
 - Provide a full survey including structures in the existing right of way. The deliverables shall incorporate the full project including the roadway and bridge surveys and will be provided in the Kansas Regional Coordinate System.
 - Establish and determine impacts to right of way and utilities.
 - Based upon consultant's field survey data and historical KDOT project information, consultant shall establish and compile into a Right of Way strip map the positions and locations of the existing highway right of way and property lines for the ownership adjacent thereto. Consultant shall perform these activities using coordinate geometry and Bentley Open Site Designer.
 - Aerial Photogrammetry.

Bridge Design

- Discovery Phase
 - Subsequent phases may include:
 - Develop Preliminary Plans to Field Check
 - Perform hydraulic analysis and determine type, size, and location of proposed replacement structures
 - Final Design

Traffic Engineering

- Discovery Phase
- Subsequent phases may include:
 - Develop permanent signing and pavement marking plans
 - Develop Traffic Control Plans

Anticipated Schedule and Key Dates

- 1. Proposals are due by or before 12:00 p.m. (CDT) May 25, 2022
- 2. The program fiscal year for this project is FY 2026 (July 2025–June 2026)
- 3. Other important dates during Discovery Phase:
 - a. Bstdy: November 1, 2022
 - b. Draftrept: May 4, 2023
 - c. Estdy: May 19, 2023

Instructions for Proposal

- 1. No cost or pricing information shall be submitted with the proposal. Proposals including cost or pricing information will be considered non-responsive and withdrawn from further consideration.
- 2. The consultant's proposal must not exceed 4 pages total (including any cover letter, index, etc.). All pages shall be standard letter size $(8.5" \times 11")$. Any page larger than standard letter size will be count as two or more pages depending on size.
- 3. A single PDF (2MB maximum size) of the proposal including all attachments must be emailed to KDOT.DesignContracts@ks.gov by the proposal due date and time.
- 4. The subject line of the email and the PDF file name must read:
 - a. "KA-6550-01–Rd.Br. Rehab.Recon K-33 Mult Cos_FIRM NAME"
- 5. The proposal must be accompanied by Special Attachments No. 8 ("Tax Clearance Certificate") and No. 10 ("Policy Regarding Sexual Harassment"). If you need a Tax Clearance Certificate, you can request one at https://www.ksrevenue.gov/taxclearance. html. Allow 2-3 business days for processing.
- 6. The outline in Table 3 below describes the expected proposal organization and content sections.
- 7. Table 4 lists the evaluation criteria and associated weights which will be used to make a selection.

Table 3: Proposal Content

Section	Description of Intent
Cover Letter	1 page
Project Approach	Demonstrate a unique approach to accomplish the design efficiently and to a high standard. Include cost-effective and optimized solutions to address the anticipated improvements in the design. Include unique qualifications or experience related to the project approach.

Section	Description of Intent
Approach to Schedule	Describe the approach to accomplish the scope of services within the schedule requirements. Include anticipated key milestone dates and availability of staff.
Approach to Quality Control	Describe methods or procedures your firm will use to provide all drawings, reports and other services with professional quality and technical accuracy.
Qualifications and Experience	For key personnel to be assigned to the project provide names, office location, qualifications, education, training, and expertise. Identify their area(s) of responsibility and percent of their time dedicated to the project. List work for which you do not have in-house capability and name the firm you propose to subcontract with.
Past Performance	Describe team's past performance with respect to ability to meet project schedules; quality of work; and ability to control costs on similar transportation projects, especially those performed for KDOT. Include three references and contact information.
Familiarity with KDOT and Project Area	Describe team's familiarity with KDOT's design process and standards. Describe familiarity with the project area and any identified special site conditions.

Table 4: Evaluation Factors

Evaluation Factor	Weight
Qualifications and experience of project manager and other key project team members proposed for services	30%
Project approach	30%
Approach and commitment to meet advertised schedule	10%
Past performance history for similar projects/services for KDOT	20%
Understanding of the project area	5%
Availability to respond to the work	5%

Contract Terms and Conditions

A standard KDOT agreement for engineering and technical services will be used for professional services projects. The following special attachments will need to be provided by the selected consultant and all subconsultants with the signed work order following negotiations and will become attachments to the contract.

- Special Attachment No. 8 ("Tax Clearance Certificate")
- Special Attachment No. 10 ("Policy Regarding Sexual Harassment")

Questions

All questions regarding this request for proposals shall be emailed to KDOT.DesignContracts@ks.gov.

Questions can be submitted until May 13, 2022; answers will be provided to all prequalified consultants on May 18, 2022.

> Marcia Turner, P.E., Contracts Manager Division of Engineering and Design

Doc. No. 050108

State of Kansas

Department of Transportation

Request for Qualifications

The Kansas Department of Transportation (KDOT) will release a Request for Qualifications (RFQ) Thursday, April 28, 2022, for the US-54/US-400 – Sedgwick and But-

ler County progressive design-build project. The RFQ will be available at https://eastkellogg.ksdotike.org.

Prospective design-build teams must submit their Statement of Qualifications (SOQs) by 2:00 p.m. (CDT) Monday, July 11, 2022. The SOQ presents, in general terms, the design-build teams' qualifications for the project. KDOT will evaluate the SOQs and announce the shortlisted teams by Thursday, July 28, 2022.

KDOT will use a two-step process to select a design-build team. This RFQ to solicit SOQs is the first step KDOT will use to evaluate which teams are most qualified to successfully deliver the project. KDOT will shortlist up to four teams based on the SOQs. The second step, a Request for Proposals (RFP), is anticipated to be released by KDOT to the shortlisted teams Friday, July 29, 2022. It is anticipated that shortlisted teams will submit proposals Tuesday, September 20, 2022 for KDOT's evaluation and that KDOT will select a winning team Monday, October 10, 2022.

The US-54/US-400 – Sedgwick and Butler County project has received approval to move forward as Kansas' first progressive design-build project. The project will follow the existing alignment of US-54/US-400 from the intersection of K-96 to just east of the North 159th St. E. intersection and expand the existing facility to become a controlledaccess freeway facility with additional travel lanes, frontage roads, and a reconfigured K-96 interchange.

If you are interested in submitting a Statement of Qualifications, please examine the RFQ posted April 28, 2022 on the project website at https://eastkellogg.ksdotike.org. The project website also contains additional information about the project and the progressive design build delivery method.

If you have problems accessing the RFQ, please contact eastkellogg@ksdotike.org.

> Julie Lorenz Secretary

Doc. No. 050089

State of Kansas

Legislative Administrative Services

Legislative Bills and Resolutions Introduced

The following numbers and titles of bills and resolutions were introduced April 28 during the 2022 session of the Kansas Legislature. Full text of bills, bill tracking, and other information may be accessed at http://www. kslegislature.org/li/.

House Bills

HB 2749, AN ACT concerning economic development; relating to an income tax credit and sales tax exemption program to be administered by the secretary of commerce for the purpose of developing film, video or digital production in Kansas; enacting the Kansas film production industry development act; amending K.S.A. 2021 Supp. 79-3606, as amended by section 16 of 2022 Senate Bill No. 347, and repealing the existing section, by Committee on Taxation.

House Concurrent Resolutions

HCR 5037, A CONCURRENT RESOLUTION relating to the adjournment of the senate and house of representatives for a period of time during the 2022 regular session of the legislature, by Representatives Ryckman, Hawkins and Sawyer.

Senate Bills

SB 579, AN ACT concerning education; relating to scholarship programs; establishing the homegrown Kansas leadership scholarship program; providing scholarships for individuals seeking a teaching degree or master's degree in education, by Committee on Federal and State Affairs.

SB 580, AN ACT concerning education; relating to state educational institutions; requiring such institutions to establish an accelerated teacher training program, by Committee on Federal and State Affairs.

Doc. No. 050125

State of Kansas Kansas Development Finance Authority

Notice of Hearing

A public hearing will be conducted at 9:00 a.m. Tuesday, May 31, 2022, in the offices of the Kansas Development Finance Authority (KDFA), 534 S. Kansas Ave., Suite 800, Topeka, Kansas, on the proposal for the KDFA to issue its Agricultural Development Revenue Bonds for the projects numbered below in the respective maximum principal amounts. The bonds will be issued to assist the borrowers named below (who will be the owners and operators of the projects) to finance the cost in the amount of the bonds, which are then typically purchased by a lender bank who then, through the KDFA, loans the bond proceeds to the borrower for the purposes of acquiring the project. The projects shall be located as shown:

Project No. 001099 Maximum Principal Amount:

\$118,300. Owner/Operator: Kyle Bloom; Description: Acquisition of 80 acres of agricultural land and related improvements and equipment to be used by the owner/operator for farming purposes (the "Project"). The Project is being financed by the Lender for Kyle Bloom (the "Beginning Farmer") and is located at the West Half of the Northwest Quarter of Section 36, Harrison Township, Nemaha County, Kansas, approximately ½-mile east of Goff, Kansas on 56th and R Rd., and;

Project No. 001100 Maximum Principal Amount: \$110,900. Owner/Operator: Kenton M. and Kelsi M. Bloom; Description: Acquisition of 75 acres of agricultural land and related improvements and equipment to be used by the owner/operator for farming purposes (the "Project"). The Project is being financed by the Lender for Kenton M. and Kelsi M. Bloom (the "Beginning Farmer") and is located at the East Half of the Northwest Quarter of Section 36, Harrison Township, Nemaha County, Kansas, approximately ½-mile east of Goff, Kansas on 56th Rd and R Rd.

The bonds, when issued, will be a limited obligation of the KDFA and will not constitute a general obligation or indebtedness of the state of Kansas or any political subdivision thereof, including the KDFA, nor will they be an indebtedness for which the faith and credit and taxing powers of the state of Kansas are pledged. The bonds will be payable solely from amounts received from the respective borrower, the obligation of which will be sufficient to pay the principal of, interest and redemption premium, if any, on the bonds when they become due.

Interested individuals may participate in the public hearing in person or via conference call. Please call 415-655-0001 and use conference identification number 145 880 8929 followed by # to join the conference.

All individuals who appear at the hearing will be given an opportunity to express their views concerning the proposal to issue the bonds to finance the projects, and all written comments previously filed with the KDFA at its offices at 534 S. Kansas Ave., Suite 800, Topeka, KS 66603, will be considered. Additional information regarding the projects may be obtained by contacting the KDFA.

> Rebecca Floyd President

Doc. No. 050117

(Published in the Kansas Register May 12, 2022.)

City of Basehor, Kansas

Summary Notice of Bond Sale \$10,000,000* General Obligation Bonds, Series 2022-A

(General Obligation Bonds Payable from Unlimited Ad Valorem Taxes)

Bids

Subject to the Notice of Bond Sale dated April 27, 2022 (the "Notice"), electronic bids will be received on behalf of the Clerk of the City of Basehor, Kansas (the "Issuer") through PARITY[®] until 10:00 a.m. (CDT) May 25, 2022, for the purchase of the above-referenced bonds (the "Bonds"). No bid of less than 98.80% of the principal amount of the Bonds and accrued interest thereon to the date of delivery will be considered.

Bond Details

The Bonds will consist of fully registered bonds in the denomination of \$5,000 or any integral multiple thereof. The Bonds will be dated June 16, 2022, and will become due on September 1 in the years as follows:

Year	Principal Amount*	Year	Principal Amount*
2024	\$375,000	2034	\$495,000
2025	385,000	2035	510,000
2026	395,000	2036	530,000
2027	405,000	2037	545,000
2028	415,000	2038	565,000
2029	430,000	2039	580,000
2030	440,000	2040	600,000
2031	455,000	2041	620,000
2032	465,000	2042	645,000
2033	480,000	2042	665,000

The Bonds will bear interest from the date thereof at rates to be determined when the Bonds are sold as hereinafter provided, which interest will be payable semian-(continued) nually on March 1 and September 1 in each year, beginning on March 1, 2023.

Book-Entry-Only System

The Bonds shall be registered under a book-entry-only system administered through DTC.

Paying Agent and Bond Registrar

Treasurer of the State of Kansas, Topeka, Kansas.

Good Faith Deposit

Each bid shall be accompanied (in the manner set forth in the Notice) by a good faith deposit in the form of a cashier's or certified check drawn on a bank located in the United States of America or a wire transfer in Federal Reserve funds immediately available for use by the Issuer in the amount of \$200,000.

Delivery

The Issuer will pay for preparation of the Bonds and will deliver the same properly prepared, executed, and registered without cost to the successful bidder on or about June 16, 2022, to DTC for the account of the successful bidder.

Assessed Valuation and Indebtedness

The total assessed valuation of the taxable tangible property within the Issuer for the year 2021 is \$107,016,915. The total general obligation indebtedness of the Issuer as of the Dated Date, including the Bonds being sold, is \$19,935,000.

Approval of Bonds

The Bonds will be sold subject to the legal opinion of Gilmore & Bell, P.C., Wichita, Kansas, Bond Counsel to the Issuer, whose approving legal opinion as to the validity of the Bonds will be furnished and paid for by the Issuer, printed on the Bonds, and delivered to the successful bidder as and when the Bonds are delivered.

Additional Information

Additional information regarding the Bonds may be obtained from the undersigned, or from the Financial Advisor at the addresses set forth below:

Issuer – Address

City of Basehor, Kansas Attn: Katherine Renn, Clerk 2620 N. 155th St., Basehor, KS 66007 913-724-1370 Fax: 913-724-3388 krenn@cityofbasehor.org

Financial Advisor –Good Faith Deposit Delivery Address

Ehlers Municipal Advisors Attn: Bruce Kimmell 3060 Centre Point Dr. 651-694-8572 bkimmel@ehlers-inc.com

Dated April 27, 2022.

* Subject to change, see the Notice Doc. No. 050122

State of Kansas

Secretary of State

Certification of New State Laws

I, Scott Schwab, Secretary of State of the State of Kansas, do hereby certify that the following bill is a correct copy of the original enrolled bill now on file in my office.

> Scott Schwab Secretary of State

(Published in the Kansas Register May 12, 2022.)

Senate Bill No. 366

AN ACT concerning offender registration; relating to the Kansas offender registration act; providing a mechanism to seek relief from registration requirements for drug offenders; expungement for such offenses; requiring registration for certain violations of breach of privacy, internet trading in child pornography and aggravated internet trading in child pornography; amending K.S.A. 2021 Supp. 21-6614, 22-4902, 22-4906 and 22-4908 and repealing the existing sections.

Be it enacted by the Legislature of the State of Kansas:

Section 1. K.S.A. 2021 Supp. 21-6614 is hereby amended to read as follows: 21-6614. (a) (1) Except as provided in subsections (b), (c), (d), (e) and (f), any person convicted in this state of a traffic infraction, cigarette or tobacco infraction, misdemeanor or a class D or E felony, or for crimes committed on or after July 1, 1993, any nongrid felony or felony ranked in severity levels 6 through 10 of the nondrug grid, or for crimes committed on or after July 1, 1993, but prior to July 1, 2012, any felony ranked in severity level 4 of the drug grid, or for crimes committed on or after July 1, 1993, but prior to July 1, 2012, any felony ranked in severity level 4 of the drug grid, or for crimes committed on or after July 1, 2012, any felony ranked in severity level 5 of the drug grid may petition the convicting court for the expungement of such conviction or related arrest records if three or more years have elapsed since the person: (A) Satisfied the sentence imposed; or (B) was discharged from probation, a community correctional services program, parole, postrelease supervision, conditional release or a suspended sentence.

(2) Except as provided in subsections (b), (c), (d), (e) and (f), any person who has fulfilled the terms of a diversion agreement may petition the district court for the expungement of such diversion agreement and related arrest records if three or more years have elapsed since the terms of the diversion agreement were fulfilled.

(b) Any person convicted of prostitution, as defined in K.S.A. 21-3512, prior to its repeal, convicted of a violation of K.S.A. 2021 Supp. 21-6419, and amendments thereto, or who entered into a diversion agreement in lieu of further criminal proceedings for such violation, may petition the convicting court for the expungement of such conviction or diversion agreement and related arrest records if:

(1) One or more years have elapsed since the person satisfied the sentence imposed or the terms of a diversion agreement or was discharged from probation, a community correctional services program, parole, postrelease supervision, conditional release or a suspended sentence; and

(2) such person can prove they were acting under coercion caused by the act of another. For purposes of this subsection, "coercion" means: Threats of harm or physical restraint against any person; a scheme, plan or pattern intended to cause a person to believe that failure to perform an act would result in bodily harm or physical restraint against any person; or the abuse or threatened abuse of the legal process.

(c) Except as provided in subsections (e) and (f), no person may petition for expungement until five or more years have elapsed since the person satisfied the sentence imposed or the terms of a diversion agreement or was discharged from probation, a community correctional services program, parole, postrelease supervision, conditional release or a suspended sentence, if such person was convicted of a class A, B or C felony, or for crimes committed on or after July 1, 1993, if convicted of an off-grid felony or any felony ranked in severity levels 1 through 5 of the nondrug grid, or for crimes committed on or after July 1, 1993, but prior to July 1, 2012, any felony ranked in severity levels 1 through

Katherine Renn Clerk 3 of the drug grid, or for crimes committed on or after July 1, 2012, any felony ranked in severity levels 1 through 4 of the drug grid, or:

(1) Vehicular homicide, as defined in K.S.A. 21-3405, prior to its repeal, or K.S.A. 2021 Supp. 21-5406, and amendments thereto, or as prohibited by any law of another state that is in substantial conformity with that statute;

(2) driving while the privilege to operate a motor vehicle on the public highways of this state has been canceled, suspended or revoked, as prohibited by K.S.A. 8-262, and amendments thereto, or as prohibited by any law of another state that is in substantial conformity with that statute;

(3) perjury resulting from a violation of K.S.A. 8-261a, and amendments thereto, or resulting from the violation of a law of another state that is in substantial conformity with that statute;

(4) violating the provisions of K.S.A. 8-142 *Fifth*, and amendments thereto, relating to fraudulent applications or violating the provisions of a law of another state that is in substantial conformity with that statute;

(5) any crime punishable as a felony wherein a motor vehicle was used in the perpetration of such crime;

(6) failing to stop at the scene of an accident and perform the duties required by K.S.A. 8-1603, prior to its repeal, or K.S.A. 8-1602 or 8-1604, and amendments thereto, or required by a law of another state that is in substantial conformity with those statutes;

(7) violating the provisions of K.S.A. 40-3104, and amendments thereto, relating to motor vehicle liability insurance coverage; or

(8) a violation of K.S.A. 21-3405b, prior to its repeal.

(d) (1) No person may petition for expungement until five or more years have elapsed since the person satisfied the sentence imposed or the terms of a diversion agreement or was discharged from probation, a community correctional services program, parole, postrelease supervision, conditional release or a suspended sentence, if such person was convicted of a first violation of K.S.A. 8-1567, and amendments thereto, including any diversion for such violation.

(2) No person may petition for expungement until 10 or more years have elapsed since the person satisfied the sentence imposed or was discharged from probation, a community correctional services program, parole, postrelease supervision, conditional release or a suspended sentence, if such person was convicted of a second or subsequent violation of K.S.A. 8-1567, and amendments thereto.

(3) Except as provided further, the provisions of this subsection shall apply to all violations committed on or after July 1, 2006. The provisions of subsection (d)(2) shall not apply to violations committed on or after July 1, 2014, but prior to July 1, 2015.

(e) There shall be no expungement of convictions for the following offenses or of convictions for an attempt to commit any of the following offenses:

(1) Rape, as defined in K.S.A. 21-3502, prior to its repeal, or K.S.A. 2021 Supp. 21-5503, and amendments thereto;

(2) indecent liberties with a child or aggravated indecent liberties with a child, as defined in K.S.A. 21-3503 or 21-3504, prior to their repeal, or K.S.A. 2021 Supp. 21-5506, and amendments thereto;

(3) criminal sodomy, as defined in K.S.A. 21-3505(a)(2) or (a)(3), prior to its repeal, or K.S.A. 2021 Supp. 21-5504(a)(3) or (a)(4), and amendments thereto;

(4) aggravated criminal sodomy, as defined in K.S.A. 21-3506, prior to its repeal, or K.S.A. 2021 Supp. 21-5504, and amendments thereto;

(5) indecent solicitation of a child or aggravated indecent solicitation of a child, as defined in K.S.A. 21-3510 or 21-3511, prior to their repeal, or K.S.A. 2021 Supp. 21-5508, and amendments thereto;

(6) sexual exploitation of a child, as defined in K.S.A. 21-3516, prior to its repeal, or K.S.A. 2021 Supp. 21-5510, and amendments thereto;

(7) internet trading in child pornography or aggravated internet trading in child pornography, as defined in K.S.A. 2021 Supp. 21-5514, and amendments thereto;

(8) aggravated incest, as defined in K.S.A. 21-3603, prior to its repeal, or K.S.A. 2021 Supp. 21-5604, and amendments thereto;

(9) endangering a child or aggravated endangering a child, as defined in K.S.A. 21-3608 or 21-3608a, prior to their repeal, or K.S.A. 2021 Supp. 21-5601, and amendments thereto;

(10) abuse of a child, as defined in K.S.A. 21-3609, prior to its repeal, or K.S.A. 2021 Supp. 21-5602, and amendments thereto;

(11) capital murder, as defined in K.S.A. 21-3439, prior to its repeal, or K.S.A. 2021 Supp. 21-5401, and amendments thereto;

(12) murder in the first degree, as defined in K.S.A. 21-3401, prior to its repeal, or K.S.A. 2021 Supp. 21-5402, and amendments thereto;

(13) murder in the second degree, as defined in K.S.A. 21-3402, prior to its repeal, or K.S.A. 2021 Supp. 21-5403, and amendments thereto;

- (14) voluntary manslaughter, as defined in K.S.A. 21-3403, prior to its repeal, or K.S.A. 2021 Supp. 21-5404, and amendments thereto;
- (15) involuntary manslaughter, as defined in K.S.A. 21-3404, prior to its repeal, or K.S.A. 2021 Supp. 21-5405, and amendments thereto;
- (16) sexual battery, as defined in K.S.A. 21-3517, prior to its repeal, or K.S.A. 2021 Supp. 21-5505, and amendments thereto, when the vic-
- tim was less than 18 years of age at the time the crime was committed; (17) aggravated sexual battery, as defined in K.S.A. 21-3518, prior

to its repeal, or K.S.A. 2021 Supp. 21-5505, and amendments thereto; (18) a violation of K.S.A. 8-2,144, and amendments thereto, includ-

ing any diversion for such violation; or (19) any conviction for any offense in effect at any time prior to July

1, 2011, that is comparable to any offense as provided in this subsection. (f) Notwithstanding any other law to the contrary *Except as provided in K.S.A.* 22-4908, and amendments thereto, for any offender who is required to register as provided in the Kansas offender registration act, K.S.A. 22-4901 et seq., and amendments thereto, there shall be no expungement of any conviction or any part of the offender's criminal record while the offender is required to register as provided in the Kansas offender registration act.

(g) (1) When a petition for expungement is filed, the court shall set a date for a hearing of such petition and shall cause notice of such hearing to be given to the prosecutor and the arresting law enforcement agency. The petition shall state the:

(A) Defendant's full name;

(B) full name of the defendant at the time of arrest, conviction or diversion, if different than the defendant's current name;

- (C) defendant's sex, race and date of birth;
- (D) crime for which the defendant was arrested, convicted or diverted;
- (E) date of the defendant's arrest, conviction or diversion; and

(F) identity of the convicting court, arresting law enforcement authority or diverting authority.

(2) Except as otherwise provided by law, a petition for expungement shall be accompanied by a docket fee in the amount of \$176. On and after July 1, 2019, through June 30, 2025, the supreme court may impose a charge, not to exceed \$19 per case, to fund the costs of non-judicial personnel. The charge established in this section shall be the only fee collected or moneys in the nature of a fee collected for the case. Such charge shall only be established by an act of the legislature and no other authority is established by law or otherwise to collect a fee.

(3) All petitions for expungement shall be docketed in the original criminal action. Any person who may have relevant information about the petitioner may testify at the hearing. The court may inquire into the background of the petitioner and shall have access to any reports or records relating to the petitioner that are on file with the secretary of corrections or the prisoner review board.

(h) At the hearing on the petition, the court shall order the petitioner's arrest record, conviction or diversion expunged if the court finds that:

(1) The petitioner has not been convicted of a felony in the past two years and no proceeding involving any such crime is presently pending or being instituted against the petitioner;

(2) the circumstances and behavior of the petitioner warrant the expungement;

(3) the expungement is consistent with the public welfare; and

(4) with respect to petitions seeking expungement of a felony conviction, possession of a firearm by the petitioner is not likely to pose a threat to the safety of the public.

(i) When the court has ordered an arrest record, conviction or diversion expunged, the order of expungement shall state the information required to be contained in the petition. The clerk of the court shall send a certified copy of the order of expungement to the Kansas bureau of investigation that shall notify the federal bureau of investigation, the secretary of corrections and any other criminal justice agency that may have a record of the arrest, conviction or diversion. If the case was appealed from municipal court, the clerk of the district court shall send a certified copy of the order of expungement to the municipal court. The municipal court shall order the case expunged once the certified copy of the order of expungement is received. After the order of expungement is entered, the petitioner shall be treated as not having been arrested, convicted or diverted of the crime, except that:

(1) Upon conviction for any subsequent crime, the conviction that was expunged may be considered as a prior conviction in determining the sentence to be imposed;

(2) the petitioner shall disclose that the arrest, conviction or diversion occurred if asked about previous arrests, convictions or diversions:

(A) In any application for licensure as a private detective, private detective agency, certification as a firearms trainer pursuant to K.S.A. 75-7b21, and amendments thereto, or employment as a detective with a private detective agency, as defined by K.S.A. 75-7b01, and amendments thereto; as security personnel with a private patrol operator, as defined by K.S.A. 75-7b01, and amendments thereto; or with an institution, as defined in K.S.A. 76-12a01, and amendments thereto, of the Kansas department for aging and disability services;

(B) in any application for admission, or for an order of reinstatement, to the practice of law in this state;

(C) to aid in determining the petitioner's qualifications for employment with the Kansas lottery or for work in sensitive areas within the Kansas lottery as deemed appropriate by the executive director of the Kansas lottery;

(D) to aid in determining the petitioner's qualifications for executive director of the Kansas racing and gaming commission, for employment with the commission or for work in sensitive areas in parimutuel racing as deemed appropriate by the executive director of the commission, or to aid in determining qualifications for licensure or renewal of licensure by the commission;

(E) to aid in determining the petitioner's qualifications for the following under the Kansas expanded lottery act: (i) Lottery gaming facility manager or prospective manager, racetrack gaming facility manager or prospective manager, licensee or certificate holder; or (ii) an officer, director, employee, owner, agent or contractor thereof;

(F) upon application for a commercial driver's license under K.S.A. 8-2,125 through 8-2,142, and amendments thereto;

(G) to aid in determining the petitioner's qualifications to be an employee of the state gaming agency;

(H) to aid in determining the petitioner's qualifications to be an employee of a tribal gaming commission or to hold a license issued pursuant to a tribal-state gaming compact;

(I) in any application for registration as a broker-dealer, agent, investment adviser or investment adviser representative all as defined in K.S.A. 17-12a102, and amendments thereto;

(J) in any application for employment as a law enforcement officer as defined in K.S.A. 22-2202 or 74-5602, and amendments thereto; or

(K) to aid in determining the petitioner's qualifications for a license to act as a bail enforcement agent pursuant to K.S.A. 75-7e01 through 75-7e09, and amendments thereto, and K.S.A. 2021 Supp. 50-6,141, and amendments thereto;

(3) the court, in the order of expungement, may specify other circumstances under which the conviction is to be disclosed;

(4) the conviction may be disclosed in a subsequent prosecution for an offense that requires as an element of such offense a prior conviction of the type expunged; and

(5) upon commitment to the custody of the secretary of corrections, any previously expunged record in the possession of the secretary of corrections may be reinstated and the expungement disregarded, and the record continued for the purpose of the new commitment.

(j) Whenever a person is convicted of a crime, pleads guilty and pays a fine for a crime, is placed on parole, postrelease supervision or probation, is assigned to a community correctional services program, is granted a suspended sentence or is released on conditional release, the person shall be informed of the ability to expunge the arrest records or conviction. Whenever a person enters into a diversion agreement, the person shall be informed of the ability to expunge the diversion.

(k) (1) Subject to the disclosures required pursuant to subsection (i), in any application for employment, license or other civil right or privilege, or any appearance as a witness, a person whose arrest records, conviction or diversion of a crime has been expunged under this statute may state that such person has never been arrested, convicted or diverted of such crime.

(2) A person whose arrest record, conviction or diversion of a crime that resulted in such person being prohibited by state or federal law from possessing a firearm has been expunged under this statute shall be deemed to have had such person's right to keep and bear arms fully restored. This restoration of rights shall include, but not be limited to, the right to use, transport, receive, purchase, transfer and possess firearms. The provisions of this paragraph shall apply to all orders of expungement, including any orders issued prior to July 1, 2021.

(I) Whenever the record of any arrest, conviction or diversion has been expunged under the provisions of this section or under the provisions of any other existing or former statute, the custodian of the records of arrest, conviction, diversion and incarceration relating to that crime shall not disclose the existence of such records, except when requested by:

(1) The person whose record was expunged;

(2) a private detective agency or a private patrol operator, and the request is accompanied by a statement that the request is being made in conjunction with an application for employment with such agency or operator by the person whose record has been expunged;

(3) a court, upon a showing of a subsequent conviction of the person whose record has been expunged;

(4) the secretary for aging and disability services, or a designee of the secretary, for the purpose of obtaining information relating to employment in an institution, as defined in K.S.A. 76-12a01, and amendments thereto, of the Kansas department for aging and disability services of any person whose record has been expunged;

(5) a person entitled to such information pursuant to the terms of the expungement order;

(6) a prosecutor, and such request is accompanied by a statement that the request is being made in conjunction with a prosecution of an offense that requires a prior conviction as one of the elements of such offense;

(7) the supreme court, the clerk or disciplinary administrator thereof, the state board for admission of attorneys or the state board for discipline of attorneys, and the request is accompanied by a statement that the request is being made in conjunction with an application for admission, or for an order of reinstatement, to the practice of law in this state by the person whose record has been expunged;

(8) the Kansas lottery, and the request is accompanied by a statement that the request is being made to aid in determining qualifications for employment with the Kansas lottery or for work in sensitive areas within the Kansas lottery as deemed appropriate by the executive director of the Kansas lottery;

(9) the governor or the Kansas racing and gaming commission, or a designee of the commission, and the request is accompanied by a statement that the request is being made to aid in determining qualifications for executive director of the commission, for employment with the commission, for work in sensitive areas in parimutuel racing as deemed appropriate by the executive director of the commission or for licensure, renewal of licensure or continued licensure by the commission;

(10) the Kansas racing and gaming commission, or a designee of the commission, and the request is accompanied by a statement that the request is being made to aid in determining qualifications of the following under the Kansas expanded lottery act: (A) Lottery gaming facility managers and prospective managers, racetrack gaming facility managers and prospective managers, licensees and certificate holders; and (B) their officers, directors, employees, owners, agents and contractors;

(11) the Kansas sentencing commission;

(12) the state gaming agency, and the request is accompanied by a statement that the request is being made to aid in determining qualifications: (A) To be an employee of the state gaming agency; or (B) to be an employee of a tribal gaming commission or to hold a license issued pursuant to a tribal-gaming compact;

(13) the Kansas securities commissioner or a designee of the commissioner, and the request is accompanied by a statement that the request is being made in conjunction with an application for registration as a broker-dealer, agent, investment adviser or investment adviser representative by such agency and the application was submitted by the person whose record has been expunged;

(14) the Kansas commission on peace officers' standards and training and the request is accompanied by a statement that the request is being made to aid in determining certification eligibility as a law enforcement officer pursuant to K.S.A. 74-5601 et seq., and amendments thereto;

(15) a law enforcement agency and the request is accompanied by a statement that the request is being made to aid in determining eligibility for employment as a law enforcement officer as defined by K.S.A. 22-2202, and amendments thereto;

(16) (A) the attorney general and the request is accompanied by a statement that the request is being made to aid in determining qualifications for a license to act as a bail enforcement agent pursuant to K.S.A. 75-7e01 through 75-7e09, and amendments thereto, and K.S.A. 2021 Supp. 50-6,141, and amendments thereto; or

(B) the attorney general for any other purpose authorized by law, except that an expungement record shall not be the basis for denial of a license to carry a concealed handgun under the personal and family protection act; or

(17) the Kansas bureau of investigation, for the purpose of completing a person's criminal history record information within the central repository, in accordance with K.S.A. 22-4701 et seq., and amendments thereto.

(m) (1) The provisions of subsection (l)(17) shall apply to records created prior to, on and after July 1, 2011.

(2) Upon the issuance of an order of expungement that resulted in the restoration of a person's right to keep and bear arms, the Kansas bureau of investigation shall report to the federal bureau of investigation that such expunged record be withdrawn from the national instant criminal background check system. The Kansas bureau of investigation shall include such order of expungement in the person's criminal history record for purposes of documenting the restoration of such person's right to keep and bear arms.

Sec. 2. K.S.A. 2021 Supp. 22-4902 is hereby amended to read as follows: 22-4902. As used in the Kansas offender registration act, unless the context otherwise requires:

- (a) "Offender" means:
- (1) A sex offender;
- (2) a violent offender;
- (3) a drug offender;

(4) any person who has been required to register under out-of-state law or is otherwise required to be registered; and

(5) any person required by court order to register for an offense not otherwise required as provided in the Kansas offender registration act.

(b) "Sex offender" includes any person who:

(1) On or after April 14, 1994, is convicted of any sexually violent crime;

(2) on or after July 1, 2002, is adjudicated as a juvenile offender for an act which, if committed by an adult, would constitute the commission of a sexually violent crime, unless the court, on the record, finds that the act involved non-forcible sexual conduct, the victim was at least 14 years of age and the offender was not more than four years older than the victim;

(3) has been determined to be a sexually violent predator;

(4) on or after July 1, 1997, is convicted of any of the following crimes when one of the parties involved is less than 18 years of age:

(A) Adultery, as defined in K.S.A. 21-3507, prior to its repeal, or K.S.A. 2021 Supp. 21-5511, and amendments thereto;

(B) criminal sodomy, as defined in K.S.A. 21-3505(a)(1), prior to its repeal, or K.S.A. 2021 Supp. 21-5504(a)(1) or (a)(2), and amendments thereto;

(C) promoting prostitution, as defined in K.S.A. 21-3513, prior to its repeal, or K.S.A. 2021 Supp. 21-6420, prior to its amendment by section 17 of chapter 120 of the 2013 Session Laws of Kansas on July 1, 2013;

(D) patronizing a prostitute, as defined in K.S.A. 21-3515, prior to its repeal, or K.S.A. 2021 Supp. 21-6421, prior to its amendment by section 18 of chapter 120 of the 2013 Session Laws of Kansas on July 1, 2013; or

(E) lewd and lascivious behavior, as defined in K.S.A. 21-3508, prior to its repeal, or K.S.A. 2021 Supp. 21-5513, and amendments thereto;

(5) is convicted of sexual battery, as defined in K.S.A. 21-3517, prior to its repeal, or K.S.A. 2021 Supp. 21-5505(a), and amendments thereto;
(6) is convicted of sexual extortion, as defined in K.S.A. 2021 Supp.

(6) is convicted of sexual extortion, as defined in K.S.A. 2021 Supp. 21-5515, and amendments thereto;

(7) is convicted of breach of privacy, as defined in K.S.A. 2021 Supp. 21-6101(a)(6), (a)(7) or (a)(8), and amendments thereto;

(8) is convicted of an attempt, conspiracy or criminal solicitation, as defined in K.S.A. 21-3301, 21-3302 or 21-3303, prior to their repeal, or K.S.A. 2021 Supp. 21-5301, 21-5302, 21-5303, and amendments thereto, of an offense defined in this subsection; or

(8)(9) has been convicted of an offense that is comparable to any crime defined in this subsection, or any out-of-state conviction for an offense that under the laws of this state would be an offense defined in this subsection.

(c) "Sexually violent crime" means:

(1) Rape, as defined in K.S.A. 21-3502, prior to its repeal, or K.S.A. 2021 Supp. 21-5503, and amendments thereto;

(2) indecent liberties with a child, as defined in K.S.A. 21-3503, prior to its repeal, or K.S.A. 2021 Supp. 21-5506(a), and amendments thereto;

(3) aggravated indecent liberties with a child, as defined in K.S.A. 21-3504, prior to its repeal, or K.S.A. 2021 Supp. 21-5506(b), and amendments thereto;

(4) criminal sodomy, as defined in K.S.A. 21-3505(a)(2) or (a)(3),

prior to its repeal, or K.S.A. 2021 Supp. 21-5504(a)(3) or (a)(4), and amendments thereto;

(5) aggravated criminal sodomy, as defined in K.S.A. 21-3506, prior to its repeal, or K.S.A. 2021 Supp. 21-5504(b), and amendments thereto;

(6) indecent solicitation of a child, as defined in K.S.A. 21-3510, prior to its repeal, or K.S.A. 2021 Supp. 21-5508(a), and amendments thereto;

(7) aggravated indecent solicitation of a child, as defined in K.S.A. 21-3511, prior to its repeal, or K.S.A. 2021 Supp. 21-5508(b), and amendments thereto;

(8) sexual exploitation of a child, as defined in K.S.A. 21-3516, prior to its repeal, or K.S.A. 2021 Supp. 21-5510, and amendments thereto;

(9) aggravated sexual battery, as defined in K.S.A. 21-3518, prior to its repeal, or K.S.A. 2021 Supp. 21-5505(b), and amendments thereto;

(10) aggravated incest, as defined in K.S.A. 21-3603, prior to its repeal, or K.S.A. 2021 Supp. 21-5604(b), and amendments thereto;

(11) electronic solicitation, as defined in K.S.A. 21-3523, prior to its repeal, and K.S.A. 2021 Supp. 21-5509, and amendments thereto;

(12) unlawful sexual relations, as defined in K.S.A. 21-3520, prior to its repeal, or K.S.A. 2021 Supp. 21-5512, and amendments thereto;

(13) aggravated human trafficking, as defined in K.S.A. 21-3447, prior to its repeal, or K.S.A. 2021 Supp. 21-5426(b), and amendments thereto, if committed in whole or in part for the purpose of the sexual gratification of the defendant or another;

(14) commercial sexual exploitation of a child, as defined in K.S.A. 2021 Supp. 21-6422, and amendments thereto;

(15) promoting the sale of sexual relations, as defined in K.S.A. 2021 Supp. 21-6420, and amendments thereto;

(16) *internet trading in child pornography or aggravated internet trading in child pornography, as defined in K.S.A. 2021 Supp. 21-5514, and amend-ments thereto;*

(17) any conviction or adjudication for an offense that is comparable to a sexually violent crime as defined in this subsection, or any out-ofstate conviction or adjudication for an offense that under the laws of this state would be a sexually violent crime as defined in this subsection;

(17)(18) an attempt, conspiracy or criminal solicitation, as defined in K.S.A. 21-3301, 21-3302 or 21-3303, prior to their repeal, or K.S.A. 2021 Supp. 21-5301, 21-5302, 21-5303, and amendments thereto, of a sexually violent crime, as defined in this subsection; or

(18)(19) any act which *that* has been determined beyond a reasonable doubt to have been sexually motivated, unless the court, on the record, finds that the act involved non-forcible sexual conduct, the victim was at least 14 years of age and the offender was not more than four years older than the victim. As used in this paragraph, "sexually motivated" means that one of the purposes for which the defendant committed the crime was for the purpose of the defendant's sexual gratification.

(d) "Sexually violent predator" means any person who, on or after July 1, 2001, is found to be a sexually violent predator pursuant to K.S.A. 59-29a01 et seq., and amendments thereto.

(e) "Violent offender" includes any person who:

(1) On or after July 1, 1997, is convicted of any of the following crimes:

(A) Capital murder, as defined in K.S.A. 21-3439, prior to its repeal, or K.S.A. 2021 Supp. 21-5401, and amendments thereto;

(B) murder in the first degree, as defined in K.S.A. 21-3401, prior to its repeal, or K.S.A. 2021 Supp. 21-5402, and amendments thereto;

(C) murder in the second degree, as defined in K.S.A. 21-3402, prior to its repeal, or K.S.A. 2021 Supp. 21-5403, and amendments thereto;

(D) voluntary manslaughter, as defined in K.S.A. 21-3403, prior to its repeal, or K.S.A. 2021 Supp. 21-5404, and amendments thereto;

(E) involuntary manslaughter, as defined in K.S.A. 21-3404, prior to its repeal, or K.S.A. 2021 Supp. 21-5405(a)(1), (a)(2) or (a)(4), and amendments thereto. The provisions of this paragraph shall not apply to violations of K.S.A. 2021 Supp. 21-5405(a)(3), and amendments thereto, which *that* occurred on or after July 1, 2011, through July 1, 2013;

(F) kidnapping, as defined in K.S.A. 21-3420, prior to its repeal, or K.S.A. 2021 Supp. 21-5408(a), and amendments thereto;

(G) aggravated kidnapping, as defined in K.S.A. 21-3421, prior to its repeal, or K.S.A. 2021 Supp. 21-5408(b), and amendments thereto;

(H) criminal restraint, as defined in K.S.A. 21-3424, prior to its repeal, or K.S.A. 2021 Supp. 21-5411, and amendments thereto, except by a parent, and only when the victim is less than 18 years of age; or

(I) aggravated human trafficking, as defined in K.S.A. 21-3447, prior to its repeal, or K.S.A. 2021 Supp. 21-5426(b), and amendments there-*(continued)* to, if not committed in whole or in part for the purpose of the sexual gratification of the defendant or another;

(2) on or after July 1, 2006, is convicted of any person felony and the court makes a finding on the record that a deadly weapon was used in the commission of such person felony;

(3) has been convicted of an offense that is comparable to any crime defined in this subsection, any out-of-state conviction for an offense that under the laws of this state would be an offense defined in this subsection; or

(4) is convicted of an attempt, conspiracy or criminal solicitation, as defined in K.S.A. 21-3301, 21-3302 or 21-3303, prior to their repeal, or K.S.A. 2021 Supp. 21-5301, 21-5302 and 21-5303, and amendments thereto, of an offense defined in this subsection.

"Drug offender" includes any person who, on or after July 1, 2007: (f)

Is convicted of any of the following crimes:

(A) Unlawful manufacture or attempting such of any controlled substance or controlled substance analog, as defined in K.S.A. 65-4159, prior to its repeal, K.S.A. 2010 Supp. 21-36a03, prior to its transfer, or K.S.A. 2021 Supp. 21-5703, and amendments thereto;

(B) possession of ephedrine, pseudoephedrine, red phosphorus, lithium metal, sodium metal, iodine, anhydrous ammonia, pressurized ammonia or phenylpropanolamine, or their salts, isomers or salts of isomers with intent to use the product to manufacture a controlled substance, as defined in K.S.A. 65-7006(a), prior to its repeal, K.S.A. 2010 Supp. 21-36a09(a), prior to its transfer, or K.S.A. 2021 Supp. 21-5709(a), and amendments thereto:

(C) K.S.A. 65-4161, prior to its repeal, K.S.A. 2010 Supp. 21-36a05(a) (1), prior to its transfer, or K.S.A. 2021 Supp. 21-5705(a)(1), and amendments thereto. The provisions of this paragraph shall not apply to violations of K.S.A. 2010 Supp. 21-36a05(a)(2) through (a)(6) or (b) which that occurred on or after July 1, 2009, through April 15, 2010;

(2) has been convicted of an offense that is comparable to any crime defined in this subsection, any out-of-state conviction for an offense that under the laws of this state would be an offense defined in this subsection; or

(3) is or has been convicted of an attempt, conspiracy or criminal solicitation, as defined in K.S.A. 21-3301, 21-3302 or 21-3303, prior to their repeal, or K.S.A. 2021 Supp. 21-5301, 21-5302 and 21-5303, and amendments thereto, of an offense defined in this subsection.

(g) Convictions or adjudications which that result from or are connected with the same act, or result from crimes committed at the same time, shall be counted for the purpose of this section as one conviction or adjudication. Any conviction or adjudication set aside pursuant to law is not a conviction or adjudication for purposes of this section. A conviction or adjudication from any out-of-state court shall constitute a conviction or adjudication for purposes of this section.

(h) "School" means any public or private educational institution, including, but not limited to, postsecondary school, college, university, community college, secondary school, high school, junior high school, middle school, elementary school, trade school, vocational school or professional school providing training or education to an offender for three or more consecutive days or parts of days, or for 10 or more nonconsecutive days in a period of 30 consecutive days.

(i) "Employment" means any full-time, part-time, transient, day-labor employment or volunteer work, with or without compensation, for three or more consecutive days or parts of days, or for 10 or more nonconsecutive days in a period of 30 consecutive days.

(j) "Reside" means to stay, sleep or maintain with regularity or temporarily one's person and property in a particular place other than a location where the offender is incarcerated. It shall be presumed that an offender resides at any and all locations where the offender stays, sleeps or maintains the offender's person for three or more consecutive days or parts of days, or for ten or more nonconsecutive days in a period of 30 consecutive days.

(k) "Residence" means a particular and definable place where an individual resides. Nothing in the Kansas offender registration act shall be construed to state that an offender may only have one residence for the purpose of such act.

"Transient" means having no fixed or identifiable residence.

(m) "Law enforcement agency having initial jurisdiction" means the registering law enforcement agency of the county or location of jurisdiction where the offender expects to most often reside upon the offender's discharge, parole or release.

"Registering law enforcement agency" means the sheriff's of-(n) fice or tribal police department responsible for registering an offender.

"Registering entity" means any person, agency or other govern-(0)

mental unit, correctional facility or registering law enforcement agency responsible for obtaining the required information from, and explaining the required registration procedures to, any person required to register pursuant to the Kansas offender registration act. "Registering entity"-shall include includes, but is not be limited to, sheriff's offices, tribal police departments and correctional facilities.

(p) "Treatment facility" means any public or private facility or institution providing inpatient mental health, drug or alcohol treatment or counseling, but does not include a hospital, as defined in K.S.A. 65-425, and amendments thereto.

(q) "Correctional facility" means any public or private correctional

facility, juvenile detention facility, prison or jail. (r) "Out-of-state" means: the District of Columbia; any federal, military or tribal jurisdiction, including those within this state; any foreign jurisdiction; or any state or territory within the United States, other than this state.

(s) "Duration of registration" means the length of time during which an offender is required to register for a specified offense or violation.

(t) (1) Notwithstanding any other provision of this section, "offender" shall not include any person who is:

(A) Convicted of unlawful transmission of a visual depiction of a child, as defined in K.S.A. 2021 Supp. 21-5611(a), and amendments thereto, aggravated unlawful transmission of a visual depiction of a child, as defined in K.S.A. 2021 Supp. 21-5611(b), and amendments thereto, or unlawful possession of a visual depiction of a child, as defined in K.S.A. 2021 Supp. 21-5610, and amendments thereto;

(B) adjudicated as a juvenile offender for an act which, if committed by an adult, would constitute the commission of a crime defined in subsection (t)(1)(A);-or

(C) adjudicated as a juvenile offender for an act which, if committed by an adult, would constitute the commission of sexual extortion as defined in K.S.A. 2021 Supp. 21-5515, and amendments thereto; or

(D) adjudicated as a juvenile offender for an act which, if committed by an adult, would constitute a violation of K.S.A. 2021 Supp. 21-6101(a)(6), (a)(7) or (a)(8), and amendments thereto.

(2) Notwithstanding any other provision of law, a court shall not order any person to register under the Kansas offender registration act for the offenses described in subsection (t)(1).

Sec. 3. K.S.A. 2021 Supp. 22-4906 is hereby amended to read as follows: 22-4906. (a) (1) Except as provided in subsection (c), if convicted of any of the following offenses, an offender's duration of registration shall be, if confined, 15 years after the date of parole, discharge or release, whichever date is most recent, or, if not confined, 15 years from the date of conviction:

(A) Sexual battery, as defined in K.S.A. 21-3517, prior to its repeal, or K.S.A. 2021 Supp. 21-5505(a), and amendments thereto;

(B) adultery, as defined in K.S.A. 21-3507, prior to its repeal, or K.S.A. 2021 Supp. 21-5511, and amendments thereto, when one of the parties involved is less than 18 years of age;

(C) promoting the sale of sexual relations, as defined in K.S.A. 2021 Supp. 21-6420, and amendments thereto;

(D) patronizing a prostitute, as defined in K.S.A. 21-3515, prior to its repeal, or K.S.A. 2021 Supp. 21-6421, prior to its amendment by section 18 of chapter 120 of the 2013 Session Laws of Kansas on July 1, 2013, when one of the parties involved is less than 18 years of age;

(E) lewd and lascivious behavior, as defined in K.S.A. 21-3508, prior to its repeal, or K.S.A. 2021 Supp. 21-5513, and amendments thereto, when one of the parties involved is less than 18 years of age;

(F) capital murder, as defined in K.S.A. 21-3439, prior to its repeal, or K.S.A. 2021 Supp. 21-5401, and amendments thereto;

(G) murder in the first degree, as defined in K.S.A. 21-3401, prior to its repeal, or K.S.A. 2021 Supp. 21-5402, and amendments thereto;

(H) murder in the second degree, as defined in K.S.A. 21-3402, prior to its repeal, or K.S.A. 2021 Supp. 21-5403, and amendments thereto;

(I) voluntary manslaughter, as defined in K.S.A. 21-3403, prior to its repeal, or K.S.A. 2021 Supp. 21-5404, and amendments thereto;

(J) involuntary manslaughter, as defined in K.S.A. 21-3404, prior to its repeal, or K.S.A. 2021 Supp. 21-5405(a)(1), (a)(2) or (a)(4), and amendments thereto;

(K) criminal restraint, as defined in K.S.A. 21-3424, prior to its repeal, or K.S.A. 2021 Supp. 21-5411, and amendments thereto, except by a parent, and only when the victim is less than 18 years of age;

(L) sexual extortion, as defined in K.S.A. 2021 Supp. 21-5515, and amendments thereto, when one of the parties involved is less than 18 years of age;

(M) breach of privacy, as defined in K.S.A. 2021 Supp. 21-6101(a)(6), (a) (7) or (a)(8), and amendments thereto;

(*N*) any act which *that* has been determined beyond a reasonable doubt to have been sexually motivated, unless the court, on the record, finds that the act involved non-forcible sexual conduct, the victim was at least 14 years of age and the offender was not more than four years older than the victim;

(N)(O) conviction of any person required by court order to register for an offense not otherwise required as provided in the Kansas offender registration act;

 $(\widehat{O})(P)$ conviction of any person felony and the court makes a finding on the record that a deadly weapon was used in the commission of such person felony;

(P)(Q) unlawful manufacture or attempting such of any controlled substance or controlled substance analog, as defined in K.S.A. 65-4159, prior to its repeal, K.S.A. 2010 Supp. 21-36a03, prior to its transfer, or K.S.A. 2021 Supp. 21-5703, and amendments thereto;

 $(\mathbf{Q})(R)$ possession of ephedrine, pseudoephedrine, red phosphorus, lithium metal, sodium metal, iodine, anhydrous ammonia, pressurized ammonia or phenylpropanolamine, or their salts, isomers or salts of isomers with intent to use the product to manufacture a controlled substance, as defined by K.S.A. 65-7006(a), prior to its repeal, K.S.A. 2010 Supp. 21-36a09(a), prior to its transfer, or K.S.A. 2021 Supp. 21-5709(a), and amendments thereto;

(R)(S) K.S.A. 65-4161, prior to its repeal, K.S.A. 2010 Supp. 21-36a05(a)(1), prior to its transfer, or K.S.A. 2021 Supp. 21-5705(a)(1), and amendments thereto; or

 $\frac{(S)}{(T)}$ any attempt, conspiracy or criminal solicitation, as defined in K.S.A. 21-3301, 21-3302 or 21-3303, prior to their repeal, or K.S.A. 2021 Supp. 21-5301, 21-5302 and 21-5303, and amendments thereto, of an offense defined in this subsection.

(2) Except as otherwise provided by the Kansas offender registration act, the duration of registration terminates, if not confined, at the expiration of 15 years from the date of conviction. Any period of time during which any offender is incarcerated in any jail or correctional facility or during which the offender does not comply with any and all requirements of the Kansas offender registration act shall not count toward the duration of registration.

(b) (1) Except as provided in subsection (c), if convicted of any of the following offenses, an offender's duration of registration shall be, if confined, 25 years after the date of parole, discharge or release, whichever date is most recent, or, if not confined, 25 years from the date of conviction:

(A) Criminal sodomy, as defined in K.S.A. 21-3505(a)(1), prior to its repeal, or K.S.A. 2021 Supp. 21-5504(a)(1) or (a)(2), and amendments thereto, when one of the parties involved is less than 18 years of age;

(B) indecent solicitation of a child, as defined in K.S.A. 21-3510, prior to its repeal, or K.S.A. 2021 Supp. 21-5508(a), and amendments thereto;

(C) electronic solicitation, as defined in K.S.A. 21-3523, prior to its repeal, or K.S.A. 2021 Supp. 21-5509, and amendments thereto;

(D) aggravated incest, as defined in K.S.A. 21-3603, prior to its repeal, or K.S.A. 2021 Supp. 21-5604(b), and amendments thereto;

(E) indecent liberties with a child, as defined in K.S.A. 21-3503, prior to its repeal, or K.S.A. 2021 Supp. 21-5506(a), and amendments thereto;

(F) unlawful sexual relations, as defined in K.S.A. 21-3520, prior to its repeal, or K.S.A. 2021 Supp. 21-5512, and amendments thereto;

(G) sexual exploitation of a child, as defined in K.S.A. 21-3516, prior to its repeal, or K.S.A. 2021 Supp. 21-5510, and amendments thereto, if the victim is 14 or more years of age but less than 18 years of age;

(H) aggravated sexual battery, as defined in K.S.A. 21-3518, prior

to its repeal, or K.S.A. 2021 Supp. 21-5505(b), and amendments thereto; (I) *internet trading in child pornography, as defined in K.S.A.* 2021 Supp. 21-5514, and amendments thereto;

(J) aggravated internet trading in child pornography, as defined in K.S.A. 2021 Supp. 21-5514, and amendments thereto, if the victim is 14 or more years of age but less than 18 years of age;

(K) promoting prostitution, as defined in K.S.A. 21-3513, prior to its repeal, or K.S.A. 2021 Supp. 21-6420, prior to its amendment by section 17 of chapter 120 of the 2013 Session Laws of Kansas on July 1, 2013, if the person selling sexual relations is 14 or more years of age but less than 18 years of age; or

(J)(*L*) any attempt, conspiracy or criminal solicitation, as defined in K.S.A. 21-3301, 21-3302 or 21-3303, prior to their repeal, or K.S.A. 2021 Supp. 21-5301, 21-5302 and 21-5303, and amendments thereto, of an offense defined in this subsection.

(2) Except as otherwise provided by the Kansas offender registration act, the duration of registration terminates, if not confined, at the expiration of 25 years from the date of conviction. Any period of time during which any offender is incarcerated in any jail or correctional facility or during which the offender does not comply with any and all requirements of the Kansas offender registration act shall not count toward the duration of registration.

(c) Upon a second or subsequent conviction of an offense requiring registration, an offender's duration of registration shall be for such offender's lifetime.

(d) The duration of registration for any offender who has been convicted of any of the following offenses shall be for such offender's lifetime:

(1) Rape, as defined in K.S.A. 21-3502, prior to its repeal, or K.S.A. 2021 Supp. 21-5503, and amendments thereto;

(2) aggravated indecent solicitation of a child, as defined in K.S.A. 21-3511, prior to its repeal, or K.S.A. 2021 Supp. 21-5508(b), and amendments thereto;

(3) aggravated indecent liberties with a child, as defined in K.S.A. 21-3504, prior to its repeal, or K.S.A. 2021 Supp. 21-5506(b), and amendments thereto;

(4) criminal sodomy, as defined in K.S.A. 21-3505(a)(2) or (a)(3), prior to its repeal, or K.S.A. 2021 Supp. 21-5504(a)(3) or (a)(4), and amendments thereto;

(5) aggravated criminal sodomy, as defined in K.S.A. 21-3506, prior to its repeal, or K.S.A. 2021 Supp. 21-5504(b), and amendments thereto;

(6) aggravated human trafficking, as defined in K.S.A. 21-3447, prior to its repeal, or K.S.A. 2021 Supp. 21-5426(b), and amendments thereto;

(7) sexual exploitation of a child, as defined in K.S.A. 21-3516, prior to its repeal, or K.S.A. 2021 Supp. 21-5510, and amendments thereto, if the victim is less than 14 years of age;

(8) promoting prostitution, as defined in K.S.A. 21-3513, prior to its repeal, or K.S.A. 2021 Supp. 21-6420, prior to its amendment by section 17 of chapter 120 of the 2013 Session Laws of Kansas on July 1, 2013, if the person selling sexual relations is less than 14 years of age;

(9) kidnapping, as defined in K.S.A. 21-3420, prior to its repeal, or K.S.A. 2021 Supp. 21-5408(a), and amendments thereto;

(10) aggravated kidnapping, as defined in K.S.A. 21-3421, prior to its repeal, or K.S.A. 2021 Supp. 21-5408(b), and amendments thereto;

(11) aggravated internet trading in child pornography, as defined in K.S.A. 2021 Supp. 21-5514, and amendments thereto, if the victim is less than 14 years of age;

(12) commercial sexual exploitation of a child, as defined in K.S.A. 2021 Supp. 21-6422, and amendments thereto; or

(12)(13) any attempt, conspiracy or criminal solicitation, as defined in K.S.A. 21-3301, 21-3302 or 21-3303, prior to their repeal, or K.S.A. 2021 Supp. 21-5301, 21-5302 and 21-5303, and amendments thereto, of an offense defined in this subsection.

(e) Any person who has been declared a sexually violent predator pursuant to K.S.A. 59-29a01 et seq., and amendments thereto, shall register for such person's lifetime.

(f) Notwithstanding any other provisions of this section, for an offender less than 14 years of age who is adjudicated as a juvenile offender for an act which, if committed by an adult, would constitute a sexually violent crime set forth in K.S.A. 22-4902(c), and amendments thereto, the court shall:

(1) Require registration until such offender reaches 18 years of age, at the expiration of five years from the date of adjudication or, if confined, from release from confinement, whichever date occurs later. Any period of time during which the offender is incarcerated in any jail, juvenile facility or correctional facility or during which the offender does not comply with any and all requirements of the Kansas offender registration act shall not count toward the duration of registration;

(2) not require registration if the court, on the record, finds substantial and compelling reasons therefor; or

(3) require registration, but such registration information shall not be open to inspection by the public or posted on any internet website, as provided in K.S.A. 22-4909, and amendments thereto. If the court requires registration but such registration is not open to the public, such offender shall provide a copy of such court order to the registering law enforcement agency at the time of registration. The registering law enforcement agency shall forward a copy of such court order to the Kansas bureau of investigation.

If such offender violates a condition of release during the term of the conditional release, the court may require such offender to register pursuant to paragraph (1).

(g) Notwithstanding any other provisions of this section, for an offender 14 years of age or more who is adjudicated as a juvenile offender for an act which, if committed by an adult, would constitute a sexually violent crime set forth in K.S.A. 22-4902(c), and amendments thereto, and such crime is not an off-grid felony or a felony ranked in severity level 1 of the nondrug grid as provided in K.S.A. 21-4704, prior to its repeal, or K.S.A. 2021 Supp. 21-6804, and amendments thereto, the court shall:

(1) Require registration until such offender reaches 18 years of age, at the expiration of five years from the date of adjudication or, if confined, from release from confinement, whichever date occurs later. Any period of time during which the offender is incarcerated in any jail, juvenile facility or correctional facility or during which the offender does not comply with any and all requirements of the Kansas offender registration act shall not count toward the duration of registration;

(2) not require registration if the court, on the record, finds substantial and compelling reasons therefor; or

(3) require registration, but such registration information shall not be open to inspection by the public or posted on any internet website, as provided in K.S.A. 22-4909, and amendments thereto. If the court requires registration but such registration is not open to the public, such offender shall provide a copy of such court order to the registering law enforcement agency at the time of registration. The registering law enforcement agency shall forward a copy of such court order to the Kansas bureau of investigation.

If such offender violates a condition of release during the term of the conditional release, the court may require such offender to register pursuant to paragraph (1).

(h) Notwithstanding any other provisions of this section, an offender 14 years of age or more who is adjudicated as a juvenile offender for an act which, if committed by an adult, would constitute a sexually violent crime set forth in K.S.A. 22-4902(c), and amendments thereto, and such crime is an off-grid felony or a felony ranked in severity level 1 of the nondrug grid as provided in K.S.A. 21-4704, prior to its repeal, or K.S.A. 2021 Supp. 21-6804, and amendments thereto, shall be required to register for such offender's lifetime.

(i) Notwithstanding any other provision of law, if a diversionary agreement or probation order, either adult or juvenile, or a juvenile offender sentencing order, requires registration under the Kansas offender registration act for an offense that would not otherwise require registration as provided in K.S.A. 22-4902(a)(5), and amendments thereto, then all provisions of the Kansas offender registration act shall apply, except that the duration of registration shall be controlled by such diversionary agreement, probation order or juvenile offender sentencing order.

(j) The duration of registration does not terminate if the convicted or adjudicated offender again becomes liable to register as provided by the Kansas offender registration act during the required period of registration.

(k) For any person moving to Kansas who has been convicted or adjudicated in an out-of-state court, or who was required to register under an out-of-state law, the duration of registration shall be the length of time required by the out-of-state jurisdiction or by the Kansas of-fender registration act, whichever length of time is longer. The provisions of this subsection shall apply to convictions or adjudications prior to June 1, 2006, and to persons who moved to Kansas prior to June 1, 2006, and to convictions or adjudications on or after June 1, 2006, and to persons who moved to Kansas on or after June 1, 2006.

(I) For any person residing, maintaining employment or attending school in this state who has been convicted or adjudicated by an outof-state court of an offense that is comparable to any crime requiring registration pursuant to the Kansas offender registration act, but who was not required to register in the jurisdiction of conviction or adjudication, the duration of registration shall be the duration required for the comparable offense pursuant to the Kansas offender registration act.

Sec. 4. K.S.A. 2021 Supp. 22-4908 is hereby amended to read as follows: 22-4908. No person required to register as an offender pursuant to the Kansas offender registration act shall be granted an order relieving the offender of further registration under this act. This section shall include any person with any out-of-state conviction or adjudication for an offense that would require registration under the laws of this state (a) Except as provided in subsection (b), a drug offender who is required to register under the Kansas offender registration act may file a verified petition for relief from registration requirements if the offender has registered for a period of at least five years after the date of parole, discharge or release, whichever date is most recent, or, if not confined, five years from the date of conviction or adjudication.

(b) An offender who is required to register pursuant to K.S.A. 22-4906(k), and amendments thereto, because of an out-of-state conviction or adjudication may not petition for relief from registration requirements in this state if the offender would be required to register under the law of the state or jurisdiction where the conviction or adjudication occurred. If the offender would no longer be required to register under the law of the state or jurisdiction where the conviction or adjudication occurred, the offender may file a verified petition pursuant to subsection (a).

(c) Any period of time during which an offender is incarcerated in any jail or correctional facility or during which the offender does not substantially comply with the requirements of the Kansas offender registration act shall not count toward the duration of registration required in subsection (a).

(d) (1) A verified petition for relief from registration requirements shall be filed in the district court in the county where the offender was convicted or adjudicated of the offense requiring registration. If the offender was not convicted or adjudicated in this state of the offense requiring registration, such petition shall be filed in the district court of any county where the offender is currently required to register. The docket fee shall be as provided in K.S.A. 60-2001, and amendments thereto.

(2) The petition shall include:

(A) The offender's full name;

(B) the offender's full name at the time of conviction or adjudication for the offense or offenses requiring registration, if different than the offender's current name;

(*C*) the offender's sex, race and date of birth;

(D) the offense or offenses requiring registration;

(E) the date of conviction or adjudication for the offense or offenses requiring registration;

(F) the court in which the offender was convicted or adjudicated of the offense or offenses requiring registration;

(G) whether the offender has been arrested, convicted, adjudicated or entered into a diversion agreement for any crime during the period the offender is required to register; and

(H) the names of all treatment providers and agencies that have treated the offender for mental health, substance abuse and offense-related behavior since the date of the offense or offenses requiring registration.

(3) The judicial council shall develop a petition form for use under this section.

(4) When a petition is filed, the court shall set a date for a hearing on such petition and cause notice of the hearing to be given to the county or district attorney in the county where the petition is filed. Any person who may have relevant information about the offender may testify at the hearing.

(5) The county or district attorney shall notify any victim of the offense requiring registration who is alive and whose address is known or, if the victim is deceased, the victim's family if the family's address is known. The victim or victim's family shall not be compelled to testify or provide any discovery to the offender.

(6) The county or district attorney shall have access to all applicable records, including records that are otherwise confidential or privileged.

(e) (1) The court may require a drug offender who is petitioning for relief under this section to undergo a risk assessment.

(2) Any risk assessment ordered under this subsection shall be performed by a professional agreed upon by the parties or a professional approved by the court. Such risk assessment shall be performed at the offender's expense.

(f) The court shall order relief from registration requirements if the offender shows by clear and convincing evidence that:

(1) The offender has not been convicted or adjudicated of a felony, other than a felony violation or aggravated felony violation of K.S.A. 22-4903, and amendments thereto, within the five years immediately preceding the filing of the petition, and no proceedings involving any such felony are presently pending or being instituted against the offender;

(2) the offender's circumstances, behavior and treatment history demonstrate that the offender is sufficiently rehabilitated to warrant relief; and

(3) registration of the offender is no longer necessary to promote public safety.

(g) If the court denies an offender's petition for relief, the offender shall not file another petition for relief until three years have elapsed, unless a shorter time period is ordered by the court.

(h) If the court grants relief from registration requirements, the court shall order that the offender be removed from the offender registry and that the offender is no longer required to comply with registration requirements. With-

in 14 days of any order, the court shall notify the Kansas bureau of investigation and any local law enforcement agency that registers the offender that the offender has been granted relief from registration requirements. The Kansas bureau of investigation shall remove such offender from any internet website maintained pursuant to K.S.A. 22-4909, and amendments thereto.

(i) An offender may combine a petition for relief under this section with a petition for expungement under K.S.A. 2021 Supp. 21-6614, and amendments thereto, if the offense requiring registration is otherwise eligible for expungement.

Sec. 5. K.S.A. 2021 Supp. 21-6614, 22-4902, 22-4906 and 22-4908 are hereby repealed.

Sec. 6. This act shall take effect and be in force from and after its publication in the Kansas register.

Doc. No. 050137

State of Kansas

Office of the State Bank Commissioner

Permanent Administrative Regulation

Article 11.-DOCUMENTATION REQUIREMENTS

17-11-18. Loans; documentation requirements. (a) Except as specified in this subsection, each bank shall maintain complete and current credit information, not older than 15 months, for each borrower if the total amount of the following is greater than \$250,000:

(1) All loans made to the borrower; and

(2) all loans attributable to the borrower pursuant to K.S.A. 9-1104, and amendments thereto.

This subsection shall not apply if all loans made or attributable to the borrower are adequately secured.

(b)(1) Unless loan repayment is guaranteed by a governmental program or private insurance company, the following requirements shall apply:

(A) For each purchase-money real estate mortgage loan not greater than \$250,000, the bank shall maintain a written verification that a lien search of the records of the county register of deed's office was conducted and the bank's lien position was determined.

(B) For each purchase-money real estate mortgage loan greater than \$250,000, the bank shall obtain and maintain on file either an attorney's written title opinion or a title insurance policy.

(C) For each non-purchase-money real estate mortgage loan that is not greater than \$250,000, the bank shall meet one of the following requirements:

(i) Obtain and maintain on file an insurance policy fully insuring the bank against loss of the mortgage priority position;

(ii) obtain and maintain on file an attorney's written title opinion; or

(iii) obtain and maintain on file a title insurance policy.

(D) For each non-purchase-money real estate mortgage loan greater than \$250,000, the bank shall obtain and maintain on file an attorney's written title opinion or a title insurance policy.

(2) For purposes of this subsection, "non-purchasemoney real estate mortgage loan" shall mean a mortgage loan that does not finance or refinance the acquisition of real estate or the transfer of a deed.

(c) If the value of the improvements on any real estate is necessary for adequate protection of the loan, an insurance policy covering these improvements against fire and windstorm shall be on file with the bank for any loan greater than \$25,000.

(d) A real estate mortgage or deed of trust, showing the filing information with the county register of deeds, shall be on file with the bank for each loan collateralized by real estate.

(e) For any loan collateralized by personal property, if the bank is required by law to file a financing statement to perfect a security interest, the bank shall maintain a copy of the filed financing statement. In other cases, the bank shall maintain all documents related to the loan. (Authorized by K.S.A. 2021 Supp. 9-1713; implementing K.S.A. 2021 Supp. 9-1101, K.S.A. 2021 Supp. 9-1130, and K.S.A. 2021 Supp. 9-1713; effective Jan. 1, 1966; amended May 1, 1983; amended Jan. 27, 1992; amended Aug. 9, 1996; amended Jan. 18, 2002; amended May 30, 2003; amended May 3, 2013; amended July 11, 2014; amended May 27, 2022.)

> David L. Herndon Bank Commissioner

Doc. No. 050123

State of Kansas

Kansas Lottery

Temporary Administrative Regulations

Article 4.-INSTANT GAMES AND DRAWINGS

111-4-3708. "Electric 8s Super Ticket" instant ticket lottery game number 278. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Electric 8s Super Ticket." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3708.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
Symbol of an alarm	ALARM
Symbol of an ant	ANT
Symbol of an apple	APPLE
Symbol of an armored car	ARM CAR
Symbol of a bank	BANK
Symbol of a barn	BARN
Symbol of the beach	BEACH
Symbol of a dollar bill	BILL
Symbol of a bone	BONE
Symbol of a bow	BOW
Symbol of a piece of carpet	CARPET
Symbol of a cashier	CASHIER
Symbol of coins	COINS
Symbol of a crown	CROWN
Symbol of a dealer	DEALER
Symbol of a diamond	DIAMOND
Symbol of a dog house	DOG HOUSE
Symbol of a fence	FENCE
Symbol of fire	FIRE
Symbol of a fire extinguisher	FIRE EXT
	(continu

Kansas Register .

BUGLE

CAP

CAR

CARD

CAT

COIN

FAN

FISH

GAS

ICICLE

LEAF

ROCK

SHOE

SNOW

STAR

SUN

TREE

WIND

Symbol of a flower Symbol of a forest Symbol of a gem Symbol of eyeglasses Symbol of a glove Symbol of a gold bar Symbol of hay Symbol of a heart Symbol of a ladybug Symbol of a match Symbol of the moon Symbol of a necklace Symbol of a pail Symbol of a pearl Symbol of an ice pick Symbol of a piggybank Symbol of a pinecone Symbol of rain Symbol of a rainbow Symbol of a cash register Symbol of a ring Symbol of a safe Symbol of a sailboat Symbol of a shirt Symbol of a shovel Symbol of a slot machine Symbol of a thermometer Symbol of an umbrella Symbol of a volcano Symbol of a covered wagon Symbol of a wallet Symbol of a cup of water Symbol of a well Symbol of the number 8 Symbol of a moneybag Symbol of 5X Symbol of 10X

Prize Symbols	Captions
\$5 ^{.00}	FIVE\$
\$10.00	TEN\$
\$20.00	TWENTY
\$25.00	TWEN-FIV
\$50.00	FIFTY
\$100	HUNDRED
\$200	TWO-HUN
\$500	FIV-HUN
\$1,000	ONE-THO
\$80,000	EGHTY-THO

\$25, \$50 & \$100 Electric Spot Bonus

Play Symbols	Captions
Symbol of a bag	BAG
Symbol of a beach ball	BEACHBALL
Symbol of a bell	BELL

FLOWER FOREST GEM GLASSES **GLOVE** GOLD HAY HEART LADYBUG MATCH MOON NECKLACE PAIL PEARL PICK PIGGYBANK PINECONE RAIN RAINBOW REGISTER RING SAFE SAILBOAT SHIRT SHOVEL SLOTS THERMTR UMBRELLA VOLCANO WAGON WALLET WATER WELL WIN WIN\$100 WINX5 WINX10

Symbol of a bugle CACTUS Symbol of a cactus Symbol of a ball cap Symbol of a car Symbol of an ATM card Symbol of a cat Symbol of a coconut COCONUT COFFEE Symbol of a cup of coffee Symbol of a coin **ELEPHANT** Symbol of an elephant Symbol of a hand fan Symbol of a fish Symbol of a gas can Symbol of a guitar **GUITAR** Symbol of a horse HORSE Symbol of an icicle Symbol of a leaf Symbol of a parrot PARROT Symbol of a pot of gold POTGOLD Symbol of a rock Symbol of a horseshoe Symbol of snow Symbol of a star Symbol of the sun Symbol of sunscreen **SUNSCREEN** Symbol of treasure TREASURE Symbol of a tree Symbol of the wind Symbol of a wishbone **WISHBONE**

(c) For this game, a play/prize symbol shall appear in 96 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 029.

(e) The price of instant tickets sold by a retailer for this game shall be \$10.00 each.

(f) "Electric 8s Super Ticket" is a symbol match game with an instant reveal, eight bonus areas, and a multiplier feature. The player will scratch the play area to reveal 40 symbols with a prize amount to the side of each symbol. If the player reveals an "8" symbol, the player wins the prize amount shown to the side of that symbol. If the player reveals a "5X" symbol, the player wins five times the prize amount shown to the side of that symbol. If the player reveals a "10X" symbol, the player wins 10 times the prize amount shown to the side of that symbol. If the player reveals a "moneybag" symbol, the player wins \$100 instantly. The ticket will also have eight bonus play areas: three "\$25 BONUS," three "\$50 BONUS" and two "\$100 BONUS." The player will scratch all bonus areas. If the player reveals two matching symbols in the same bonus area, the player automatically wins the prize shown for that area.

(g) Each ticket in this game may win up to 48 times.

(h) Approximately 720,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 120,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

Kansas Register _

Prize Description		Prize	Winners Per 720,000	Prize Cost	(\$50 x 10) + (\$100 x 2) + (\$20 x 10) + (\$10 x 10)
\$10		\$10	24,000	\$240,000	\$25 x 40
\$5 x 2		\$10	72,000	\$720,000	\$80,000
\$20		\$20	12,000	\$240,000	(\$1,000 (5X) x 10) +
\$5 x 4		\$20	24,000	\$480,000	(\$500 (10X) x 4) +
(\$5 x 2) + \$10		\$20	24,000	\$480,000	(\$1,000 x 10)
\$10 x 2		\$20	12,000	\$240,000	PLAYER LOYALTY PROGRAM
\$25		\$25	6,000	\$150,000	TOTAL PRIZES
	\$25	\$25	6,000	\$150,000	(i) The odds of winning
\$5 x 5		\$25	6,000	\$150,000	(j) The odds of winning
(\$5 x 3) + \$10		\$25	6,000	\$150,000	proximately one in 3.42. (A
\$50		\$50	300	\$15,000	implementing K.S.A. 74-8
	\$50	\$50	1,200	\$60,000	T-111-3-14-22, March 9, 20
(\$10 x 2) + \$5	\$25	\$50	3,000	\$150,000	April 13, 2022.)
$(\$20 \times 2) + \10		\$50	1,200	\$60,000	1111-4-3709. "Hot 7s
. ,	\$25 x 2	\$50	3,000	\$150,000	
\$10 (5X)		\$50	2,100	\$105,000	lottery game number 242.
\$10 x 5		\$50	1,200	\$60,000	conduct an instant winner
\$100		\$100	300	\$30,000	Super Ticket." The rules for
• • •	\$100	\$100	600	\$60,000	K.A.R. 111-3-1 <i>et seq</i> . and 11
\$5 x 10	\$25 x 2	\$100	900	\$90,000	(b) The "play symbols,"
(\$20 x 2) + \$10	\$50	\$100	600	\$60,000	tions" for each "play area"
(\$20, \$2) * \$10	(\$25 x 2) +	φισσ	000	400,000	
	\$50	\$100	600	\$60,000	Play Symbols
\$10 (10X)	4	\$100	600	\$60,000	1
\$20 (5X)		\$100	600	\$60,000	2
\$10 x 10		\$100	600	\$60,000	3
\$200		\$200	60	\$12,000	
(\$20 x 2) + (\$10 x 4) +	(\$25 x 2)	ψ200	00	φ12,000	4
$(\$20 \times 2) + (\$10 \times 4) + (\$5 \times 4)$	+ \$50	\$200	180	\$36,000	5
\$50 + \$10 (5X)	\$50 x 2	\$200	120	\$24,000	6
\$5 x 20	\$100	\$200	180	\$36,000	8
φ0 X 20	(\$50 x 2)	φ200	100	400,000	9
\$10 x 5	$+(\$25 \times 2)$	\$200	180	\$36,000	10
\$5 (10X) + \$10 (5X) +	(+)	4-00		400/000	
(\$10 x 5)	\$50	\$200	120	\$24,000	11
\$5 x 40		\$200	120	\$24,000	12
\$10 (10X) + \$5 (5X)	\$25 + \$50	\$200	120	\$24,000	13
\$10 x 20	, . ,	\$200	120	\$24,000	14
\$500		\$500	12	\$6,000	15
$(100 + (50 \times 4) + (20 \times 5) +$,		, .,	16
(\$10 x 10)		\$500	60	\$30,000	10
(\$10 (5X) x 2) +				. ,	
$(\$5 (10X) \times 2) + (\$20 \times 5)$	\$100 x 2	\$500	78	\$39,000	Prize Symbols
	\$100 +				\$5 ^{.00}
(\$50 x 2) + (\$10 x 25)	(\$25 x 2)	\$500	120	\$60,000	\$10 ^{.00}
\$20 (10X) + (\$10 x 10) +					
(\$5 (5X) x 2)	50 + 100	\$500	120	\$60,000	\$20.00
(\$100 x 2) + \$20 (5X) +	\$50 +				\$30.00
(\$5 x 20)	(\$25 x 2)	\$500	120	\$60,000	\$50 ^{.00}
\$50 (10X)		\$500	60	\$30,000	\$100
\$100 (5X)		\$500	60	\$30,000	\$150
(\$10 x 30) + (\$20 x 10)		\$500	90	\$45,000	\$200
\$1,000		\$1,000	6	\$6,000	
$200 + (50 \times 6) + (20 \times 5) +$	(\$25 x 2)				\$300
(\$10 x 10) + \$20 (10X)	+ \$50	\$1,000	6	\$6,000	\$500
	(\$50 x 2)	da 07			\$1,000
\$50 (10X) + (\$20 x 10) +	· · · · · ·	\$1,000	6	\$6,000	\$10,000
\$50 (10X) + (\$20 x 10) + (\$5 (5X) x 4)	+ \$100	φ1,000			
(\$5 (5X) x 4)	+ \$100 (\$100 x 2) +	φ1,000			-
(\$5 (5X) x 4) (\$5 x 5) + (\$10 x 20) +	+ \$100 (\$100 x 2) + (\$50 x 3) +		10	¢12 000	\$250,000
(\$5 (5X) x 4) (\$5 x 5) + (\$10 x 20) + (\$20 x 5) + (\$25 x 10)	+ \$100 (\$100 x 2) +	\$1,000	12	\$12,000	\$250,000
$(\$5 (5X) \times 4)$ $(\$5 \times 5) + (\$10 \times 20) +$ $(\$20 \times 5) + (\$25 \times 10)$ $(\$50 \times 10) + (\$10 \times 20) +$	+ \$100 (\$100 x 2) + (\$50 x 3) + (\$25 x 3)	\$1,000			\$250,000 The SIZZLING HOT 7s pla
$(\$5 (5X) \times 4)$ $(\$5 \times 5) + (\$10 \times 20) +$ $(\$20 \times 5) + (\$25 \times 10)$ $(\$50 \times 10) + (\$10 \times 20) +$ $\$10 (10X) + \$20 (5X)$	+ \$100 (\$100 x 2) + (\$50 x 3) +			\$12,000 \$12,000	\$250,000 The SIZZLING HOT 7s pla tional play symbols and caj
$(\$5 (5X) \times 4)$ $(\$5 \times 5) + (\$10 \times 20) +$ $(\$20 \times 5) + (\$25 \times 10)$ $(\$50 \times 10) + (\$10 \times 20) +$ $\$10 (10X) + \$20 (5X)$ $\$10 (10X) + \$20 (10X) +$	+ \$100 (\$100 x 2) + (\$50 x 3) + (\$25 x 3)	\$1,000 \$1,000	12		\$250,000 The SIZZLING HOT 7s pla

\$1,000	6	\$6,000	
\$1,000	12	\$12,000	
\$80,000	1	\$80,000	
\$80,000	3	\$240,000	
		\$51,000	
	210,796	\$5,123,000	
	\$1,000 \$80,000	\$1,000 12 \$80,000 1 \$80,000 3	\$1,000 \$80,000 \$80,000 \$80,000 \$240,000 \$51,000

g a prize in this game are ap-Authorized by K.S.A. 74-8710; -8710 and 74-8720; effective, 2022; amended, T-111-4-27-22,

Super Ticket" instant ticket 2. (a) The Kansas lottery may r lottery game entitled "Hot 7s for this game are contained in 11-4-3709.

," "prize symbols" and "cap-' in this game are as follows:

Play Symbols	Captions
1	ONE
2	TWO
3	THREE
4	FOUR
5	FIVE
6	SIX
8	EIGHT
9	NINE
10	TEN
11	ELEVN
12	TWELV
13	THRTN
14	FORTN
15	FIFTN
16	SIXTN
Prize Symbols	Captions
\$5.00	FIVE\$
\$10.00	TEN\$
\$20 ^{.00}	TWENTY
\$30.00	THIRTY
\$50.00	FIFTY
\$100	HUNDRED
\$150	ONE-FTY
\$200	TWO-HUN
\$300	THR-HUN
\$500	FIV-HUN
\$1,000	ONE-THO
\$10,000	TEN-THO
\$250,000	250-THO

lay area shall have these addiaptions:

> Captions SEVTN

(continued)

Kansas Register .

18	EGHTN
19	NINTN
20	TWNTY
21	TWONE
22	TWTWO
23	TWTHR
24	TWFOR
7 (outlined)	WIN

The SCORCHING HOT 7s and BLISTERING HOT 7s
play areas shall have these additional play symbols and
captions:

Play Symbols	Captions
25	TWFIV
26	TWSIX
27	TWSEV
28	TWEGT
29	TWNIN
30	THRTY
31	THONE
32	THTWO
33	THTHR
34	THFOR
35	THFIV
36	THSIX
37	THSEV
38	THEGT
39	THNIN
40	FORTY
41	FRONE
42	FRTWO
43	FRTHR
44	FRFOR
45	FRFIV
46	FRSIX
47	FRSEV
48	FREGT
49	FRNIN
50	FIFTY
51	FTYON
52	FTYTW
53	FTYTH
54	FTYFR
55	FTYFV
56	FTYSX
57	FTYSV
58	FTYET
59	FTYNI
60	SIXTY
7 (outlined)	WIN

The SCORCHING HOT 7s and BLISTERING HOT 7s "BONUS" features shall have these additional play symbols and captions:

Play Symbols	Captions
Symbol of a car	CAR

Symbol of a fire extinguisher	FIRE EXT
Symbol of an icicle	ICICLE
Symbol of a pail	PAIL
Symbol of rain	RAIN
Symbol of a rock	ROCK
Symbol of snow	SNOW
Symbol of the sun	SUN
Symbol of a volcano	VOLCANO
Symbol of the wind	WIND
Symbol of a moneybag	WIN

The multiplier feature in each play area shall have these additional play symbols and captions:

Play Area	Play Symbols	Captions
SPICY HOT 7s	77 (outlined)	WIN10X
RED HOT 7s	77 (outlined)	WIN20X
SIZZLING HOT 7s	77 (outlined)	WIN50X
SCORCHING HOT 7s	77 (outlined)	WIN100X
BLISTERING HOT 7s	77 (outlined)	WIN200X

(c) For this game, a play or prize symbol shall appear in 148 play spots within the play areas as follows: 11 each in the "Spicy Hot 7s" and "Red Hot 7s" play areas; 22 in the "Sizzling Hot 7s" play area; 46 in the "Scorching Hot 7s" play area; and 58 in the "Blistering Hot 7s" play area.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 019.

(e) The price of instant tickets sold by a retailer for this game shall be \$30.00 each.

(f) The "Hot 7s Super Ticket" is a key number match game with instant reveal, multiplier and instant win features and bonus areas. The game shall have five play areas.

(1) In Spicy Hot 7s, the player will scratch the play area to reveal one "WINNING NUMBER" and five "YOUR NUMBERS" with a prize amount shown below each "YOUR NUMBER." If the player matches any of the "YOUR NUMBERS" to the "WINNING NUMBER," the player wins the amount shown below the matching "YOUR NUMBER." If the player reveals a "77" symbol, the player wins 10 times the prize amount shown.

(2) In Red Hot 7s, the player will scratch the play area to reveal one "WINNING NUMBER" and five "YOUR NUMBERS" with a prize amount shown below each "YOUR NUMBER." If the player matches any of the "YOUR NUMBERS" to the "WINNING NUMBER," the player wins the amount shown below the matching "YOUR NUMBER." If the player reveals a "77" symbol, the player wins 20 times the prize amount shown.

(3) In Sizzling Hot 7s, the player will scratch the play area to reveal two "WINNING NUMBERS" and 10 "YOUR NUMBERS" with a prize amount shown below each "YOUR NUMBER." If the player matches any of the "YOUR NUMBERS" to either of the "WINNING NUM-BERS," the player wins the amount shown below the matching "YOUR NUMBER." If the player reveals a "7" symbol, the player automatically wins the prize amount shown. If the player reveals a "77" symbol, the player wins 50 times the prize amount shown.

(4) In Scorching Hot 7s, the player will scratch the play area to reveal four "WINNING NUMBERS" and 20

"YOUR NUMBERS" with a prize amount shown below each "YOUR NUMBER." If the player matches any of the "YOUR NUMBERS" to any of the "WINNING NUM-BERS," the player wins the amount shown below the matching "YOUR NUMBER." If the player reveals a "7" symbol, the player automatically wins the prize amount shown. If the player reveals a "77" symbol, the player wins 100 times the prize amount shown. The player will also scratch two "BONUS" areas. If the player reveals a moneybag symbol in either bonus area, the player wins the prize shown above the moneybag symbol.

(5) In Blistering Hot 7s, the player will scratch the play area to reveal five "WINNING NUMBERS" and 25 "YOUR NUMBERS" with a prize amount shown below each "YOUR NUMBER." If the player matches any of the "YOUR NUMBERS" to any of the "WINNING NUM-

BERS," the player wins the amount shown below the matching "YOUR NUMBER." If the player reveals a "7" symbol, the player automatically wins the prize amount shown. If the player reveals a "77" symbol, the player wins 200 times the prize amount shown. The player will also scratch three "BONUS" areas. If the player reveals a moneybag symbol in any bonus area, the player wins the prize shown above the moneybag symbol.

(g) Each ticket in this game may win up to 70 times.

(h) Approximately 450,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 150,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

Winners Per

Spicy Hot 7s	Red Hot 7s	Sizzling Hot 7s	Scorching Hot 7s	Blistering Hot 7s	Prize	450,000	Prize Cost
\$30 or	\$30 or	\$30 or	\$30 or	\$30	\$30	11,250	\$337,500
\$10 x 3 or	\$10 x 3 or	\$10 x 3 or	\$10 x 3 or	\$10 x 3	\$30	11,250	\$337,500
\$5	\$5			\$10 x 2	\$30	11,250	\$337,500
\$5	\$5	\$5	\$5	\$5 x 2	\$30	22,500	\$675,000
\$50 or	\$50 or	\$50 or	\$50 or	\$50	\$50	5,625	\$281,250
	·		\$50 (Bonus) or	\$50 (Bonus)	\$50	11,250	\$562,500
\$10 x 5 or	\$10 x 5 or	\$10 x 5 or	\$10 x 5 or	\$10 x 5	\$50	11,250	\$562,500
\$10	\$5 x 2	\$5 x 2	\$10 x 2		\$50	11,250	\$562,500
1 -	1 -	\$5 x 10 or	\$5 x 10 or	\$5 x 10	\$50	11,250	\$562,500
\$5 (10X)		• • • •		,	\$50	5,625	\$281,250
\$100 or	\$100 or	\$100 or	\$100 or	\$100	\$100	900	\$90,000
\$20 x 5 or	\$20 x 5 or	\$20 x 5 or	\$20 x 5 or	\$20 x 5	\$100	2,400	\$240,000
\$5 (10X)	\$5 x 2	\$5	\$5 x 3	\$10 x 2	\$100	2,100	\$210,000
	\$5 (20X)	1 -			\$100	2,100	\$210,000
	<i>+•</i> (<i>-••</i>)		\$100 (Bonus) or	\$100 (Bonus)	\$100	3,600	\$360,000
		(\$5 x 4) +	+	+()	4-00	-,	+
\$5 x 2	\$10 x 2	(\$10 x 2)	\$5 x 2	\$5 x 4	\$100	2,400	\$240,000
\$5 (10X)		. ,		\$50 (Bonus)	\$100	3,600	\$360,000
× ,			\$50 (Bonus) + (\$5 x 10) or	\$50 (Bonus) + (\$5 x 10)	\$100	5,400	\$540,000
\$150 or	\$150 or	\$150 or	\$150 or	\$150	\$150	60	\$9,000
\$10 (10X)		\$5 x 2	\$10 x 2	\$5 x 4	\$150	1,140	\$171,000
,			\$50 (Bonus) + \$100	\$50 (Bonus) + \$100		,	
			(Bonus) or	(Bonus)	\$150	3,600	\$540,000
	\$5 (20X)			\$10 x 5	\$150	3,000	\$450,000
			(\$20 x 5) + (\$5 x 10) or	(\$20 x 5) + (\$5 x 10)	\$150	600	\$90,000
\$20 x 2	\$20 x 3		\$5 x 5	\$5 x 5	\$150	600	\$90,000
\$200 or	\$200 or	\$200 or	\$200 or	\$200	\$200	60	\$12,000
\$5 (10X)	\$5 (20X)	\$5 x 2	\$5 x 3	(\$10 x 2) + \$5	\$200	600	\$120,000
			(\$5 x 20) + \$100 (Bonus) or	(\$5 x 20) + \$100 (Bonus)	\$200	3,000	\$600,000
	\$10 (20X)				\$200	300	\$60,000
\$5 x 5	\$5 x 5	\$10 x 5	\$5 x 10	\$5 x 10	\$200	540	\$108,000
\$300 or	\$300 or	\$300 or	\$300 or	\$300	\$300	30	\$9,000
\$10 x 5	\$10 x 5	\$20 x 5	\$50 (Bonus)	\$50 (Bonus)	\$300	30	\$9,000
		\$5 (50X)	\$50 (Bonus)		\$300	90	\$27,000
			(\$10 x 10) + (\$20 x 10) or	(\$10 x 10) + (\$20 x 10)	\$300	30	\$9,000
\$10 (10X) +							
(\$50 x 4)					\$300	30	\$9,000
				\$200 (Bonus) +			
				$(\$5 \times 10) +$	*2 00	20	#0.000
* =00	*- 00	*- 00	*= 00	(\$10 x 5)	\$300	30	\$9,000
\$500 or	\$500 or	\$500 or	\$500 or	\$500	\$500	6	\$3,000
\$10 (10X)	\$5 x 5	\$10 x 10	(\$10 x 10) + \$50 (Bonus)	(\$20 x 5) + (\$5 x 5)	\$500	18	\$9,000
	#10 (2 0)0		\$5 (100X)	450 (D)	\$500	6	\$3,000
\$5 (10X) x 4	\$10 (20X)		\$50 (Bonus)	\$50 (Bonus)	\$500	6	\$3,000
	\$5 (20X)	\$5 (50X)	\$50 (Bonus)	\$100 (Bonus)	\$500	15	\$7,500
							(continued)

Vol. 41, No. 19, May 12, 2022

Kansas Register

\$20 x 5	\$10 x 5	\$50 x 2		\$200 (Bonus) + (\$10 x 5)	\$500	15	\$7,500
\$100 x 5 or	\$100 x 5 or	\$100 x 5 or	\$100 x 5 or	\$100 x 5	\$500	6	\$3,000
\$10 (10X)	\$5 (20X)	\$5 (50X)		\$50 (Bonus)	\$500	12	\$6,000
			\$50 (Bonus) + \$100 (Bonus)	\$50 (Bonus) + (\$5 x 10) +			
			+ (\$5 x 20)	(\$10 x 15)	\$500	60	\$30,000
\$20 x 5	\$20 x 5	\$20 x 5	\$20 x 5	\$20 x 5	\$500	18	\$9,000
		\$10 (50X)			\$500	6	\$3,000
\$5 (10X) +							
(\$10 x 3) + \$20	\$5 (20X) x 2	\$10 x 5	\$10 x 5	(\$5 x 10) + \$50 (Bonus)	\$500	6	\$3,000
\$50 x 2	\$50 x 2	\$50 x 2	\$50 x 2	\$50 x 2	\$500	6	\$3,000
\$1,000 or	\$1,000 or	\$1,000 or	\$1,000 or	\$1,000	\$1,000	3	\$3,000
			\$10 (100X)		\$1,000	12	\$12,000
				\$200 (Bonus) +			
				(\$20 x 10)			
\$5 (10X) x 5		\$5 (50X)		+ (\$5 x 10) + (\$10 x 5)	\$1,000	12	\$12,000
				(\$5 x 10) + (\$10			
			(#10 00) · #50 (B) ·	(x 15) + \$50			
\$5 x 5	\$5 x 5	\$5 x 10	(\$10 x 20) + \$50 (Bonus) + \$100 (Bonus)	(Bonus) + \$100 (Bonus) + \$200 (Bonus)	\$1,000	21	\$21,000
ф3 x 3	φ0 X 0	φ3 x 10	\$100 (Bonus)	$($10 \times 5) + $50 (Bonus) +$	\$1,000	21	\$ 21,000
\$5 (10X) x 4	\$20 (20X)	(\$10 x 8) + \$20	(\$10 x 5) + \$50 (Bonus)	$($10 \times 5) + $50 (Bonus) +$ \$100 (Bonus)	\$1,000	12	\$12,000
\$10,000 or	\$10,000 or	\$10,000 or	\$10,000 or	\$10,000	\$10,000	3	\$30,000
\$50 (10X) x 2	\$50 (20X) x 2	\$20 (50X) x 2	\$10,000 01 \$10 (100X) x 2	\$5 (200X) x 3	\$10,000	3	\$30,000
\$250,000 or	\$250,000 or	\$250,000 or	\$250,000 or	\$250,000	\$250,000	1	\$250,000
\$500 (10X) x 5	. ,	\$50 (50X) x 10	\$50 (100X) x 20	\$10 (200X) x 25	\$250,000	2	\$500,000
PLAYER LOYAL		\$50 (50A) X 10	\$50 (100X) X 20	\$10 (200X) X 25	\$230,000	2	\$101,000
	I I FROGRAM					140.000	. ,
TOTAL PRIZES						148,989	\$10,133,000

(j) The odds of winning a prize in this game are approximately one in 3.02. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710 and K.S.A. 74-8720; effective, T-111-3-14-22, March 9, 2022; amended, T-111-4-27-22, April 13, 2022.)

111-4-3710. "Extreme Crossword" instant ticket lottery game number 273. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Extreme Crossword." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3710.

(b) The "play symbols" for this game are as follows: A–B–C–D–E–F–G–H–I–J–K–L–M–N–O–P–Q–R–S–T–U–V–W–X–Y–Z. There are no "play symbol captions" in this game.

The "prize symbols" and "captions" for this game are as follows:

Prize Symbols	Captions
20.00	TWENTY
30.00	THIRTY

(c) For this game, a play symbol shall appear in each of 20 play spots within the "YOUR LETTERS" play area, in each of six play spots within each "BONUS WORD" play area, in two play spots in the "BONUS WORD PRIZE" area, and a variable number of times within the cross-word puzzle grid.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 014.

(e) The price of instant tickets sold by a retailer for this game shall be \$20.00 each.

(f) The "Extreme Crossword" game is a two-sided crossword game with six separate play areas. The play areas include "YOUR LETTERS," "PUZZLE 1," "PUZZLE 2," "PUZZLE 3," "BONUS WORD 1," and "BONUS WORD 2." The player will scratch the "YOUR LETTERS"

play area to reveal 20 "YOUR LETTERS." The player will then match each "YOUR LETTER" with the corresponding letters in all three Crossword Puzzles and in both "BONUS WORD" play areas by removing the translucent scratch-off material covering the matching letter. If a player scratches three or more completed words in any puzzle, the player wins the corresponding prize shown in the prize legend associated with each crossword puzzle. Only the highest corresponding prize can be won for each puzzle. Each puzzle plays separately. If a player scratches the entire "BONUS WORD," the player wins the corresponding prize shown in the "BONUS WORD PRIZE" box for that "BONUS WORD." The entire "BO-NUS WORD" must be uncovered to win the corresponding prize.

The prize legends for the crossword puzzles in this game are as follows:

Puzzle 1:		Puzzles 2 and 3	:
Find	Win	Find	Win
3 words	FREE TICKET	3 words	FREE TICKET
4 words	\$20	4 words	\$20
5 words	\$30	5 words	\$30
6 words	\$60	6 words	\$60
7 words	\$80	7 words	\$80
8 words	\$100	8 words	\$100
9 words	\$1,000	9 words	\$1,000
10 words	\$100,000	10 words	\$150,000

(g) To qualify as a complete word to win a prize in this game, the words revealed must meet the following requirements:

(1) must contain at least three letters;

(2) cannot be formed diagonally, run right to left or from bottom to top;

(3) must appear in an unbroken horizontal or vertical string of letters in the "crossword" puzzle;

(4) an unbroken string of letters cannot be interrupted by a black space and must contain every single letter square between two black spaces;

(5) every single letter in the unbroken string must be revealed in "YOUR LETTERS," and be included to form a word.

(h) Each ticket in this game may win up to five times.

(i) Approximately 600,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(j) The expected number and value of instant prizes in this game shall be as follows:

Puzzle 1	Puzzle 2	Puzzle 3	Bonus Word 1	Bonus Word 2	Prize	Winners Per 600,000	Prize Cost
3 words					Free Ticket	10,000	\$0
	3 words				Free Ticket	10,000	\$0
		3 words			Free Ticket	10,000	\$0
4 words					\$20	24,000	\$480,000
	4 words				\$20	24,000	\$480,000
		4 words			\$20	23,900	\$478,000
				\$20	\$20	23,800	\$476,000
			\$20		\$20	23,800	\$476,000
5 words					\$30	14,000	\$420,000
	5 words				\$30	14,000	\$420,000
		5 words			\$30	14,000	\$420,000
				\$30	\$30	14,000	\$420,000
			\$30		\$30	14,000	\$420,000
6 words					\$60	2,500	\$150,000
	6 words				\$60	2,500	\$150,000
		6 words			\$60	2,500	\$150,000
		5 words	\$30		\$60	2,500	\$150,000
4 words	4 words	4 words			\$60	2,500	\$150,000
5 words			\$30		\$60	2,500	\$150,000
	5 words			\$30	\$60	2,500	\$150,000
5 words		5 words			\$60	2,500	\$150,000
7 words					\$80	1,700	\$136,000
	7 words				\$80	1,700	\$136,000
		7 words			\$80	1,640	\$131,200
4 words	4 words	4 words		\$20	\$80	1,290	\$103,200
4 words	4 words	4 words	\$20		\$80	1,280	\$102,400
	5 words		\$30	\$20	\$80	1,280	\$102,400
6 words		4 words			\$80	1,280	\$102,400
4 words	4 words		\$20	\$20	\$80	1,280	\$102,400
8 words					\$100	800	\$80,000
	8 words				\$100	800	\$80,000
	- 1	8 words	*• ••		\$100	800	\$80,000
	7 words		\$20	*2 0	\$100	800	\$80,000
4 words	4 words	4 words	\$20	\$20	\$100	870	\$87,000
7 words	4 words				\$100	720	\$72,000
9 words	0 1				\$1,000	38	\$38,000
	9 words	0 1			\$1,000	40	\$40,000
10 - 7		9 words			\$1,000	40	\$40,000
10 words	10				\$100,000		\$100,000
	10 words	10 words			\$150,000		\$300,000
Diamons I -	realize Door				\$150,000		\$300,000
Players Lo	oyalty Prog	gram			\$79,800		\$79,800
(L) T	1				TOTAL	255,863	\$7,982,800

(k) The odds of winning a prize in this game are approximately one in 2.34. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710 and K.S.A. 74-8720; effective, T-111-4-27-22, April 13, 2022.)

111-4-3711. "50X Lucky" instant ticket lottery game number 255. (a) The Kansas lottery may conduct an instant winner lottery game entitled "50X Lucky." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3711.

(b) The "play and prize symbols" and "captions" for this game are as follows:

iis game are as follows.	
Play Symbols	Captions
01	ONE
02	TWO
03	THR
04	FOR
06	SIX
07	SEV
08	EGT
09	NIN
11	ELVN
12	TWLV
12	THRN
13	FRTN
14 16	
	SIXTN
17	SEVTN
18	EGTN
19	NINTN
21	TWYONE
22	TWYTWO
23	TWYTHR
24	TWYFOR
26	TWYSIX
27	TWYSEV
28	TWYEGT
29	TWYNIN
30	THRTY
31	THRONE
32	THRTWO
33	THRTHR
34	THRFOR
35	THRFIV
36	THRSIX
37	THRSEV
38	THREGT
39	THRNIN
40	FORTY
41	FRYONE
42	FRYTWO
43	FRYTHR
44	FRYFOR
45	FRYFIV
46	FRYSIX
5X	5TIMES
10X	10TIMES
20X	20TIMES
50X	50TIMES
007	
Prize Symbols	Captions
FREE	TICKET
	(continued)

Kansas Register .

\$5 ^{.00}	FIVE\$
10.00	TEN\$
15.00	FIFTEEN
25.00	TWEN-FIV
50.00	FIFTY
75.00	SVTYFIV
\$100	ONE-HUN
\$500	FIVE-HUN
\$1000	ONETHOU
\$25000	25-THOU

(c) For this game, a play/prize symbol shall appear in 45 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 059.

(e) The price of instant tickets sold by a retailer for this game shall be \$5.00 each.

(f) "50X Lucky" is a key number match game with an instant win and multiplier features. The player will scratch the play area to reveal five "WINNING NUM-BERS" and 20 "YOUR NUMBERS" with a prize amount below each of the "YOUR NUMBERS" if a player matches any of the "YOUR NUMBERS" to any of the "WIN-NING NUMBERS," the player wins the prize shown below that number. If a player reveals a symbol of 5X, 10X, 20X or 50X, the player wins the amount shown multiplied by the corresponding symbol.

(g) Each ticket in this game may win up to 20 times.

(h) Approximately 750,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 150,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

0			
		Winners Per	
	Prize	750,000	Prize Cost
	FREE		
FREE TICKET	TICKET	50,000.00	\$0
\$5	\$5	87500	\$437,500
\$10	\$10	29500	\$295,000
\$5 + \$5	\$10	29650	\$296,500
\$15	\$15	13000	\$195,000
\$5 + \$10	\$15	13000	\$195,000
\$5 x 3	\$15	13000	\$195,000
\$25	\$25	2500	\$62,500
(\$10 x 2) + \$5	\$25	2500	\$62,500
\$5 (5X)	\$25	2500	\$62,500
\$5 x 5	\$25	2500	\$62,500
\$50	\$50	650	\$32,500
\$10 (5X)	\$50	650	\$32,500
\$5 (10X)	\$50	650	\$32,500
(\$10 x 2) + \$25 + \$5	\$50	650	\$32,500
\$75	\$75	350	\$26,250
\$5 x 15	\$75	350	\$26,250
\$10 + \$15 + \$5 (5X) + (\$5 x 5)	\$75	300	\$22,500
\$5 (10X) + \$25	\$75	300	\$22,500
\$100	\$100	125	\$12,500
\$5 x 20	\$100	125	\$12,500
\$5 (20X)	\$100	185	\$18,500
\$15 (5X) + \$15 + \$10	\$100	185	\$18,500
\$500	\$500	25	\$12,500

\$5 (20X) + (\$50 x 8)	\$500	25	\$12,500
\$10 (50X)	\$500	50	\$25,000
$(\$10 \times 5) + (\$5 \times 10) + (\$50 \times 2) +$			
(\$100 x 3)	\$500	25	\$12,500
\$1,000	\$1,000	10	\$10,000
\$500 + (\$100 x 5)	\$1,000	10	\$10,000
\$15 (50X) + (\$50 x 5)	\$1,000	20	\$20,000
\$100 x 10	\$1,000	10	\$10,000
\$25,000	\$25,000	5	\$125,000
Players Loyalty Program	\$24,150		\$24,150
	TOTAL	250,350	\$2,415,150

(j) The odds of winning a prize in this game are approximately one in 3.00. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710 and 74-8720; effective, T-111-4-27-22, April 13, 2022.)

111-4-3712. "Fire & Ice Doubler" instant ticket lottery game number 256. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Fire & Ice Doubler." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3712.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
Play Symbols	-
03	THR
04	FOR
06	SIX
07	SEV
08	EGT
09	NIN
11	ELVN
12	TWLV
13	THRN
14	FRTN
16	SIXTN
17	SEVTN
18	EGTN
19	NINTN
20	TWNTY
21	TWYONE
22	TWYTWO
23	TWYTHR
24	TWYFOR
26	TWYSIX
27	TWYSEV
28	TWYEGT
29	TWYNIN
30	THRTY
31	THRONE
32	THRTWO
33	THRTHR
34	THRFOR
35	THRFIV
36	THRSIX
37	THRSEV
38	THREGT
39	THRNIN
40	FORTY
41	FRYONE

Kansas Register _

42	FRYTWO
43	FRYTHR
44	FRYFOR
45	FRYFIV
46	FRYSIX
47	FRYSEV
48	FRYEGT
49	FRYNIN
Symbol of a star	WIN
Symbol of DBL	DOUBLE
Prize Symbols	Captions
FREE	TICKET
\$5.00	FIVE\$
10.00	TEN\$
15.00	FIFTEEN
25.00	TWEN-FIV
50.00	FIFTY
75.00	SVTYFIV
\$100	ONE-HUN
\$500	FIVE-HUN
\$1000	ONETHOU
\$25000	25-THOU
•	

(c) For this game, a play/prize symbol shall appear in 44 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 059.

(e) The price of instant tickets sold by a retailer for this game shall be \$5.00 each.

(f) "Fire & Ice Doubler" is a key number match game with an instant win and a multiplier feature. The player will scratch the play area to reveal four "WINNING NUMBERS" and 20 "YOUR NUMBERS" with a prize amount below each of the "YOUR NUMBERS." If a player matches any of the "YOUR NUMBERS" to any of the "WINNING NUMBERS," the player wins the prize shown below that number. If a player reveals a symbol of a star, the player automatically wins the amount shown below that symbol. If a player reveals a symbol of DBL, the player automatically wins double the amount shown below that symbol.

(g) Each ticket in this game may win up to 20 times.

(h) Approximately 900,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 150,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

	Winners Per			
	Prize	900,000	Prize Cost	
	FREE			
FREE TICKET	TICKET	60,000.00	\$0	
\$5	\$5	105000	\$525,000	
\$10	\$10	22800	\$228,000	
\$5 (DBL)	\$10	25380	\$253,800	
\$5 + \$5	\$10	22800	\$228,000	
\$15	\$15	15000	\$225,000	
\$5 + \$10	\$15	15000	\$225,000	

\$5 (DBL) + \$5	\$15	16800	\$252,000
\$25	\$25	2700	\$67,500
\$10 (DBL) + \$5	\$25	3600	\$90,000
\$15 + \$10	\$25	2700	\$67,500
\$5 x 5	\$25	3000	\$75,000
\$50	\$50	780	\$39,000
\$10 x 5	\$50	780	\$39,000
\$5 x 10	\$50	780	\$39,000
\$10 (DBL) + \$25 + \$5	\$50	942	\$47,100
\$75	\$75	420	\$31,500
\$5 x 15	\$75	360	\$27,000
\$10 + \$15 + \$25 + (\$5 x 5)	\$75	360	\$27,000
(\$5 x 10) + \$5 (DBL) + \$15	\$75	420	\$31,500
\$100	\$100	150	\$15,000
\$5 x 20	\$100	210	\$21,000
\$50 (DBL)	\$100	240	\$24,000
(\$15 x 5) + \$15 + \$10	\$100	150	\$15,000
\$500	\$500	30	\$15,000
(\$50 x 5) + (\$25 x 10)	\$500	30	\$15,000
\$100 (DBL) + 50 x 6	\$500	42	\$21,000
(\$10 x 5) + (\$5 x 10) +			
(\$50 x 2) + (\$100 x 3)	\$500	30	\$15,000
\$1,000	\$1,000	18	\$18,000
\$500 x 2	\$1,000	18	\$18,000
\$500 + (\$100 x 5)	\$1,000	12	\$12,000
\$100 x 10	\$1,000	12	\$12,000
\$25,000	\$25,000	6	\$150,000
Players Loyalty Program	\$28,978		\$28,978
	TOTAL	300,570	\$2,897,878

(j) The odds of winning a prize in this game are approximately one in 2.99. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710 and 74-8720; effective, T-111-4-27-22, April 13, 2022.)

111-4-3713. "Fire & Ice Tripler" instant ticket lottery game number 257. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Fire & Ice Tripler." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3713.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
06	SIX
07	SEV
08	EGT
09	NIN
11	ELVN
12	TWLV
13	THRN
14	FRTN
16	SIXTN
17	SEVTN
18	EGTN
19	NINTN
21	TWYONE
22	TWYTWO
23	TWYTHR
24	TWYFOR
26	TWYSIX
27	TWYSEV
	(

BERS" and 25 "YOUR NUMBERS" with a prize an	nount
below each of the "YOUR NUMBERS." If a player m	
es any of the "YOUR NUMBERS" to any of the "	WIN-
NING NUMBERS," the player wins the prize show	vn be-
low that number. If a player reveals a symbol of a sta	ır, the
player automatically wins the amount shown below	v that
symbol. If a player reveals a symbol of TPL, the p	olayer
wins triple the prize amount shown below that sym	ıbol.

(g) Each ticket in this game may win up to 25 times.

(h) Approximately 600,030 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 200,010 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

-	Prize	Winners Per 600,030	Prize Cost
Free Ticket	Free Ticket	75,000	\$0
\$10	\$10	57,000	\$570,000
\$15	\$15	34,500	\$517,500
\$20	\$20	7,800	\$156,000
10 x 2	\$20	8,400	\$168,000
\$10 + \$10	\$20	7,800	\$156,000
\$25	\$25	9,300	\$232,500
\$10 + \$15	\$25	9,300	\$232,500
\$50	\$50	2,400	\$120,000
(\$15 x 2) + (\$10 x 2)	\$50	2,610	\$130,500
\$10 (TPL) + \$20	\$50	2,610	\$130,500
\$10 x 5	\$50	2,400	\$120,000
\$75	\$75	630	\$47,250
\$10 TPL + (\$15 x 3)	\$75	840	\$63,000
(\$10 x 5) + \$25	\$75	690	\$51,750
\$25 TPL	\$75	840	\$63,000
(\$10 x 6) + \$15	\$75	660	\$49,500
\$100	\$100	450	\$45,000
\$25 (TPL) + \$25	\$100	600	\$60,000
(\$15 x 4) + (\$10 x 4)	\$100	600	\$60,000
\$25 (TPL) + \$15 + \$10	\$100	600	\$60,000
\$10 x 10	\$100	450	\$45,000
\$500	\$500	60	\$30,000
\$100 (TPL) + (\$25 x 8)	\$500	69	\$34,500
\$50 x 10	\$500	66	\$33,000
$(\$15 \times 4) + (\$20 \times 17) + (\$25 \times 4)$	\$500	69	\$34,500
(\$25 x 5) + (\$25 x 3) + \$100 TPL	\$500	69	\$34,500
\$1000	\$1,000	9	\$9,000
(\$75 x 2) + \$500 + (\$25		. –	
x 10) + (\$20 x 5)	\$1,000	15	\$15,000
\$500 x 2	\$1,000	15	\$15,000
\$100 x 10	\$1,000	9	\$9,000
\$75,000	\$75,000	6	\$450,000
Players Loyalty Program	\$37,799		\$37,799
	TOTAL	225,867	\$3,780,299

(j) The odds of winning a prize in this game are approximately one in 2.66. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710 and 74-8720; effective, T-111-4-27-22, April 13, 2022.)

111-4-3714. "Play 2" instant ticket lottery game number 245. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Play 2." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3714.

28	TWYEGT
29	TWYNIN
30	THRTY
31	THRONE
32	THRTWO
33	THRTHR
34	THRFOR
35	THRFIV
36	THRSIX
37	THRSEV
38	THREGT
39	THRNIN
40	FORTY
41	FRYONE
42	FRYTWO
43	FRYTHR
44	FRYFOR
45	FRYFIV
46	FRYSIX
47	FRYSEV
48	FRYEGT
49	FRYNIN
51	FTYONE
52	FTYTWO
53	FTYTHR
54	FTYFOR
55	FTYFIV
56	FTYSIX
57	FTYSEV
58	FTYEGT
59	FTYNIN
60	SIXTY
Symbol of a star	WIN
Symbol of TPL	TRIPLE
Prize Symbols	Captions
FREE	TICKET
10.00	TEN\$
15.00	FIFTEEN

TWENTY

TWEN-FIV

FIFTY

SVTYFIV

ONE-HUN

FIVE-HUN

ONETHOU

75-THOU

(c) For this game, a play/prize symbol shall appear in

(d) The ticket numbers in each book of tickets in this

(e) The price of instant tickets sold by a retailer for this

(f) "Fire & Ice Tripler" is a key number match game with an instant win and a multiplier feature. The player

will scratch the play area to reveal six "WINNING NUM-

56 play spots within the play area or areas.

game shall start with 000 and end with 029.

20.00

25.00

50.00

75.00

\$100

\$500

\$1000

\$75000

game shall be \$10.00 each.

Kansas Register

(b) The "play and prize symbols" and "captions" for this game are as follows:

GAME 1 – STRUCK BY LUCK:

Play Symbols	Captions
06	SIX
07	SEV
08	EGT
09	NIN
11	ELVN
12	TWLV
13	THRN
14	FRTN
15	FIFTN
16	SIXTN
17	SEVTN
18	EGTN
19	NINTN
21	TWYONE
22	TWYTWO
23	TWYTHR
24	TWYFOR
25	TWYFIV
26	TWYSIX
27	TWYSEV
28	TWYEGT
29	TWYNIN
31	THRONE
32	THRTWO
33	THRTHR
34	THRFOR
35	THRFIV
36	THRSIX

GAME 2 – CASH IN A FLASH:

Play Symbols	Captions
Symbol of a moon	MOON
Symbol of a lemon	LEMON
Symbol of a star	STAR
Symbol of a clover	CLOVER
Symbol of a pot of gold	GOLD
Symbol of a coin	COIN
Symbol of the sun	SUN
Symbol of a music note	MUSIC
Symbol of a heart	HEART
Symbol of a moneybag	MNYBAG
Symbol of a cherry	CHERRY
Symbol of a die	DICE
Symbol of a horseshoe	HRSHOE
Symbol of a bell	BELL
Symbol of an apple	APPLE
Symbol of a gold bar	GLDBAR
Symbol of a key	KEY
Symbol of a spade	SPADE
Symbol of a club	CLUB
Symbol of a chili pepper	CHILI

GAME 1 & 2:

Prize Symbols	Captions
FREE	TICKET
\$3.00	THR\$
\$5 ^{.00}	FIVE\$
10 ^{.00}	TEN\$
20.00	TWENTY
30.00	THIRTY
40.00	FORTY
50.00	FIFTY
\$100	ONE-HUN
\$500	FIVE-HUN
\$1000	ONETHOU
\$15000	15-THOU

GAME 1 & 2:

Prize Doubler Symbols	Captions
2X	DBL
Symbol of a piggy bank	PIGBNK
Symbol of a vault	VAULT
Symbol of a dollar bill	BILL
Symbol of a candle	CANDLE

(c) For this game, a play/prize symbol shall appear in 47 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 099.

(e) The price of instant tickets sold by a retailer for this game shall be \$3.00 each.

(f) "Play 2" is a ticket with two different games, each game played separately, with a shared prize doubler area. In the Struck by Luck game, the player will scratch the play area to reveal three "WINNING NUMBERS" and 10 "YOUR NUMBERS" with a prize amount shown below each "YOUR NUMBERS" If the player matches any of the "YOUR NUMBERS" to the "WINNING NUMBERS," the player wins the amount shown below the matching "YOUR NUMBER."

In the Cash in a Flash game, the player will scratch the play area to reveal three "WINNING SYMBOLS" and 10 "YOUR SYMBOLS" with a prize amount shown below each "YOUR SYMBOL." If the player matches any of the "YOUR SYMBOLS" to the "WINNING SYMBOLS," the player wins the amount shown below the matching "YOUR SYMBOL."

In the prize doubler area, if the player reveals a symbol of a 2X, the player wins double the total winning prize of both games.

(g) Each ticket in this game may win up to 20 times.

(h) Approximately 1,400,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 200,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

(continued)

Kansas Register

Doc. No. 050124

V. 40, p. 321

V. 40, p. 322

V. 40, p. 322

V. 40, p. 322

V. 40, p. 322

V. 40, p. 191

V. 40, p. 1322

V. 40, p. 1663

V. 40, p. 1323

V. 40, p. 1664

V. 40, p. 1324

V. 40, p. 1665

Register V. 40, p. 1680

V. 40, p. 1681

V. 40, p. 1681

V. 40, p. 1682

V. 40, p. 1682

Register

V. 41, p. 629

V. 41, p. 629

V. 41, p. 629

V. 41, p. 629

V. 40. p. 629

V. 40, p. 263

Register V. 41, p. 728

Register

Register

V. 40, p. 427

V. 41, p. 152

	Prize		Winners Per	
	Doubler	Prize	1,400,000	Prize Cost
		FREE		
FREE		TICKET	105,000	\$0
\$3		\$3	93,310	\$279,930
\$5		\$5	63,000	\$315,000
\$10		\$10	17,290	\$172,900
\$5	2X	\$10	20,055	\$200,550
\$20		\$20	4,200	\$84,000
(\$3 x 5) + \$5		\$20	4,200	\$84,000
\$5 x 2	2X	\$20	5,425	\$108,500
\$10	2X	\$20	5,425	\$108,500
\$10 x 2		\$20	4,200	\$84,000
\$30		\$30	2,800	\$84,000
\$5 x 6		\$30	2,800	\$84,000
\$5 x 3	2X	\$30	4,200	\$126,000
\$10 + \$5	2X	\$30	4,200	\$126,000
\$40		\$40	2,100	\$84,000
\$10 x 2	2X	\$40	2,450	\$98,000
(\$3 x 10) + (\$5 x 2)		\$40	2,100	\$84,000
\$5 x 4	2X	\$40	2,450	\$98,000

4 - 8 - 44

4-8-45

4-8-46

4-8-47

4-8-48

4-34-1

4-34-24

4-34-24

4-34-25

4-34-25

4-34-29

4-34-29

Reg. No.

5-19-1

5-19-2

5-19-3

5-19-4

5-19-5

Reg. No.

7-30-1

7-32-1

7-32-2

7-35-1

7-35-2

7-48-1

Reg. No.

Reg. No.

Reg. No.

11-9-5

10-22-1

9-2-36

New

New

New

New

New

Amended

Amended

Amended

Amended

Action

New

New

New

New

New

Action

Revoked

Revoked

Revoked

Revoked

Revoked

AGENCY 9: DEPARTMENT OF AGRICULTURE – DIVISION OF ANIMAL HEALTH

> AGENCY 10: BUREAU OF INVESTIGATION

AGENCY 11: DEPARTMENT OF AGRICULTURE – DIVISION OF CONSERVATION

New

Action

Action

Action

Amended

Amended

New

Amended (T)

Amended (T)

Amended (T)

AGENCY 5: DEPARTMENT OF

AGRICULTURE-DIVISION OF

WATER RESOURCES

AGENCY 7: SECRETARY OF STATE

INDEX TO ADMINISTRATIVE REGULATIONS

This index lists in numerical order the new, amended, and revoked administrative regulations and the volume and page number of the *Kansas Register* issue in which more information can be found. Temporary regulations are designated with a (T) in the Action column. This cumulative index supplements the 2009 Volumes of the *Kansas Administrative Regulations* and the 2021 Supplement of the *Kansas Administrative Regulations*. Regulations can also be found at http://www.sos. ks.gov/pubs/pubs_kar.aspx.

AGENCY 1: DEPARTMENT OF ADMINISTRATION

Reg. No.	Action	Register
1-18-1a	Amended	V. 40, p. 1490
1-18-2	Revoked	V. 40, p. 1490

AGENCY 4: DEPARTMENT OF AGRICULTURE

Reg. No.	Action	Register
4-7-804	Amended	V. 41, p. 869
4-8-13	Amended	V. 40, p. 320
4-8-14a	Amended	V. 40, p. 320
4-8-27	Amended	V. 40, p. 320
4-8-28	Amended	V. 40, p. 320
4-8-29	Amended	V. 40, p. 320
4-8-30	Amended	V. 40, p. 320
4-8-31	Amended	V. 40, p. 320
4-8-32	Amended	V. 40, p. 320
4-8-33	Amended	V. 40, p. 320
4-8-34	Amended	V. 40, p. 321
4-8-35	Amended	V. 40, p. 321
4-8-36	Amended	V. 40, p. 321
4-8-37	Amended	V. 40, p. 321
4-8-38	Amended	V. 40, p. 321
4-8-39	Amended	V. 40, p. 321
4-8-40	Amended	V. 40, p. 321
4-8-41	Revoked	V. 40, p. 321
4-8-42	Revoked	V. 40, p. 321
4-8-43	Revoked	V. 40, p. 321

\$50		\$50	560	\$28,000
(\$5 x 4) + \$5	2X	\$50	700	\$35,000
\$20 + \$5	2X	\$50	700	\$35,000
\$100		\$100	287	\$28,700
\$5 x 20		\$100	329	\$32,900
\$500		\$500	21	\$10,500
(\$30 x 8) + \$10	2X	\$500	28	\$14,000
\$1000		\$1,000	7	\$7,000
(\$20 x 11) + (\$40 x 7)	2X	\$1,000	7	\$7,000
15,000		\$15,000	6	\$90,000
Players Loyalty Program		\$25,349		\$25,349
		SUB-		
		TOTAL	347,850	\$2,534,829

(j) The odds of winning a prize in this game are approximately one in 4.02. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710 and 74-8720; effective, T-111-4-27-22, April 13, 2022.)

Stephen Durrell Executive Director

AGENCY 17: OFFICE OF THE STATE BANK COMMISSIONER

Reg. No. 17-24-2	Action Amended	Register V. 41, p. 185		
AGENCY 21: HUMAN RIGHTS COMMISSION				
Reg. No. 21-40-10 21-41-1 21-41-2 21-41-3 21-41-4 21-41-6 21-41-6 21-41-8 21-41-10 21-41-11	Action Revoked Amended Amended Revoked Amended Amended Revoked	Register V. 40, p. 265		
	Action			
Reg. No. 22-26-1 22-26-1 22-26-2 22-26-2 22-26-3 22-26-3 22-26-3 22-26-4 22-26-5 22-26-5 22-26-6 22-26-6 22-26-6 22-26-7 22-26-7 22-26-7 22-26-8 22-26-8 22-26-8 22-26-8 22-26-8 22-26-9 22-26-10 22-26-11 22-26-12 22-26-13 22-26-13	New (T) New New (T) New New (T) New (T)	Register V. 40, p. 1034 V. 40, p. 1444 V. 40, p. 1035 V. 40, p. 1037 V. 40, p. 1047 V. 40, p. 1038 V. 40, p. 1039 V. 40, p. 1039 V. 40, p. 1039 V. 40, p. 1448		
22-26-13 22-26-14 22-26-14 22-26-15	New (T) New New (T)	V. 40, p. 1448 V. 40, p. 1039 V. 40, p. 1448 V. 40, p. 1040		

22-26-16 New (T) V. 40, p. 1040 V. 40, p. 1449 22-26-16 New AGENCY 28: DEPARTMENT OF HEALTH AND ENVIRONMENT Reg. No. Action Register 28-1-40 Amended V. 40, p. 1797 28-1-41 V. 40, p. 1797 Amended V. 40, p. 1797 28-1-42 Amended 28-1-43 Amended V. 40, p. 1797 28-1-44 V. 40, p. 1798 Amended 28-16-28b V. 41, p. 409 Amended 28-16-28e Amended V. 41, p. 412 28-16-28f Amended V. 41, p. 414 V. 41, p. 416 28-16-28g Amended 28-16-28h Amended V. 41, p. 416 28-18-1 Amended V. 40, p. 1547 28-18-4 Amended V. 40, p. 1186 28-18-14 V. 40, p. 1550 Amended 28-18-16 Amended V. 40, p. 1551 28-18-17 Amended V. 40, p. 1551 28-18a-4 Amended V. 40, p. 1187 V. 40, p. 1552 28-18a-24 Amended 28-35-135a Amended V. 41, p. 435 28-35-135c Amended V. 41, p. 437 28-35-135f V. 41, p. 438 Amended 28-35-135i Amended V. 41, p. 439 28-35-1351 Amended V. 41, p. 440 28-35-135m Amended V. 41, p. 441 V. 41, p. 442 28-35-135n Amended V. 41, p. 442 28-35-1350 Amended 28-35-135s Amended V. 41, p. 443 28-35-135u V. 41, p. 444 Amended 28-35-178a Amended V. 41, p. 445 28-35-178i Amended V. 41, p. 445 28-35-181d Amended V. 41, p. 446 28-35-181j V. 41, p. 447 Amended 28-35-181m V. 41, p. 448 Amended 28-35-181r Amended V. 41, p. 450 28-35-181u V. 41, p. 450 New 28-35-181v New V. 41, p. 451 28-35-192e Amended V. 41, p. 451 28-35-192f Amended V. 41, p. 451 28-35-192h V. 41, p. 451 Amended 28-35-195a Amended V. 41, p. 452 28-35-196a Amended V. 41, p. 452 28-35-227c Amended V. 41, p. 452 V. 41, p. 452 28-35-231c Amended 28-35-264 Amended V. 41, p. 452 28-35-282a V. 41, p. 453 Amended 28-35-291 Amended V. 41, p. 454 28-35-450 Amended V. 41, p. 455 28-35-500 Amended V. 41, p. 455 28-35-500a V. 41, p. 455 New 28 - 35 - 504Amended V. 41, p. 455 28-35-504a New V. 41, p. 456 28-35-505 Amended V. 41, p. 457 28-35-700 Amended V. 41, p. 457 V. 41, p. 869 28-51-100 Amended 28-51-101 Amended V. 41, p. 872 28-51-102 Revoked V. 41, p. 873 Amended V. 41, p. 873 28-51-103 V. 41, p. 875 28-51-104 Amended 28-51-105 V. 41, p. 876 Amended 28-51-106 Amended V. 41, p. 876 Amended V. 41, p. 876 28-51-107 28-51-109 Amended V. 41, p. 877 28-51-110 Amended V. 41, p. 877 V. 41, p. 877 28-51-111 Amended V. 41, p. 878 28-51-112 Amended V. 41, p. 878 28-51-113 Amended 28-51-117 New V. 41, p. 878

28-51-118

28-65-1

28-65-2

28-65-3

New

Amended

Amended

Amended

V. 41, p. 880

V. 40, p. 318 V. 40, p. 318

V. 40, p. 318

Kansas Register

28-65-4	Amended	V. 40, p. 319		
AGI	ENCY 40: INSUR DEPARTMENT			
Reg. No.	Action	Register		
40-1-28	Amended	V. 40, p. 191		
40-1-52	New	V. 40, p. 191		
AG	ENCY 60: BOAR NURSING	DOF		
Reg. No. 60-1-102	Action	Register V. 40, p. 1707		
60-1-102	Amended Amended	V. 40, p. 1707 V. 40, p. 1708		
60-2-101	Amended	V. 40, p. 1709		
60-2-102	Amended	V. 40, p. 1710		
60-2-103	Amended	V. 40, p. 1711		
60-2-104	Amended	V. 40, p. 1712		
60-2-105 60-2-106	Amended Amended	V. 40, p. 1713 V. 40, p. 1713		
60-2-107	Amended	V. 40, p. 1713 V. 40, p. 1713		
60-2-108	Amended	V. 40, p. 1714		
60-3-101	Amended (T)	V. 41, p. 185		
60-3-101	Amended	V. 41, p. 663		
60-11-103	Amended (T)	V. 41, p. 186		
60-11-103	Amended	V. 41, p. 664		
AG	ENCY 61: BOAR BARBERING	D OF		
Reg. No.	Action	Register		
61-4-3	New	V. 40, p. 161		
	ENCY 66: BOAR INICAL PROFES			
Reg. No.	Action	Register		
66-7-1	Amended	V. 41, p. 40		
66-12-1	Amended	V. 40, p. 670		
AG	ENCY 69: BOAR COSMETOLOG			
Reg. No.	Action	Register		
69-1-4	Amended	V. 40, p. 1522		
69-6-2 69-15-31	Amended Amended	V. 40, p. 1522 V. 40, p. 1522		
	82: STATE COR			
AGENCI	COMMISSION			
Reg. No.	Action	Register		
82-4-30a	Amended (T)	V. 39, p. 1383		
82-4-30a	Amended Amended	V. 40, p. 160		
82-11-2 82-11-3	Amended	V. 40, p. 1636 V. 40, p. 1636		
82-11-4	Amended	V. 40, p. 1638		
82-11-6	Amended	V. 40, p. 1643		
82-11-7	Amended	V. 40, p. 1645		
82-11-10	Amended	V. 40, p. 1645		
AGENCY 86: REAL ESTATE COMMISSION				
Reg. No.	Action	Register		
86-3-10	Amended	V. 40, p. 497		
86-3-18 86-3-21	Amended Revoked	V. 40, 497 V. 40, p. 498		
86-3-22	Amended	V. 40, p. 498		
AGENCY 88: BOARD OF REGENTS				
Reg. No.	Action	Register		
88-29-12	Revoked	V. 41, p. 83		
88-29-13	Revoked	V. 41, p. 83		
88-29-14	Revoked	V. 41, p. 83		
88-29-15 88-29-16	Revoked Revoked	V. 41, p. 83 V. 41, p. 83		
88-29-17	Revoked	V. 41, p. 83 V. 41, p. 83		
88-29a-1	Revoked	V. 41, p. 83		
88-29a-5	Revoked	V. 41, p. 83		
88-29a-6	Revoked	V. 41, p. 83		
88-29a-7	Revoked	V. 41, p. 83		

Vol. 41, No. 19, May 12, 2022

88-29a-7a	Amended	V. 41, p. 83
88-29a-8	Revoked	V. 41, p. 84
88-29a-8c	Revoked	V. 41, p. 84
88-29a-9	Revoked	V. 41, p. 84
88-29a-10	Revoked	V. 41, p. 84
88-29a-11	Revoked	V. 41, p. 84
88-29a-18	Revoked	V. 41, p. 84
88-29a-19	Revoked	V. 41, p. 84
88-29b-1	Revoked	V. 41, p. 84
88-29b-3	Amended	V. 41, p. 84
88-29b-4	Amended	V. 41, p. 84
88-29b-5	Revoked	V. 41, p. 85
88-29b-6	Revoked	V. 41, p. 85
88-29b-7	Revoked	V. 41, p. 85
88-29b-7a	Amended	V. 41, p. 85
88-29b-8	Revoked	V. 41, p. 85
88-29b-8c	Revoked	V. 41, p. 85
88-29b-9	Revoked	V. 41, p. 85
88-29b-10	Revoked	V. 41, p. 85
88-29c-1	Amended	V. 41, p. 85
88-29c-5	Amended	V. 41, p. 86
88-29c-6	Amended	V. 41, p. 87
88-29c-7	Amended	V. 41, p. 87
88-29c-8	Amended	V. 41, p. 87
88-29c-8c	Amended	V. 41, p. 88
88-29c-9	Amended	V. 41, p. 88
88-29d-1	Amended	V. 41, p. 89
88-29d-5	Amended	V. 41, p. 90
88-29d-6	Amended	V. 41, p. 91
88-29d-7	Amended	V. 41, p. 91
88-29d-8	Amended	V. 41, p. 92
88-29d-8c	Amended	V. 41, p. 92
88-29d-9	Amended	V. 41, p. 92
88-29d-10	Amended	V. 41, p. 93
	ICN OF DEDAD	

AGENCY 91: DEPARTMENT OF EDUCATION

Reg. No.	Action	Register
91-31-31	Amended	V. 40, p. 1399
91-31-32	Amended	V. 40, p. 1401
91-31-33	Amended	V. 40, p. 1401
91-31-34	Amended	V. 40, p. 1401
91-31-35	Amended	V. 40, p. 1402
91-31-36	Amended	V. 40, p. 1402
91-31-37	Amended	V. 40, p. 1403
91-31-38	Amended	V. 40, p. 1403
91-31-39	Revoked	V. 40, p. 1403
91-31-40	Amended	V. 40, p. 1403
91-31-41	Amended	V. 40, p. 1404
91-31-42	Amended	V. 40, p. 1404
91-31-43	New	V. 40, p. 1404

AGENCY 92: DEPARTMENT OF REVENUE

Reg. No.	Action	Register
92-19-47	Revoked	V. 40, p. 290
92-19-67	Revoked	V. 40, p. 290
92-51-34a	Amended	V. 40, p. 1225

AGENCY 100: BOARD OF HEALING ARTS

Reg. No.	Action	Register
100-6-2	Amended	V. 40, p. 571
100-6-2a	New	V. 40, p. 290
100-6-7	New (T)	V. 40, p. 1321
100-6-7	New	V. 40, p. 1490
100-8-3	New	V. 40, p. 572
100-15-4	Amended	V. 40, p. 572
100-15-5	Amended	V. 40, p. 573
100-28a-5	Amended	V. 40, p. 1096
100-28a-16	Amended	V. 40, p. 1097

AGENCY 108: STATE EMPLOYEE HEALTH CARE COMMISSION

Reg. No.	Action	Register
108-1-1	Amended	V. 40, p. 1714

🗕 Kansas Re	egister
-------------	---------

108-1-3	Amended	V. 40, p. 1716
108-1-4	Amended	V. 40, p. 1718

AGENCY 109: BOARD OF EMERGENCY MEDICAL SERVICES

Reg. No.	Action	Register
109-1-1	Amended	V. 40, p. 1721
109-2-1	Amended	V. 40, p. 1723
109-3-1	Revoked	V. 40, p. 1723
109-3-3	Amended	V. 40, p. 1522
109-3-5	Amended	V. 40, p. 1524
109-5-1	Amended	V. 40, p. 1723
109-5-3	Amended	V. 40, p. 1724
109-5-6	Amended	V. 40, p. 1724
109-6-2	Amended	V. 40, p. 1724
109-6-4	New	V. 40, p. 1724
109-7-1	Amended	V. 40, p. 1725
109-10-3	Revoked	V. 40, p. 1725
109-10-6	Revoked	V. 40, p. 1725
109-10-7	Revoked	V. 40, p. 1725
109-11-1a	Amended	V. 40, p. 1725
109-11-3a	Amended	V. 40, p. 1726
109-11-4a	Amended	V. 40, p. 1726
109-11-6a	Amended	V. 40, p. 1726
109-11-7	Amended	V. 40, p. 1727
109-11-8	Amended	V. 40, p. 1727
109-11-9	Revoked	V. 40, p. 1727
109-15-1	Amended	V. 40, p. 1727
109-15-2	Amended	V. 40, p. 1728
109-15-3	New	V. 40, p. 1728
109-17-1	New	V. 40, p. 1729
109-17-2	New	V. 40, p. 1730
109-17-3	New	V. 40, p. 1730
109-17-4	New	V. 40, p. 1731
A CENCV 111, KANGAG I OTTERV		

AGENCY 111: KANSAS LOTTERY

A complete index listing all regulations filed by the Kansas Lottery from 1988 through 2000 can be found in the Vol. 19, No. 52, December 28, 2000 *Kansas Register*. A list of regulations filed from 2001 through 2003 can be found in the Vol. 22, No. 52, December 25, 2003 *Kansas*

Register. A list of regulations filed from 2004 through 2005 can be found in the Vol. 24, No. 52, December 29, 2005 Kansas Register. A list of regulations filed from 2006 through 2007 can be found in the Vol. 26, No. 52, December 27, 2007 Kansas Register. A list of regulations filed from 2008 through November 2009 can be found in the Vol. 28, No. 53, December 31, 2009 Kansas Register. A list of regulations filed from December 1, 2009, through December 21, 2011, can be found in the Vol. 30, No. 52, December 29, 2011 Kansas Register. A list of regulations filed from December 22, 2011, through November 6, 2013, can be found in the Vol. 32, No. 52, December 26, 2013 Kansas Register. A list of regulations filed from November 7, 2013, through December 31, 2015, can be found in the Vol. 34, No. 53, December 31, 2015 Kansas Register. A list of regulations filed from 2016 through 2017, can be found in the Vol. 36, No. 52, December 28, 2017 Kansas Register. A list of regulations filed from 2018 through 2019, can be found in the Vol. 38, No. 52, December 26, 2019 Kansas Register. A list of regulations filed from 2020 through 2021, can be found in the Vol. 40, No. 52, December 30, 2021 Kansas Register. Reg. No. Action Register

111-4-3681 V. 41, p. 225 Amended V. 41, p. 225 111-4-3695 New V. 41, p. 227 111-4-3696 New 111-4-3697 V. 41, p. 228 New 111-4-3698 V. 41, p. 229 New V. 41, p. 230 111-4-3690 New 111-4-3700 New V. 41, p. 231 V. 41, p. 233 111-4-3701 New 111-4-3702 New V. 41, p. 234 111-4-3703 V. 41, p. 362 New 111-4-3704 New V. 41, p. 363 111-4-3705 New V. 41, p. 364 111-4-3706 V. 41, p. 365 New

New

V. 41, p. 366

111-4-3707

111-4-3708	New	V. 41, p. 497
111-4-3709	New	V. 41, p. 499
111-5-248	New	V. 41, p. 502
111-9-229	New	V. 41, p. 502
111-9-230	New	V. 41, p. 503
111-19-2a	Amended	V. 41, p. 503
111-19-121	New	V. 41, p. 368
111-19-122	New	V. 41, p. 368
111-19-123	New	V. 41, p. 504

AGENCY 115: DEPARTMENT OF WILDLIFE AND PARKS

Reg. No.	Action	Register
115-1-1	Amended	V. 40, p. 498
115-3-1	Amended	V. 40, p. 1131
115-3-2	Amended	V. 40, p. 721
115-4-4	Amended	V. 40, p. 1132
115-4-4a	Amended	V. 40, p. 1683
115-4-6	Amended	V. 40, p. 500
115-8-1	Amended	V. 40, p. 1133
115-9-6	Amended	V. 40, p. 721
115-17-2	Amended	V. 40, p. 1683
115-18-13	Revoked	V. 40, p. 721
115-30-3	Amended	V. 40, p. 1684

AGENCY 117: REAL ESTATE APPRAISAL BOARD

Reg. No. 117-8-3	Action Amended	Register V. 40, p. 920	
C00	AGENCY 132: 911 COORDINATING COUNCIL		
Reg. No.	Action	Register	
132-1-1	Revoked	V. 40, p. 1422	
132-1-2	New	V. 40, p. 1422	
132-2-1	Amended	V. 40, p. 1422	
132-3-1	Amended	V. 40, p. 1422	
132-4-1	Amended	V. 40, p. 1422	
132-4-2	New	V. 40, p. 1423	
132-4-3	New	V. 40, p. 1423	
132-5-1	New	V. 40, p. 1423	
132-6-1	New	V. 40, p. 1423	

Kansas Register Secretary of State 1st Floor, Memorial Hall 120 SW 10th Ave. Topeka, KS 66612-1594